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1. ABSTRACT

Q

THE RMO3 DUAL PORT LOGIC TEST PERFORMS A SERIES OF
TESTS WHICH xsﬂ FY THﬂT THE DUAL PORT LOGIC
IS FUNCT;SgI ONLY THE CONTROL LOGIC IS TESTED
BY THIS R HQNULING IN THE DUAL PORT MODt

1S NOT TESTED BY THIS

BOTH PORTS OF THE DRIVE ARE CRBLED TO THE SAME MASSBUS BY
R SPECIAL RDAPTER CABLE. THIS ARRANGEMENT ARLLOWS THE DUAL
PORT LOGIC TO BE TESTED FROM ONE PDP-11/RH11 OR RH70.

THIS PROGRAM IS THE FIRST PART OF THE DUARL PORT OPTION
LOGIC TEST. THE SECOND PART OF THE TEST PERFORMS
MANURL INTERVENTION TESTS.

c. REQUIREMENTS

2.1 EQUIPMENT

PDP-11 PROCESSOR

16K OF MEMORY

KWll-L OR KW1l-P CLOCK
TELETYPE

RH11 OR RH70 WITH AN RMO3
RMO3 DUAL PORT TEST CRBLE

e.2 PREREQUISITE PROGRAMS
RMO3 DISKLESS DIAGNOSTIC
RMO3 FUNCTIONAL TEST

THE PRELIMINARY PROGRAMS MUST BE RUN TWICE: ONCE FROM
ERCH CONTROLLER (PORT).

2.3 OTHER PROGRAMS

R. THE OPERATION OF THE "PORT SELECT™ SWITCH IS TESTED
BY THE SECOND PART OF THE DUAL PORT LOGIC TEST.

B. DYNAMIC OPERATION OF THE DUAL PORT OPTION IS
TESTED BY THE RMO3 PERFORMANCE EXERCISER PROGRAM.

3. LOADING PROCEDURES

THE PROGRAM MAY BE LOADED BY THE RBSULUTE PAPER TRPE
LOADER OR IT MAY BE LOARDED FROM THE APPROPIATE MEDIA
USING THE ASSGCIATED 'XXDP' LOADER. THE PROGRRM MAY NOT
BE INCLUDED IN AN ’'XXDP’ CHAIN.
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4.2

4.3
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STARTING PROCEDURES

STARTING ADORESSES

A.

C.

THE NORMARL STARTING RDODRESS OF THE PROGRAM IS LOCATION
200 (B). STARTING AT THIS ADDRESS ALLOWS THE OPERATOR
¥ES¥EBECT (OR RESELECT) THE ARDDRESS OF THE DRIVE TO Bt

THE RESTART ADDRESS IS LOCATION 204 (8). THE PROGRAM WILL
USE THE CURRENT DRIVE (DCL) ARDDRESS.

THE PROGRAM CAN BE STARTED AT LOCRTION 210 (8) TO ALLOW THE
RADORESS OF THE RH1! OR RH70 TO BE CHANGED.

UNIBUS 8 VECTOR RDDRESSES

THE

PROGRAM ASSUMES THE FOLLOWING UNIBUS AND VECTOR RDDRESSES.

THESE RDDRESSES MAY BE CHANGED PRIOR TO STRRTING THE PROGRAM
FROM ANY OF THE STRARTING ADDRESSES.

MEMORY

LOCATION CONTENTS FUNCTION

1142 177560 TTY KEYBORRD 'STATUS REG

1144 177562 TTY KEYBORRD BUFFER REG

1146 177564 TTY PRINTER STATUS REG

1150 177566 TTY PRINTER BUFFER REG

1210 172540 KW11-P STATUS REG

1212 172642 KWll-P COUNTER BUFFER

1214 104 KWl1-P VECTOR ADDRESS

1216 177546 KWll-L STATUS REGISTER

1220 100 Kwll-L VECTOR RDORESS

OPERATOR ACTION

A. CONNECT THE DUAL PORT TEST CABLE BETWEEN BUS R
8 BUS B ON THE DRIVE BEING TESTED. (SEE SECTION 5.4)

B. LORD THE PROGRAM INTO MEMORY IN THE PROCESSOR CONTROLLING
THE MASSBUS USED FOR TESTING.

€. SWITCH THE 'PORT SELECT’ SWITCH ON THE DRIVE TO ae

. +» TESTED TO THE 'A/B' POSITION. CYCLE THE DRIVE

D. LOAD THE APPROPIATE STARTING ADDRESS (200(8) OR 210(3))
INTO THE SWITCH REGISTER (OR THE 'SOFTWARE’ SWITCH REGISTER,
REFER TO SECTION 5.2).

E. PRESS START.

F. ENTER THE DRIVE NUMBER.

G. ENTER THE NUMBER OF THE TEST TO BE RUN. (’CARRIRGE RETURN’
OR '0’ WILL RUN ARLL TESTS.)

H. THE PROGRAM MAY BE STOPPED AT ANY TIME AND RESTARTED

FROM LOCATION 20M.

SEQ 0006
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5.1

5.2

5.3
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OPERATIONAL SKITCH SETTINGS

A Tl TR RO i e

THE SWITCH SETTINGS RRE:

SW(15>=]...HALT ON %RROR
SW¢IY=]1...LOOP ON TEST
SW¢c13>=1...INHIBIT ERROR TYPEOQUTS
SW<li>=1...INHIBIT TEST ITERATIONS
SW<l>=1...RING TTY BELL ON ERROR
Cl<09>=]1...L00P ON ERROR

"SOFTWARE®' SWITCH REGISTER

IF THE PROGRAM IS BEING RUN ON A SWITCHLESS PROCESSOR (I.E. AN 11/34)
THE PROGRAM WILL DETFRMINE THAT THE HARDWARE SWITCH REGISTER IS

NOT PRESENT AND WILL USE R 'SOFTWARE’ SWITCH REGISTER. THE
’S?FT'TH'-\?(’)FS#ITC@ REGISTEB IS %%TED AT LO%QTIOEDI%BQ(B). RT'I.(*E:YBORRD
R TI& WICHF?S EgLED EY ?#mc 3 %&d% . THE PROGRAM WILL
RECOGNIZE THE 'CONTROL G' RT ANY TIME EXCEPT WHEN THE PROGRAM

IS AT A HIGHER PRIORITY PROCESSING AN RMOJ INTERRUCT. THE

"SOFTWARE’ SWITCH VALUES ARE ENTERED RS AN OCTAL NUMBER IN RESPONSE
TO THE PROMPT FROM THE SWITCH ENTRY ROUTINE:

"SWR = NNNNNN NEW =’

EACH TIME SWITCH SETTING ARE ENTERED, THE ENTIRE SWITCH REGISTER
IMAGE MUST BE ENTERED. LEADING ZERO5 ARE NOT REQUIRED., 'RUBOUT' AND
*CONTROL U’ FUNCTIONS MAY BE USED TO CORRECT TYPING ERRORS

DURING SWITCH ENTRY.

ON PROCESSORS WITH HARDWARE SWITCH REGISTERS, THE ’'SOFTWARE’ SWITCH
REGISTER MAY BE USED. IF THE PROGRAM FINDS ALL 16 SWITCHES IN THE
"UP’ POSITION, ALL SWITCH REGISTER REFERENCES WILL BE TO THE
'GOFTWARE’ REGISTER AND THE PROCEDURES DESCRIBED ABOVE MUST

BE FOLLOWED.
TEST SELECTION

INDIVIDUAL TESTS ARE SELECTED IN RESPONSE TO THE 'ENTER
TEST NUMBER:’ MESSAGE. ANY VALID TEST NUMBER CAN BE
ENTERED. EACH ENTRY MUST BE TERMINATED BY A CARRIAGE
RETURN (CR). THE LOOP ON TEST SWITCH, SW(15), MUST BE SET
70 ALLOW CONTINUOUS EXECUTION OF THE SELECTED’ TEST.

TO RUN ALL TESTS IN SEQUENCE, ENTER EITHER R 'O’ FOLLOWED
BY A CARRINGE RETURN OR A CARRIAGE RETURN BY ITSELF. THE

SEQ 0007
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PROGRAM WILL THEN EXECUTE ALL TESTS IN SEGUENCE.
THE 'RUBOUT KEY' (RO) CAN BE USED TO DELETE THE LAST

HICC RELETE CRARACTERS UNTIL THE PREVIOUS CHARACTERS HavE
BEEN DELETED. CHARACTERS DELETED BY THE RO KEY WILL BE

TYPED AND WILL BE SEPARATED BY '\’ FROM THE CHARACTERS
ENTERED BY THE OPERRTOR.

THE OPERATOR CAN DELETE AN ENTIRE ENTRY BY TYPING A
*CONTROL U’ .

TEST CRBLE CONNECTION

TO TEST THE RMO3 DUAL PORT OPTION WITH THIS PROGRAM,

A SPECIAL TEST CABLE MUST BE USED. (THE TEST CRBLE .S

P/N 7010507-02). THE TEST CRBLE CONNECTS MASSBUS A & MASSBLS
B TOGETHER AT THE DRIVE BEING TESTED AND IS CONSTRUCTED SO
THRT BIT 0 OF THE MASSBUS UNIT SELECT LINES IS COMPLEMENTED.

WITH THE DRIVE CARBLE CONNECTED TO THE RMO3 UNDER TEST
THE DRIVE APPEARS AS TWO UNITS ON THE MARSSBUS: EACH PORT
OF THE DRIVE WILL RESPOND TO A DIFFERENT MARSSBUS RDDRESS.
;SgRgggngfaeor EACH PORT WILL DEPEND UPON THE DRIVE’S

THE PROGRAM WILL TYPEOUT THE RPPARENT RDDRESSES OF BOTH
PORTS. (ONE PORT WILL HAVE THE RDDRESS OF THE DRIVE; THE
OTHER PORT WILL HAVE THE RDDRESS DEVELOPED BY THE CRBLE).

J3H 36030 0036 0 36 60030 60 30 30 06360 06 00636 3 0 D03 00 3 3 2
% ANY OTHER DRIVE ON THE MASSBUS WHICH HRS AN ADDRESS ¥
% IN CONFLICT WITH EITHER OF THE TEST RDDRESSES MUST BE #

¥ POWERED DOWN. ¥
3360033 0 S0 JE 00 O IE B 3E E0E 3 0 0 3 BT I T 3 3 3

THE TEST CABLE CONNECTION TO THE DRIVE UNDER TEST WILL
DEPEND ON WHICH PROCESSOR/RH1! IS TO TEST THE DRIVE. IF
THE DRIVE IS TO BE TESTED BY THE PROCESSOR ON PORT A,

THE TEST CRBLE 1S CONNECTED FROM *BUS A OUT' TO 'BUS'B IN’.
IF THE DRIVE IS TO BE TESTED BY THE PORT B PROCESSOR, THE
TEST CRBLE IS CONNECTED FROM 'BUS B OUT’ TO 'BUS R IN’.

WHEN THE DUAL PORT TEST CRBLE IS CONNECTED, THE ATTENTION

BITS FOR PORTS A & B AKE ASSERTED IN THE SAME BIT POSITION

WHEN 'RMAS’ (ATTENTION SUMMARY REGISTER) IS RERD. THE ATTENTION
BIT POSITION IS DETERMINED BY THE ADDRESS OF THE DRIVE

THE ATTENTION BIT THAT APPEARS FOR THE DRIVE
INCLUSIVE 'OR' OF THE PORT A 8 PORT B ATTENTI
OF THIS, THE PROGRAM LOOKS AT ONLY THE RTTENT
'RMDS' LDRIVE STATUS REGISTER) TO DETERMINE T
OF THE SELECTED PORTS’'S ATTENTION BIT.

1S
ON
ION

THE

BITS. BECARUSE
BIT IN

HE ST

ATE

ERRORS

Stq 0008
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7.1

7.2

7.3

7.4

7.5

o e
(l3

T0 THE 23205 u?fL SE *vpeo. ERCH ERROR ?$PE%U¥QE%LL CONTAIN

THE FOLLOWING:

A. AN ERROR MESSAGE

2 A BATA LTRECoRtiinmne.
1. THE TEST NUMBER
2. THE PC (PROGRAM COUNTER VALUE) WHERE THE ERROR
3

CALL WAS MADE
CONTENTS OF THE APPROPIATE REGISTERS

MISCELLANEOUS

RESTRICTIONS

TO RUN THIS PROGRAM, THE SYSTEM MUST HAVE EITHER A Kill-P
OR A KW1l-L CLOCK. ARODITIONARLLY, THE DRIVE UNDER TEST
MUST HAVE THE DURL PORT TEST CABLE CONNECTED.

LIMITATIONS

THIS PROGRAM DOES NOT TEST DATA ™7 NSFERS THROUGH EITHER

PORT, DOES NOT TEST THE DYNAMIC OPERATION OF THE DUAL
CONTROLLER OPTION, AND DOES NOT TEST THE UNLOAD COMMAND

OR THE OPERATION OF THE CONTROLLER SELECT SWITCH ON THE DRIVE.
(REFER TO PARAGRAPH 2.2 & 2.3)

EXECUTION TIME

PRSS 1 OF THE PROGRAM TAKES ABOUT 45 SECONDS. PRSS 2 AND
SUBSEQUENT PASSES TAKE 2.5 MINUTES.

REQUIRED TESTS

IF THE PROGRAM IS BEING EXECUTED IN SINGLE TEST MODE, THE

OPERATOR MUST CALL AND RUN THE FOLLOWING TESTS BEFORE OTHER

TESTS ARE RUN:

A. TEST 2 AND TEST 3. THESE TESTS DETERMINE AND STORE FOR
LATER USE THE TIMEOUT NON-SHOT VALUE MEASURED THROUGH
EACH PORT.

DISK SURFACE USAGE

THIS DIRGNOSTIC DOES NOT USE THE DISK SURFACE. HOWEVER, THE
gﬁéVE MUST BE CYCLED UP AND BE ON LINE FOR THE DIAGNOSTIC TO BE
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LOOP ON ERROR OPTION
IF SW<09> IS SET, THE PROGRAM WILL LOOP ON A FAILING TEST

LI BRI R B el P L o

aerons LOOPING ON THE ERROR, THE TEST FOR SW<09> 1S PERFORMED
TEETEN? OF THE TEST - NOT AT THE POINT WHERE THE ERROR

TEST DESCRIPTIONS

- - -

METHOD USED TO VERIFY THAT THE DRIVE IS IN NEUTRAL

HE PROGRAM DETERMINES THAT THE DRIVE IS IN NEUTRAL BY CHECKING
TI-E CONTENTS OF THE DRIVE STQTUS REGISTER (RMDS1) THROUGH

BOTH PORTS. TI"E S OUT THE PORT DEPENDENT BITS
("RTR’ & 'VV') VER*&ES TMT CORRECT STATUS IS READ
TI-ROUGH BOTH PORTS CORRECT STRTUS IS *MOL’, 'PGM’,

'DPR’, 'onv' xr NEITHER PORT SEES ALL ZEROS FROM
RHDS* HEN UDES THAT THE DRIVE IS IN NEU rnnL
HAT ANY BIT oes Y BETWEEN PORTS INDICATES A

FRILURE IN THE PRTH FOR THAT BIT.

ADDITIONALLY, THE PORT REQUEST FLOPS (RGA, RGB) OF THE
MAINTENANCE REGISTER ARE TESTED, AND SHOULD BE ZERO IF
THE DRIVE IS IN NEUTRAL.

METHOD USED TO VERIFY THAT THE DRIVE HRS BEEN SEIZED

THE PROGRAM VERIFIES THAT THE DRIVE HRS BEEN SEIZED BY
CHECKING THE DRIVE STATUS REGISTER (RMDS1) THROUGH

THE SEIZING PORT H’D RERIF%NG THAT _CORRECT STATUS IS
SEEN. WHEN RMDSI THE OPPOSITE PORT
ZEROS SHOULD BE SEEN IF BOTH CONDITIONS EXIST

CORRECT STATUS THROUGH THE SEIZING PORT AND ZERbS THROOGH
THE OPPOSITE PORT), THE PROGRAM CONCLUDES THRT THE ORIVE
HAS BEEN SEIZED BY' THE SPECIFIED PORT.

METHOD USED TO VERIFY PORT REQUESTS

THE PORT REQUEST FLOPS IN THE MAINTENANCE REGISTER ARE
TESTED TO DETERMINE I
. A DRIVE IS IN NEUTRRL 1.E.. RGA AND RGB nns ZERO;
. A DRIVE IS SEIZED, I.t., R&A OR RGB IS O
" A PORT REQUEST IS'SET WHILE THE DRIVE IS strzso T0 THE
ALTERNATE PORT, I1.E., RGA AND RGB ARE ONE.

TEST 1 NEUTRAL ACCESS TEST

VERIFY THART THE DRIVE IS ACCESSIBLE TO BOTH PORTS

Stq 0010
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433
434 A. SELECT DRIVE, VERIFY THAT THE DRIVE IS PRESENT, THAT THE
2 PRl Lot L T 0y Tl R i ST PR
339 nu&h READ 1moucn'93m PORTg Ig ?Ehc Same .
3.,33 B. THE TEST IS REPEATED THROUGH BOTH PORTS.
Yy {
:33 TEST 2 PORT 'R’ SEIZE/TIMEOUT TEST
Yy VERIFY THAT THE DRIVE CAN BE SEIZED BY WRITING A REMOTE REGISTER AND THAT
::2 IT CAN BE RELERSED BY THE ONE SECOND TIMER.
447 M. WRITE 0'S INTO RMDA THROUGH PORT ’'A’'; VERIFY THAT THE DRIVE
::g HAS BEEN SEIZED.
459 B. REARD EACH DRIVE REGISTER, EXCEPT RMCS1, THROUGH PORT °'B’;
:gé VERIFY THAT 0'S ARE READ FROM EACH REGISTER.
453 C. WAIT FOR THE PORT TIMEOUT TO RELERSE THE DRIVE.
45y MEASURE THE DURATION OF THE TIMECUT ONE SHOT AND SAVE THE
455 VALUE FOR LATER USE. VERIFY THAT TIMEOUT RETURNED THE DRIVE T0
3%9 NEUTRAL. ALSO VERIFY THAT THE DURATION OF THE ONE SHOT IS > 500 MS.
458
:gg TEST 3 PORT '8’ SEIZE/TIMEOUT TEST
461 VERIFY THAT THE DRIVE CAN BE SEIZED BY WRITING A REMOTE REGISTER AND THAT
:gg IT CAN BE RELERSED BY THE ONE SECOND TIMER.
464 A. WRITE 0'S INTO RMOA THROUGH PORT 'B’; VERIFY THAT THF ORIVE
322 . HAS BEEN SEIZED.
46?7 : B. READ EACH DRIVE REGISTER, EXCEPT RMCS], THROUGH PORT ’A’;
323 VERIFY THAT 0°S ARE READ FROM £ACH REGISTER.
470 C. WRIT FOR THE PORT TIMEOUT TO RELEASE THE DRIVE.
471 MEASURE THE DURATION OF THE TIMEOUT ONE SHOT AND SAVE THE
472 VALUE FOR LATER USE. VERIFY THAT TIMEOUT RETURNED THE DRIVE 10
:;3 NEUTRAL. ALSO VERIFY THAT THE DURATION OF THE ONE SHOT IS >500 MS.
475
3;9 TEST 4 PORT 'R’ SEIZE/RELEASE TEST
:;g TEST THE OPERATION OF THE RELERSE COMMAND, DRIVE SEIZED
:gcll A. SEIZE THE DRIVE THROUGH PORT 'R’ BY WRITING 0'S INTO RMDS!.
:gg B. SET VOLUME VALID AND CLERR ANY ERROR
iee
486 C. ISSUE A RELEASE COMMAND THROUGH PORT’A’. VERIFY THAT THE DRIVE
:gg EE}SE"ED TO NEUTRAL, AND THRT NO ERRORS ARE INDICATED BY THE

JO1

SEG 001!
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:89

332 TEST S PORT 'B’ SEIZE/RELERSE TEST

:ga TEST THE OPERATION OF THE RELERSE COMMAND, DRIVE SEIZED

:99 A. SEIZE THE DRIVE THROUGH PORT 'B’ BY WRITING 0'S INTO RMDSI.

:99 B. SET VOLUME VALID AND CLERR ANY ERROR

4 IS LEA cnnmomu PQRT '8’ RIFY THRT T RIVE

g§§ Eﬁ QNEE 5 SEEU?R HS,? N8 ERRBRS QXE }Nalcn%o 5’5 ?Hé

502

603

ggg TEST & PORT 'R’ NEUTRAL/RELERSE TEST

289 TEST OPERARTION OF RELERSE COMMAND, DRIVE IN NEUTRAL

508 A. ISSUE A RELEASE COMMAND THROUGH PORT 'R’ WITH THE DRIVE IN

c09 NEUTRAL; VERIFY THAT THE DRIVE REMAINS IN NEUTRAL.

ILIOTL DT IO T T T T
U == #s b O b s e Pt e e
OWONT N LWN—O

52l

TEST 7 PORT ’'B’ NEUTRAL/RELEASE TEST
TEST OPERATION OF RELEASE COMMAND, DRIVE IN NEUTRAL
R. ISSUE A RELEASE COMMAND THROUGH PORT 'B’ WITH THE DRIVE IN
NEUTRAL; VERIFY THAT THE DRIVE REMAINS IN NEUTRAL.
TEST 10 PORT ’A’ RELERSE INTERFERENCE TEST

VERIFY THAT A COMMAND ISSUED BY ONE PORT IS NOT RECOGNIZED IF THE DRIVE
IS SEIZED BY THE OTHER PORT.

A. SEIZE THE DRIVE THROUGH PORT ’'B’ BY WRITING 0’S INTO RMDSI.

B. ISSUE A RELERSE COMMAND THROUGH PORT 'AR’.

C. VERIFY THRT THE DRIVE IS STILL SEIZED BY PORT 'B’.

D RE%ER;ER¥HEQQFIVE THROUGH PORT *B’. VERIFY THAT THE DRIVE SWITCHED

RELEASE THE DRIVE THROUGH PORT 'A’. VERIFY THAT THE ORIVE RETURNED
TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

TEST 11 PORT 'B’ RELEASE INTERFERENCE TEST

VERIFY THAT A COMMAND ISSUED BY ONE PORT IS NOT RECOGNIZED IF THE DR}VE
1S SEIZED BY THE OTHER PORT.

R. GSEIZE THE DRIVE THROUGH PORT 'A’ BY WRITING 0'S INTO RMODSI.
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545

g:g B. ISSUE A RELEASE COMMAND THROUGH PORT 'B’.

gzg C. VERIFY THAT THE DRIVE IS STILL SEIZED BY °ORT 'A’.

550 D. RELEASE THE DRIVE THROUGH PORT 'A’. VERIFY THAT THE DRIVE SWITCHED

ggé TO PORT '8’.

653 . E. RELERSE THE GRIVE THROUGH PORT 'g'. VERIFY THAT THE DRIVE RETURNED

ggg TO NEUTRAL AND THAT NEITHER ATTENTION BIT 7S SET.

556

ggg TEST 12 PORT 'A’ RELERSE W/ERRORS TEST

559 VERIFY THAT ~ RELEASE COMMAND PERFORMS NO ACTION IF ISSUED WHEN ERROR

gg? BITS ARE SET IN THE DRIVE.

ggg A. SEIZE THE DRIVE THROUGH PCRT 'A’ BY WRITING 0’'S INTO RMDS!.

ggg B. WRITE 1'S INTO RMER! THROUGH PORT 'R’.

566 C. ISSUE A RELEASE COMMAND THROUGH PORT 'A’. VERIFY THAT THE 'GO’

567 BIT HAS RESET, THAT THE DRIVE HAS NOT RETURNED TO NEUTRAL, AND

ggg THAT RMERI HAS NOT BEEN CLEARRED.

- g;? D. CLEAR RMER1 BY ISSUING A DRIVE CLEAR COMMAND THROUGH PORT 'A’.
§72 E. ISSUE A RELEASE COMMAND THROUGH PORT ’R’. VERIFY THAT THE DRIVE
233 RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

575

E;? TEST 13 PORT ’'B’ RELERSE W/ERRORS TEST

578 VERIFY THAT A RELERSE COMMAND PERFORMS NO ACTION IF ISSUED WHEN ERROR
ggg BITS ARE SET IN THE DRIVE.

ggé A. SEIZE THE DRIVE THROUGH PORT ’B’ BY WRITING 0°'S INTO RMDSI.

gga B. WRITE 1’'S INTO RMER! THROUGH PORT 'B’.

585 C. ISSUE A RELEASE COMMAND THROUGH PORT ’B’. VERIFY THART THE 'GO’
€86 BIT HAS RESET. THAT THE DRIVE HAS NOT RETURNED TO NEUTRAL, AND
Egg THAT RMERI HAS NOT BEEN CLERRED.

ggg D. CLERR RMERL BY ISSUING A DRIVE CLEAR COMMAND THROUGH PORT ’B’.
§9] E. ISSUE A RELERSE COMMAND THROUGH PORT ’B’. VERIFY THAT THE DRIVE
ggg RETURNED TO NEUTRAL AND THART NEITHER ATTENTION BIT IS SET.

Sqq (v >

595

596

ggg TEST 14 PORT 'A’ SEIZE AND CLEAR TEST

699 VERIFY THAT A MASSBUS CLEAR OR DRIVE CLEAR WILL NOT CAUSE THE SEIZING

600 PORT TO RELERSE THE DRIVE.
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S BB R R PORT

B. ISSUE R DRIVE CLEAR THROUGH PORT 'R’ RAND VERIFY THART THE DRIVE
DOES NOT RETURN TO NEUTRAL.

C. ISSUE A MASSBUS CLEAR THROUGH THE RH70 RND VERIFY THAT THE DRIVE
DOES NOT RETURN TO NEUTRAL.

D. RELERSE THE DRIVE THROUGH PORT 'A’. VERIFY THAT THE DRIVE
RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

TEST 15 PORT 'B’ SEJIc AND CLEAR TEST

VERIFY THAT A MAS>dUS CLEAR OR DRIVE CLEAR WILL NOT CRUSE THE SEIZING
PORT TO RELEARSE THE DRIVE.

R. SEIZE THE DRIVE BY WRITING 0'S INTQ RMDS1 THROUGH PORT ’B’.
VERIFY THAT THE DRIVE HAS BEEN SEIZED.

B. ISSUE R DRIVE CLEAR THROUGH PORT ’'B’ AND VERIFY THAT THE DRIVE
DOES NOT RETURN TO NEUTRAL.

C. JSSUE A MASSBUS CLEAR THROUGH THE RH70 AND VERIFY THAT THE DRIVE
DOES NOT RETURN TO NEUTRAL.

D. RELEASE THE DRIVE THROUGH PORT ’B’'. VERIFY THAT THE DRI'S
RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

TEST 16 SEIZE 'R’ BY RMCS! TEST

VERIFY THRT READING THE CONTROL REGISTER (RMCS1) SEIZES THE DRIVE
IF THE DRIVE IS IN NEUTRAL.
R. READ THE CONTROL REGISTER (RMCS1) THROUGH PORT 'R’; VERIFY THAT
THE DRIVE IS SEIZED.

B. ISSUE R RELEASE COMMAND THROUGH PORT 'A’: VERIFY THAT THE DRIVE
RETURNED TO NEUTRAL AND THAT NEITHER AYTENTION BIT IS SET.

TEST 17 SEIZE ’'B’ BY RMCS1 TEST

VERIFY THAT RERDING THE CONTROL REGISTER (RMCS1) SEIZES THE DRIVE
IF THE DRIVE IS IN NEUTRAL.
A. READ THE CONTROL REGISTER (RMCS1) THROUGH PORT 'B’; VERIFY THAT
THE DRIVE IS SEIZED.

8. ISSUE R RELEASE COMMAND THROUGH PORT 'B’; VERIFY THAT THE DRIVE
RETURNED TO NEUTRAL AND THAT NEITHER RYTENTION BIT 1S SET.
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Eéé TEST 20 PORT 'A’ INHIBIT SEIZE BY RMCS1 TEST

VERIFY THAT READING THE CONTROL REGISTER (RMCS1) DOES NOT SET 'PORT
660 REQUEST’ IF THE DRIVE IS SEIZED.
225 A. SEIZE THE DRIVE THROUGH PORT 'B’ BY READING RMCS1. VERIFY THAT
gga THE DRIVE HAS BEEN SEIZED.
gg; B. REgETTHE CONTROL REGISTER FROM PORT ’A’. VERIFY THAT ’'DVR’ IS NOT
66 ]
668 C. ISSUE A RELEASE COMMAND THROUGH PORT ’B’. VERIFY THAT THE DRIVE
293 RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.
671
g;g TEST 21 PORT ’'B’ INHIBIT SEIZE BY RMCS1 TEST
674 VERIFY THAT RERDING THE CONTROL REGISTER (RMCS1) DOES NOT SET ’PORT
g;g REQUEST’ If THE DRIVE IS SEIZED.
677 A. SEIZE THE DRIVE THROUGH PORT 'R’ BY READING RMCS1. VERIFY THAT
g;g THE DRIVE HAS BEEN SEIZED. _
680 B. READ THE CONTROL REGISTER FROM PORT ’B’. VERIFY THAT 'pvn"ig 1007
ggé SET. ‘4' ,
683 C. ISSUE A RELEASE COMMAND THROUGH PORT ’'A’. VERIFY THAT THE,DRIVE
gg; RETURNED TO NEUTRPL AND THAT NEITHER ATTENTION BIT IS GET.
686
ggg TEST 22 SEIZE BY RMRS TEST
689 TEST THAT WRITING THE APPROPRIATE DRIVE BiT INTO THE ATTENTION REGISTER
gg? 585?5) SEIZES THE DRIVE. VERIFY THAT REQUEST IS SET FOR THE OTHER
692 )
693 A. WRITE THE APPROPRIATE DRIVE BIT INTO RMAS; VERIFY, THART THE DRIVE
E?,E IS SEIZED.
599 B. ISSUE A RELEASE COMMAND THROUGH THE SEIZING PORT; VERIFY THAT THE
69 DRIVE SWITCHES TO THE OPPOSITE PORT. 1SSUE-R RELEASE THROUGH THE
ggg OPPOSITE PORT AND VERIFY THAT THE DRIVE IS IN NEUTRAL.
20
;gg TEST 23 INHIBIT SEIZE BY RMAS TEST
704 VERIFY THAT THE DRIVE IS NOT SEIZED WHEN A *ZERO’ 1S WRITTEN INTO
;82 THE DRIVE'S ATTENTION BIT.
707 A. SELECT R DRIVE NOT BEING TESTED AND WRITE ALL BITS, EXCEPT THE
;gg BIT OF THE DRIVE BEING TESTED, INTO THE ATTENTION REGISTER.
710

B.. VERIFY THART THE DRIVE IS STILL IN NEUTRAL.

~
- ~
N

SEQ 0015




B02

MD-11-DZRMG-A,RMO3 DUAL PORT LOGIC TEST - PART 1 MACY11 30(1046) O1-RUG-77 11:02 PAGE 1Y
DZRMGA.P1l  01-AUG-77 10:58
;{3 TEST 24 SET PORT 'R’ REQUEST TEST
716 VERIFY THAT WRITING A DRIVE REGISTER SETS 'PORT REQGUEST’ WHEN THE
;{; DRIVE 1S SEIZED BY THE OTHER PORT.
;}g . SEIZE THE DRIVE THROUGH PORT 'B’ BY WRITING 0’S INTO RMDSI.
720 B. WRITE 0’S INTO RMDS! FROM PORT 'R'; VERIFY THART THE ORIVE IS STILL
;%é SEIZED BY PORT 'B’.
723 C. ISSUE A RELEASE COMMAND FROM PORT 'B’' AND VERIFY THAT THE DRIVE
724 SWITCHED TO PORT 'A’. VERIFY THAT THE ATTENTION BIT IS SET FOR
;eag PORT 'A' AND IS NOT SET FOR PORT 'B’.
727 ISSUE A RELEASE COMMAND THROUGH PORT 'R’ AND VERIFY THAT THE DRIVE
;eag RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.
730
;gé TEST 25 SET PORT 'B’ REQUEST TEST
733 VERIFY THAT MRITING A DRIVE REGISTER SETS 'PORT REQUEST’ WHEN THE
;332 DRIVE 1S SEIZED BY THE OTHER PORT.
;gg A. SEIZE THE DRIVE THROUGH PORT 'R’ BY WRITING 0°S INTO RMOSI.
738 WRITE 0'S INTO RMDS1 FROM PORT 'B’; VERIFY THAT THE DRIVE IS STILL
2,'33 SEIZED BY PORT 'A’.
741 C. ISSUE A RELEASE COMMAND FROM PORT 'R’ AND VERIFY THAT THE DRIVE
742 SHITCHED TO PORT 'B’. VERIFY THAT THE ATTENTION BIT IS SET FOR
;:3 PORT 'B' AND IS NOT SET FOR PORT 'A’.
745 ISSUE A RELERSE COMMAND THROUGH PORT ’E’ AND VERIFY THAT THE DRIVE
;:g RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.
748
7723 TEST 26 TEST RESET ATTENTION 'R’ BY DRIVE CLEAR
751 VERIFY THAT A DRIVE CLEAR COMMAND CLEARS ONLY THE ATTENTION BIT OF THE
% SEIZING PORT.
{
gg A. segéncn PORT 'S ATTENTION BIT. VERIFY THAT BOTH ATTENTION BITS
756 )
757
=
;gcll B. SEIZE THE DRIVE THROUGH PORT 'R’ BY WRITING 0'S INTO RMDS!.
;gg C. ISSUE A DRIVE CLEAR COMMAND.
76M4
765 D. RELERSE THE DRIVE THROUGH PORT 'R’. VERIFY THART THE RTTENTION
766 BIT FOR PORT 'R’ HAS BEEN CLEARED ANN THE ATTENTION BIT FOR PORT
767 'B' 1S STILL SET.

SEQ 0016




MD-11-DZRMG-A,RMO3 DUAL PORT
DZRMGAR.P11 01-AUG-77 1C:S8

769
770
771
772
773

289R%

b 0D 0O D & 00D 00 D D
[N N P Y Y D WY
DN L Wue—O

RERRE

coe2

LOGIC TEST - PART 1| MACY1l 30(1046) O01-RUG-77 11:02 PAGE 15

TEST 27 TEST RESET ATTENTION 'B’ BY DRIVE CLEAR
VERIFY Tg}'z?mDRIVETCLEM COMMAND CLERRS ONLY THE ATTENTION BIT OF T4

POR

R. SE;EI;FRCH PORT'S RTTENTION BIT. VERIFY THAT BOTH ATTENTION BITS

SEIZE THE DRIVE THROUGH PORT 'B’ BY WRIVING 0’S INTO RMOSI.
ISSUE A DRIVE CLEAR COMMAND.
D. RELERSE THE DRIVE THROUGH PORT ’'B’. VERIFY THAT THE ATTENTION

BIT FOR PORT ’B' HMAS BEEN CLEARED AND THE RTTENTION BaT FOR PORT
'R’ IS STILL SET.

TEST 30 RESET RTTENTION 'R’ BY GO TEST

VERIFY THAT

A.

TEST 31
VERIFY

R.

THE GO BIT CLEARS ONLY THE ATTENTION BIT OF THE
SEIZING PORT.

SET EACH PORT’S ATTENTION BIT, AND VERIFY THART BOTH
ATTENTION BITS ARE SET.

SEIZE THE DRIVE THROUGH PORT 'R’ BY WRITING 0°’S
INTO RMDS.

ISSUE A NOP COMMAND.

RELEASE THE FRIVE THROUGH PORT 'R’. VERIFY THAT THE

ATTENTION BIT FOR PORT 'R’ IS RESET, AND THE
ATTENTION BIT FOR PORT '8’ 1S5 STIL SET.

RESET ATTENTION 'B’ BY GO TEST

THAT THE 'GO BIT CLEARS ONLY THE ATTENTION BIT OF THE
SEIZING PORT.

SET EACH PORT’S ATTENTION BIT, AND VERIFY THRT BOTH
ATTENTION BITS ARE SET.

SEIZE THE DRIVE THROUGH PORT ’B’ BY WRITING 0°S
INTO RMOS.

ISSUE A NOP COMMAND.
RELEASE THE FRIVE THROUGH PORT 'B’. VERIFY THAT THE

ATTENTION BIT FOR PORT 'B’ IS RESET, AND THE
ATTENTION BIT FOR PORT ’A’ IS STIL SET.

SeQ 0017
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852 TEST 32 TEST RESET ATTENTION 'R’ 8 'B’ BY MARSSBUS INIT
827 VERIFY THAT MASSBUS CLEAR RESETS BOTH PORT'S ATTENTION BITS WHEN THE
828 DRIVE IS IN NEUTRAL.
§§§ A.  SET THE ATTENTION BITS FOR BOTH PORTS.
ggg 8.  VERIFY THAT THE DRIVE IS IN NEUTRAL.
Sg C. agﬁnnmwmxmn VERIFY THAT BOH ATTENTION BITS HAVE
836 ) g
837
338 TEST 33 RESET ATTENTION 'A’ & ’B’ BY RMAS
840 _ VERIFY THAT BOTH ATTENTION BITS CAN BE RESET BY WRITING THE
g:é APPROPKTATE-BIT IN THE ATTENTION SUMMARY REGISTER.
g:a A. SET THE ATTENTION BITS FOR BOTH PORTS.
gzg B. VERIFY THE DRIVE IS IN NEUTRAL.
847 C. WRITE THE DRIVE’S ATTENTION BIT IN RMAS. VERIFY
gzg THAT BOTH ATTENTION BITS ARE RESET RS SEEN BY RMAS.
850
ggé TEST 34 PORT 'A’ ALTERNATE ATTENTION PATH TEST
gga VERIFY THAT THE ALTERNATE ATTENTION REGISTER READ PATH 1. CPERATIONAL.
ggg A.  SET ;HE ATTENTION BIT FOR PORT 'Q’.
ggg B.  SEIZE THE DRIVE THROUGH PORT 'B’ BY WRITING 0’S INTO RMDS!.
859 C.  READ THE ATTENTION REGISTER 8 VERIFY THAT THE ATTENTION BIT
860 FOR THE DRIVE IS SET.
861
862
863
864
865
ggg TEST 35 PORT *B’ ALTERNATE ATTENTION PATH TEST
ggg VERIFY THAT THE ALTERNATE ATTENTION REGISTER RERD PATH IS OPERATIONAL.
g;? A.  SET THE ATTENTION BIT FOR PORT ’'B’.
g;g B.  SEIZE THE DRIVE THROUGH PORT ‘A’ BY WRITING 0’S INTO RMDS].
874 C.  READ THE ATTENTION REGISTER 8 VERIFY THAT THE ATTENTION BIT
875 FOR THE DRIVE IS SET.
i
g;g TEST 36 SET ATTENTION 'A’ BY COMMMAND TEST

D02

StQ 0018
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88l TEST THE OPERATION OF THE PORT A AND PORT B RTTENTION BITS RFTER A
ggg COMMAND.
ggg A. ISSUE A OFFSET COMMAND THROUGH PORT 'R’.
886 B. WAIT FOR THE OFFSET COMMAND TO COMPLETE (’DRY' TO BECOME
887 *1').  VeRIFY THAT THE ATTENTION BIT FOR PORT 'R’ I5 SET AND
ggg THAT THE ATTENTION BIT FOR PORT ’'B’ IS NOT SET.
890 C. RELEASE THE DRI'c THROUGH PORT 'R’. VERIFY THAT THE DRIVE RETURNED
ggé TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.
893
ggg TEST 37 SET ATTENTION ’B’ BY COMMMANO TEST
89 TEST THE OPERATION OF THE PORT R AND PORT B RTTENTION BITS AFTER A
ggg COMMAND .
ggg A. ISSUE A RECALIBRATE COMMAND THROUGH PORT °'B’.
901 B. WAIT FOR THE RECALIBRATE COMMAND TO COHFLETE (’DRY’ TQ BECOME
902 1')._ VERIFY THAT THE ATTENTION BIT FOR FORT ’B’ IS SET AND
gga THAT THE ATTENTION BIT FOR PORT 'R’ IZ NOT SET.
905 C. RELERSE THE DRIVE THROUGH PORT ’B’. VERIFY THART THE DRIVE RETURNED
ggg TO NEUTRAL AND THQT NEITHER ATTENTION BIT IS SET.
2
910 VERIFY THAT A CHANGE IN UNIT RERDY SETS THE ATTENTION
g%é FOR BOTH PORTS.
gia THIS FUNCTION IS PERFORMED DURING THE SET VOLUME VALID TEST.
915
st
918 VERIFY THAT ATTENTION SETS WHEN THE DRIVE SWITCHES RFTER
gég BEING RELERSED.
gSé THIS IS PERFORMED DURING THE “SET PORT REQUEST TEST®
923

D0 OO D DO O D Vo)
SOBBORRNIRN

936

TEST 40 PORT 'R’ SET VOLUME VALID TEST
VERIFY THAT VOLUME VALID CAN BE SET FOR THE PORT UNDER TEST.

R. WITH PORT 'A’ SELECTED, FZSET AND SET "UNIT RERDY"
STATUS USING DIAGNOSTIC MODE. VERIFY THAT THE DRIVE
IS SEIZED AND THAT “VOLUME VALID™ IS RESET AND
ATTENTION IS SET.

8. ISSUE A DRIVE CLEAR COMMAND AND A RERD IN PRESET
COMMAND TO THE DRIVE THAT WAS SEIZED IN STEP A.
¥§Ré£¥ THAT ATTENTION IS RESET AND THAT VOLUME VALID

SEe 0019
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REh;RSS THE RR}VE FR?H PORT 'A’ AND SELECT THE DRIVE FOR
PORT 'B’. VERIFY THAT RYTENTION IS STIL SET AND THAT
VOLUME VALID IS STIL RESET.

ISSUE R DRIVE CLEAR AND R READ IN PRESET COMMAND TO
PORT 'B’ THEN RELERSE PORT 'B’.

TEST 41 _PORT 'B’ SET V VRLID TEST
VERIFY THAT VOLUME VAL UESN gt gET ?OR THE PORT UNDER TEST.

A.

D.

WITH PORT 'B’' SELECTED, RESET AND SET “UNIT RERDY"
STATUS USING DIAGNOSTIC MODE. VERIFY THAT THE DRIVE
1S SEIZED AND THAT “VOLUME VALID™ IS RESET AND

ATTENTION 1S SET.

ISSUE R DRIVE CLERAR COMMAND AND A READ IN PRESET
COMMAND "0 The DRIVE THAT WRS SEIZED IN STEP A.
gERéE¥ | AT ATTENTION IS RESET AND THAT VOLUME VALID

RELEASE THE DRIVE FROM PORT ’B’ AND SELECT THE DRIVE FOR
PORT ’'A’, VERIFY THAT ATTENTION IS STIL SET AND THAT
VOLUME VARLID IS STIL RESET.

ISSUE A DRIVE CLEAR AND A READ IN PRESET COMMAND TO
PORT 'R’ THEN RELERSE PORT 'A’.

TEST 42 TEST PORT 'R’ TIMEOUT DOES NOT RESET DRIVE
VERIFY THAT PORT TIMEOUT DOES NOT INITiQLIZE THE DRIVE.

R.

B.

C.

SEIZE THE DRIVE THROUGH PORT 'R’ BY WRITING 0'S INTO RMDSI.

WRITE 1’'S INTO RMER! THROUGH PORT 'R’ TO FORCE AN RTTENTION.
WAIT FOR THE DRIVE TO TIMEOUT. VERIFY THAT THE DRIVE RETURNED TO

NEUTRAL ; THAT ATTENTION IS SET FOR PORT 'R’ AND NOT SET FOR
PORT *B’; AND THAT BOTH PORTS SEE 1'S IN THE ERROR REGISTER.

TEST 43 TEST PORT ’'B’ TIMEOUT DOES NOT RESET DRIVE
VERIFY THAT PORT TIMEOUT DOES NOT INITIALIZE THE DRIVE.

R.
B.
C.

SEIZE THE DRIVE THROUGH PORT ’'B’ BY WRITING 0'S INTO RMDS!.
WRITE 1'S INTO RMER! THROUGH PORT ’B’.
WRIT FOR THE DRIVE TO TIMEOUT. VERIFY THAT THE DRIVE RETURNED TO

NEUTRAL ; THAT RTTENTION IS SET FOR PORT 'B' AND IS NOT SET FOR
PORT °"R’; AND THAT BOTH PORTS SEE 1'S IN THE ERROR REGISTER.

TEST 44 PORT 'A’ RETRIGGER BY DEMAND TEST

SEG 0020
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993
ggg VERIFY THAT THE PORT TIMEOUT ONE-SHOT CAN BE RETRIGGERED BY MARSSBUS DEMAND.
gg? A. SEIZE THE DRIVE THROUGH PORT 'R’ BY WRITING 0'S INTO RMDSI.
ggg B. WAIT 500 MS AND RERD RMDS1 THROUGH PORT 'R’.
1000 C. VERIFY THRT THE TIMEOUT OCCURS WITHIN + OR - 257 OF THE SPECIFIED
{88% TIME. (THE MERSUREMENT IS MADE FROM STEP 'B’.)
1003 D. VERIFY THAT THE DRIVE RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION
1004 BIT IS SET.
1005
1006
iggg TEST 45 PORT ’B' RETRIGGER BY DEMAND TEST
ig?g YERIFY THAT THE PORT TIMEOUT ONE-SHOT CAN BE RETRIGGERED BY MASSBUS DEMAND.
}8%% AR. SEIZE THE DRIVE THROUGH PORT ’'B’ BY WRITING 0’S INTO RMDSI.
igia B. WAIT S00 MS AND WRITE 0'B INTO RMDS! THROUGH PORT 'R’.
1015 C. VERIFY THAT THE TIMEOUT OCCURS WITHIN + OR - 254 OF THE SPECIFIED
igi; TIME. (THE MERSUREMENT IS MADE FROM STEP 'B’.)
1018 D. VERIFY THAT THE DRIVE RETURNED TQO NEUTRAL AND THRT NEITHER ATTENTION
1019 BIT IS SET.
1020
1021
1022
igga TEST 46 PORT 'R’ TIMEOUT/RELERSE TEST
1025 VERIFY THAT THE TIMEQUT ONE-SHOT IS TRIGGERED WHEN THE DRIVE
iggg SKITCHES PORTS AND SEIZING PORT PERFORMS NO REGISTER RCCESSES.
iggg A. SEIZE THE DRIVE THROUGH PORT ’'B’ BY WRITING 0’S INTO RMOSI.
igg? B. SET PORT REQUEST BY WRITING 0’S INTO RMDS1 FROM PORT 'R’.
1032 C. ISSUE R RELERSE COMMAND FROM PORT ’B'. VERIFY THAT THE DRIVE
1033 HAS SWITCHED TO THE OTHER PORT AND THAT THE 'ATA’ BIT DID NOT
iggg SET FOR PORT ’'B’. REGISTERS WILL HOT BE CHECKED THROUGH PORT ’R’.
1036 D. WAIT THE TIMEOUT INTERVAL + 25%. VERIFY THAT THE DRIVE HRS
iggg BEEN RELEARSED.
1039 E. RELERSE THE DRIVE THROUGH PORT ’AR’. VERIFY THART THE DRIVE

RETURNED TO NEUTRAL AND THAT NEITHER RTTENTION BIT IS SET.

TEST 47 PORT 'B’ TIMEOUT/RELERSE TEST

VERIFY THAT THE TIMEOUT ONE-SHOT IS TRIGGERED WHEN THE DRIVE
SWITCHES PORTS AND SEIZING PORT PERFORMS NO REGISTER ACCESSES.

R. SEIZE THE DRIVE THROUGH PORT 'R’ BY WRITING 0'S INTO RMDSI.

SRR EAE
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1049
1855(13 B. SET PORT REQUEST BY WRITING 0’'S INTO RMDS1 FROM PORT 'B’.
1052
1053 C. ISSUE A RELEASE COMMAND FROM PORT ’A’. VERIFY THAT THE DRIVE
1054 HAS SWITCHED TO THE OTHER PORT AND THAT THE 'ATA’ BIT DID NOT
iggg SET FOR PORT ’'R’. REGISTERS WILL NOT BE CHECKED THROUGH PORT 'B’.
1057 D. WAIT THE TIMEQUT INTERVAL + 25%. VERIFY THAT THE DRIVE HAS
1058 BEEN RELERSED.
1059
1060
i%é TEST SO PORT 'A' SEIZE ACCESS TEST
i&fa VERIFY THAT THERE IS NO INTERACTION BETWEEN PORTS.
iggg A. SEIZE THE DRIVE THROUGH PORT 'R’ BY WRITING 0°S INTO RMDSI.
iggg B. WRITE 1’'S INTO RMERL, RMER2 THROUGH PORT ’'A’.
1069 C. READ RMERL1, RMER2 THROUGH PORT 'B'. VERIFY THART PORT
ig;? 'B* SEES 0°'S FROM EACH OF THESE REGISTERS.
ig;g D. CLERR RMERI, RMERZ2 THROUGH PORT ’R’.
1074 E. WRITE 1°'S INTO RMERL, RMER2 THROUGH PORT 'B’. VERIFY THAT
ig;’g PORT 'R’ SEES D'S FROM EACH OF THESE REGISTERS.
ti
1079 F. RELEASE THE DRIVE THROUGH PORT 'A’'. VERIFY THAT THE DRIVE HAS
1080 SWITCHED TO PORT B’ AND THAT THE ATTENTION BIT FOR PORT 'B’ IS
iggé SET AND THE ATTENTION BIT FOR PORT 'R’ IS NOT SET.
1083 ISSUE A RELERSE COMMAND THROUGH PORT ’B’. VERIFY THAT THE DRIVE
iggg RETURNED TO NEUTRAL A4D THAT NEITHER ATTENTION BIT IS SET.
1086
{885 TEST 51 POnT 'B’ SEIZE RCCESS TEST
1089
}83? VERIFY THAT THERE IS NO INTERACTION BETWEEN PORTS.
iggg R. SEIZE THE DRIVE THROUGH PORT ’'B’ BY WRITING 0’S INTO RMOSI.
igg”s B. WRITE 1'S INTO RMERL, RMER2 THROUGH PORT 'B’.
1096 C. READ RMER1, RMER2 THROUGH PORT ’R’. VERIFY THRT PORT
{ggg 'R’ SEES 0'S FROM ERACH OF THESE REGISTERS.
i?gg D. CLEAR RMER], RMER2 THROUGH PORT 'B’.
1101 WRITE 1°S INTO RMERL, RMER2 THROUGH PORT 'A’. VERIFY THAT
Hg% PORT 'B’ SEES 0’'S FROM EACH OF THESE REGISTERS.
1104 F. RELERSE THE DRIVE THROUGH PORT ’'B’. VERIFY THRT THE DRIVE HAS

HOZ

SEQ 0022
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SWITCHED TO PORT 'R’ AND THAT THE ATTENTION BIT FOR PORT 'R’ IS
SET AND THE ATTENTION BIT FOR PORT 'B’ IS NOT SET.

G. ISSUE A RELEASE COMMAND THROUGH PORT 'R’. VERIFY THAT THE DRIVE
RETURNED TO NEUTRAL AND THAT NEITHER ARTTENTION BIT IS SET.
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001100

000011
000012
030015
000200
177776

177774
177772
177570
177570

000000
000001
000002
000003
000004
000005
000006
000007
000006
000007

JO2

; PROGRAM REVISION 800!

.TITLE MD-11-DZRMG-A,RMO3 DUAL PORT LOGIC TEST - PART 1
; BCOPYRIGHT (C) 1977

{ARAVNRD, RS DI7EY

;¥
;:PROGRRH BY D. RIIKONEN

ElTHIS PROGRAM WAS ASSEMBLED USING THE PDP-11 MAINDEC SYSMAC

;:PQCKRGE (MAINDEC-11-DZQAC-C3), JAN 19, 1977

.*BTTL OPERATIONAL SWITCH SETTINGS
SWITCH USE

Y LOOP ON TEST

3 INHIBIT ERROR _TYPEOUTS
6 INHIBIT ITERATIONS
9

BELL ON ERROR
LOOP ON ERROR

LB B 8 8 & 8 §

e WwsI W We OB WO Ws WS

.SBTTL BRSIC DEFINITIONS
- #INITIAL ADDRESS OF THE STACK POINTER %% 1100 *x

&TAcK=" 1100
. sBASIC DEFINITION OF ERROR CALL

.EGUIV EMT,ERROR
.EQUIV I0T,SCOPt ; ;BASIC DEFINITION OF SCOPE CALL

; $MISCELLANEOUS DEF INITIONS
AT= 11 --CODE FOR HORIZONTAL TRB

LF= 12 ::CODE FOR LINE FEED

CR= 15 : - CODE FOR CARRIAGE RETURN

CRLF= 200 : 1 CODE FOR CARRIAGE RETURN-LINE FEED
PS= 177776 : : PROCESSOR STATUS WORD

.EQUIV PS,PSW
STKLMT= 177774
PIRQ= 177772
DSWR= 177570

;;STACK LIMIT REGISTER
; ; HARRDWARE SWITCH REGISTER

DDISP= {77570 : * HARDWARE DISPLAY REGISTER
. ¥GENERAL PURPOSE REGISTER DEFINITIONS

RO= %0 .- GENERAL REGISTER
Rl= %1 :IGENERAL REGISTER
R2= %2 ' {GENERAL REGISTER
R3= %3 i1 GENERAL REGISTER
RY4= 4 : 1 GENERAL REGISTER
RS= %S : :GENERAL REGISTER
Rb= yA) - sGENERAL REGISTER
R7= %7 ; GENERRL REGISTER
SP= b : :STACK POINTER

PC= % ; ; PROGRAM COUNTER

MACY11l 30(1046) O1-RUG-77 11:02 PAGE 22

; ; PROGRAM INTERRUPT REQUEST REGISTER

SEQ 0024
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1169
1170 - $PRIORITY LEVEL DEFINITI
1171 000000 PRO= O ;?ﬁ%xoaxtv LEVEL O
xi;g ooo?go gnx: ?0 ;;ssxonxrz LEVEt i
115 30819 br3: 1% i ERIORETY LRVEL §
. o e L
1177 000300 PRE= 00 Ezpnigg TY LE¥EL 3
{i;g 000340 PR7= 340 : PRIORITY LEVEL 7
1180 - ¥"SWITCH REGISTER™ SWITCH DEFINITIONS
1181 100000 SWiS=" 100600
1182 040000 SWi4= 40000
1183 020000 SWi3= 20000
1184 010000 SWig= 10000
1185 004000 SWil= 4000
1186 002000 SWi0= 2000
1187 001000 SW0S= 1000
1188 000400 SW08= 400
1189 000200 SWo7= 200
1130 000100 SWoe= 100
119] 000040 SWOS= 40
1192 000020 SWo4= 20
1193 000010 SW03= 10
1194 060004 SWoe= M
1195 000002 SWOl= 2
1196 000001 SWoo= |
1197 CEQUIV SWO9, SWS
1198 .EQUIV SKO8, SW8
1199 EQUIV  SWO7. SW?
1200 .EQUIV SWO6, SWb
1201 .EQUIV 5.0S ) SuS
1202 EQUIV  SWOY4, SWY4
1203 .EQUIV SWO3, SW3
1204 EQUIV SWO2,SuW2
1205 "EQUIV SWOISuI
isgg EQUIV SWOO, SWD
. ¥DATA BIT DEFINITIONS (BITOD TO BITIS)
100000 81T1S5= 100000
1210 040000 BITi4= 40000
1511 0000 BIT13= 2000
1812 10000 BIT12= 10008
1213 004000 BITil= 4000
1214 002000 BIT10= 2000
1215 001000 BITOS= 1000
1216 000400 BITO8= HNS
1217 000200 BITO?= 200
1218 000100 8ITO6= 100
1219 000040 BIT0S= 40
1220 000020 BITON= 20
1221 000010 BITO3= 10
1222 000004 BITO2= 4
1223 600002 BITOI= 2
1224 000001 BITOD= |

SEQ 002S
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1225 .EQUIV BIT09,BIT9

1226 .EQUIvV BIT08,BIT8

1227 .EQUIV BIT07,BIT?

15 e gl

1 53 : ou*v 704, BITY

1231 .EQUIV BIT03,BIT3

1235 .souxg axroa,er;a

85 B BB

iagg 500004 . #BASIC 'CPU' TRAP VECTOR ADDRESSES

1%38 000010 Eas¥EE ::néEEn9Eo 228 ?LEE GAL Ins?nucrxons

1239 000014 TBITVEC= 14 i)

1240 000014 TRIVEC= 1M E TRAP

1241 000014 BPTVEC= 1M ,,ansnxpornr TRAP (BPT)

1242 20 10TVEC= 20 ,,INPUT/OUTPUT TRAP (I0T) %XSCOPE##

1243 000024 PWRVEC= 24 : POMER FA.

1244 000030 EMTVEC= 30 .,EHULRTOR TRRP (EMT) #*ERROR¥#

1245 000034 TRAPVEC=3Y4 “TRAP™ TRAP

1246 000060 TKVEC= b0 : TTY KEYBOARD VECTOR

1247 000064 TPVEC= BY ,,rrv PRINTER VECTOR

isng 000240 PIRGVEC=240 PROGRAM INTERRUFT REQUEST VECTOR

igg? ; ;l!l!liiili*l!il!i!!***!ii!!ll!ii*li*ll****il****ill****l**l*!!l

{ggg .SBTTL RH?0 REGISTERS

iggg ; ;ilillllllil»l!llli!i!!l!ilili!ll*!lﬂ»!iii*iii!*!*!ii!l!l**ll****

iggg . CONTROL AND STATUS REGISTER 1 (RMCSI)

1 800100 = 10 ; IN RRUPT snneLE (BIT #6)

1523 000200 55v= sng RS

1260 000400 Alb= 400 HIGH onoea eus ADDRESS BIT (BIT #8)

1261 001000 Al7= 100 ‘HIGH ORDER BUS ADDRESS BIT (BIT #9)

1262 002000 PSEL= 2000 :PORT SELECT (BIT #10)

1263 020000 MCPE= 20000 : MRSSBUSS PARITY ERROR (BIT #13)

1264 040000 TRE= 40000 : TRANSFER ERROR (BIT #14)

isgg 100000 SC= 100000 :SPECIAL CONDITION (BIT #15)

1267 WORD COUNT REGISTER (RMWC)

%ggg ' (ERCH BIT IS CALLED BY BIT NUMBER)

1270 . - BUS ADDRESS REGISTER (RMBRA)

{S;é : (ERCH BIT IS CALLED BY BIT NUMBER)

}5;3 CONTROL AND STATUS REGISTER 2 (RMCS2)

157 000002 e 2 {UNIT SELECT (BIT 8)

1277 000004 u3= 4 PUNIT EE Ecr (BIT 82)

1278 000010 BAI= 10 :BUS AODRESS INCREMENT INHIBIT (BIT #3)

1279 000020 PAT= 20 *MASSBUS PARITY TEST (BIT #4)

1280 000040 CLR= 40 :CLEAR (BIT #5)

SEQ 0026
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N EWN— QWD NN LEWN—OWD

P P s s P Pt s Pt P s P Pt Pt ot P P st P Pt
WD () L GG W WD W W L) W W LI WD WD)
U PO PO PO N Nt 0 p—a ps pme p—e pos p—s s p—a

3

01-AUG-77 10:58

B30
lé%

010000
020000

040000
100000

000001
000002
000004

004000

000040

000001

040000
100000

000004
000002
000004
000010
000020

RH70 REGISTERS

R= 00

R= 535
MOPE= 400
MXF = 5800
PGE= 00
NEM= 4000
NED= 10000
UPE= 20000
WCE= 40000
DLT= 100000

MO2

MRCYL! 30(1046)

;DATA BUFFER REGISTER (RMDB)
; (EACH BIT IS CALLED BY BIT NUMBER)

01-RUG-77 11:02 PAGE 25

; INPUT _REARODY (BIT #6)
;OUTPUT RERDY (BIT #7)
:MASS BUS PARITY ERROR (B

s R

BIT
BIT
NOH E§¥STENT MEMORY (BIT &
STENT DRIVE (BIT sl
; IBUS PARITY ERROR (BIT &
,HRITE CHECK ERROR (BIT IlH
;DATA LATE (BIT #15)

§ 5 HRERIIER NIRRT NI NI N RN RFHRRR RN RN RENERREEENA AR

.SBTTL RMO3 REGISTERS
s 3 SRR IO I R R R R R AR RE RN RS R

:CONTROL AND STATUS REGISTER #1. (#00)

GO= 1 :GO BIT (BIT #0)

FO= 2 sFUNCTION CODE BIT #l

Fi= 4 -FUNCTION CODE BIT #2

Fe= 10 +FUNCTION CODE BIT #3

F3= 20 :FUNCTION CODE BIT a4

Fy= 40 :FUNCTION CODE BIT 45

DVA= 4000 ;DEVICE AVAILABLE (BIT #11)
; CONTROL STRTUS REGISTER #2 (RMCS2)

CLR= BITS s CONTROLLER CLERR

;ORIVE STRTUS REGISTER (RMDS1) (#01)

OM = BITQOO ; OFFSE

V= 100 VOLUHE an D (BIT #6)

DRY= 200 DRIVE REARDY (BIT #7)

DPR= 400 DRIVE PRESENT (BIT 39)
PGM= 1000 PRO g

LBT= 2000 Lns SEC T FERRED (BIT #10)
=gt= ?8880 HRITE LOCK {BIT #11)

PIP= 20000 POS%?“ONIN& NEERE*ION IN PROGRESS (BIT #13)
ERR= 40000 COHPOSITE ERROR (BIT #14)
ATAR= 100000 nTTENTION RCTIVE (BIT 815)

;ERROR REGISTER #01 (RMERI1) (#02)

ILF= l

ILR= e
RMR= Y
PAR= 10
FER= 20

; ILLEGRL FUNCTION (BIT &0
: ILLEGAL REGISTER (BIT #1
:REGISTER MODIFICATION RE
:PARITY ERROR (BIT #3)
:FORMAT ERROR (BIT #4)

)
)
FUSED (BIT #2)

SEQ 0027
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MO-11-DZRMG-A,RMO3 DURL PORT LOGIC TEST - PART | MACY1l 30(1046) O01-AUG-77 11:02 PAGE 26

DZRMGA.P11  01-AUG-77 10:58 RMO3 REGISTERS
1337 000040 WCF= M0 :WRITE CLOCK FAIL (BIT #S)
1338 000100 ECH= 100 :ECC HARD ERROR (BIT #b)
1339 000200 HCE= 200 ,HERDER conpggsosanoa (BIT 87)
1340 000400 HCRC= 400 :HERDER CRC (BIT #8)
ET 1 % e QEELOt S 1,13
13q§ 884888 uﬁEZ 4833 ‘WRITE LOCK (BIT #11)
1344 010000 DTE= 10000 :DRIVE TIMING ERROR (BIT 812)
1345 020000 OPI= 20000 :OPERATION INCOMPLETE (BIT #13)
1346 040000 UNS= 40000 ‘DRIVE UNSAFE (BIT 8i4)
iggg 100000 DCK= 100000 :DATA CHECK ERROR (BIT 15)
iggg ;MAINTAINABILITY REGISTER (RMMR1)(#03)
1351 000001 DMD= | :DIRGINOSTIC MODE (BIT #0)
1352 001000 MUR = BITO9 : MAINTENANCE UNIT RERDY
1353 040000 RGB z BITIY :PORT B REQUEST FLOP
iggg 100000 RGA = BITIS :PORT A REQUEST FLOP
%ggg :ATTENTION SUMMARY PSEUDO-REGISTER (RMAS) (804)
1388 000001 AT0= | :DEVICE 0 (BIT #0)
1359 000002 ATl 2 :DEVICE 1 (BIT #1)
1360 000004 AT2= 4 :DEVICE 2 (BIT #2)
1361 000010 AT3= 10 'DEVICE 3 (BIT #3)
1362 000020 AT4= 20 ;osvrgg 4 (ng 84)
1363 000040 ATS= 40 DEVICE § (BIT s5)
1364 0:00 ATe= 100 :DEVICE & (BIT #6)
igga 000200 AT?z 200 :DEVICE 7 (BIT #7)
1367 :DESIRED SECTOR/TRACK ADDRESS REGISTER (RMDA) (805)
iggg : (ERCH BIT IS CALLED BY BIT NUMBER)
ig;? :DRIVE TYPE REGISTER (RMDT) (406)
1372 000001 0T00= | :DRIVE TYPE NUMBER BIT 1
1373 060002 DT0i= 2 :DRIVE TYPE NUMBER BIT 2
1374 000004 DT02= 4 :DRIVE TYPE NUMBER BIT 3
1375 000010 0T03= 10 ;0R§3E ngi NOMBER BIT 4
1376 000020 DTO4= 20 'DRIVE TYPE NUMBER BIT S
A e ol T e g1 S
137 gooeno DT87= 200 EoRxgg T¥SE HHHEER BIT 8
1380 000400 DTOB= 400 :DRIVE TYPE NUMBER BIT 9
1381 004000 DRG= 4000 :DRIVE REQUEST REQUIRED (BIT #11)
1382 020000 MOH= 20000 'MOVING HERD (BIT #13)
1383 040000 TAP= 40000 'TAPE DRIVE (BIT #14)
iggg 100000 NBA= 100000 !NOT BLOCK RODRESSED (BIT #15)
}ggg ; LOOK-RHERD REGISTER (RMLR) (#07) '
1388 000100 . SC0= 100 : SECTOR COUNT FIELD O (BIT #6)
1389 060200 5C1= 200 :SECTOR COUNT FIELD 1 (BIT #7)
1390 000400 52z 400 :SECTOR COUNT FIELD 2 (BIT #8)
1391 001000 5C3= 1000 :GECTOR COUNT FIELD 3 (BIT #9)
1332 002000 §C4= 2000 :SECTOR COUNT FIELD 4 (BIT #i0)

1

’ T -

SEQ 0028
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DZRMGA.PL1
1393

Kya
1395

[

000010
000200

010000
100000

000200
002000
004000
010000

BO3

RMO3 REGISTERS

;RMO3 ERROR REGISTER s2 (RMER2) (810)

DPE= 10 ;DATR PARITY ERR R_ (B
DVC= 200 ;DEVICE “HECK (BIT 87
LBC= 2000 ;LOSS OF BIT CLOCK (BI
LSC= 4000 ;LOSS OF SYSTEM CLOCK
IVC= 10000 ;s INVARLID COMMAND (BI7
= 20000 ; OPERATOR ERROR (BIT
SKI= 100000 ; SEEK INCOMPLETE (BIT
; OFFSET REGISTER (RMOF) (811)
OFD= 200 sOFFSET FORWARD (BIT #5
HCI= 2000 :HERDER COMPARE INHIBIT
ECI= 4000 :ERROR_CORRECTION CODE INH
FMTle= 10000 :FORMAT BIT (BIT #12

;DESIRED CYLINDER RDDRESS (RMDC) (212)
: (EARCH BIT IS CALLED BY BIT NUMBER)

; SERIAL NUMBER REGISTER (RMSN) (814)
: (ERCH IS CALLED BY BIT NUMBER)

;ECC POSITION REGISTER (RPECI) (816)
; (EACH BIT IS CALLED BY BIT NUMBER)

;ECC PATTERN REGISTER (RMEC2) (817)
: (EACH BIT 1S CALLED BY BIT NUMBER)

MACY1l 30(1046) O01-RAUG-77 11:02 PRAGE 27

(BIT & l?

)
IBIT (BIT #11)

s s HIIHEIIE NI RIS R R R R
.SBTTL DEFINITIONS OF THE RH70/RM0O3 ARDDRESS INDEXES
s s HHIEEIEER R R S HHHOHHHHHHHEHEH

RMCS1=0
RMWC=2
RMBA=Y4
RMDA=6
RMCS2=:0
RMDS1=1¢
RMERL=14
RMAS=16
RHLR'EO

RMEC2=46

CONTR AND STATUS REGISTER 8!
T REGISTER (NOT R DR

oesm‘@“?ss TRCK AOORESS

:CONTROL AND STATUS REGISTE
:DRIVE STATUS REGISTER (DRI
ERRG? REGIS

e
&

e
2
2

ECC POSITION
tECC PATTERN REG

SEQ 0029
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DZRMGA.P11  '01-RUG-77 10:58 TRAP CATCHER
1449 .SBTTL TRAP CATCHER
1860
1451 000000 .=0
1452 - ¥ALL UNUSED LOCATIONS FROM 4 - 776 comnén R ™. 42, HALT"
1453 Ly CE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
1454 :#LOCATION 0 CONTAI 10 CATCH mmo%m.v LORDED VECTORS
i:ss 000174 888(136"0 DISPREG Lo 0 TWARE DISPLAY REGISTER
i:ss 000176 000C00 SWREG: Zﬂ% 0 : 1 SOF TWARE SWITCH REGISTER
}:23 .SBTTL ACT1l HOOKS
1461 HH 363636 3636 36 36 36 36 36 36 38 36 96 36 36 3 36 36 36 3 36 3 3 36 36 96 3 3 3 3 4 3 3 3 3 3 23 3 3 3 % W % 3 % % % % K% % XK % E % F® %KX R
1462 : HOOKS REQUIRED BY RCT11
1463 000200 §SVPC=. : SAVE PC
1464 000046 .=46
1465 00004 065726 SENDAD .+ 1JSET LOC.46 TO ARDDRESS OF SENDRD IN .SEOP
14966 000052 .=52
1467 000052 020000 .MORD 20000 . :2)SET LOC.52 TO 20000
{:Eg 000200 - =$SVPC : : "RESTORE PC
i:;? .SBTTL STARTING ADDRESS = 200
iﬁgg 000200 00C137 002160 IMP START :STRRT THE PROGRAM
i:;qs _SBTTL START THE PROGRAM AND CHANGE THE RH70 ARDDRESS = 204
%‘3 000204 000137 002166 IMP STARTL :START AND CHANGE THE RH70 ADDRESS
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1479
1480
1481
1482
1483
1484
1485
148¢
1487
1488
1489
1490
1491
1492
1493
1494
1495
149
1497
1438
1499
1500
15801

BRIRRIER

L S N N O N O g e oy T N N Yy Sy WY Sy DNy Ny Wy Wiy Wy
[ValValValValUal¥alValValda]ly)
Pt s e Pt e Pt Pt ot Pt P
OO OO LWO—-O

AEERRRRRRRReS

SESERESERESE SSEBESRRRSRRRSRRESRRERRRARRRARR

nnn
S

JINIFIT TORRIKEE EESRRIRNERINBG R RERERREE

‘a

S88E
SQReS

179607
77

015
000012

000015
000012
172540
172542

01-RUG-77 10:58

000377

T1
OMMON TRGS

.SBTTL

D03

MACY1l 30(1046) O01-RUG-77 11:02 PAGE 29 SEQ 0031

COMMON TAGS

s ¢ SUAIEIIHIEI IO 00 00T 0000 00 30 T 333 B3 3R B3 R 00 3
:4THIS TABLE CONTAINS VARIOUS COMMON STORRGE LOCATIONS
; #USED IN THE PROGRAM.

.=1100

SCMTAG: : ; START OF COMMON TRGS
SPASS: .WORD O : s CONTRINS PRSS COUNT
STSTNg: '3¥}E 8 ;;CONTgINS THE TE?IQEUHBER
s%cu#: JWORD O ;;c:om:nﬂg msr ITERATION COUNT
SLPRDR: .WORD O : s CONTRINS SCOPE LOOP ADORESS
SLPERR: .WORD O s s CONTRINS SCOPE RETURN FOR ERRORS
SERTTL: .WORD O : ;CONTRINS TOTAL ERRORS DETECTED
SITEMB: .BYTE O : sCONTRINS ITEM CONTROL BYTE
SERMAX: .BYTE | : sCONTAINS MRX. ERRORS PER TEST
SERRPC: .WORD O s s CONTRINS PC OF LARST ERROR INSTRUCTION
$GDADR: .WORD O : s CONTAINS RDDRESS OF ’'GOOD’ DATA
$8DADR: .WORD O ; ; CONTRINS RDDRESS OF ’'BRD’ DATA
$SGODAT: .WORD O s s CONTRINS *GOOD’ DATRA
$SBODAT: .WORD O : sCONTRINS ’BAD’ DARTA

.5828 8 s ; RESERVED--NOT TO BE USED
SAUTOB: .BYTE O ; ;RUTOMATIC MODE INDICATOR
SINTAG: .BYTE 8 ;s INTERRUPT MODE INDICATOR
SWR: .WORD DSWR : s RDDORESS OF SWITCH REGISTER
DISPLAY: .WORD DDISP : : RDDRESS OF DISPLAY REGISTER
$TKS: 177560 ;s TTY KBO STRTUS
$TKB: 177562 ::TTY KBD BUFFER
STPS: 177564 -+ TTY PRINTER STRTUS REG. RDORESS
STPB: 177566 +; TTY PRINTER BUFFER REG. RDORESS
$NULL: .BYTE O : ; CONTRINS CHARACTER FOR FILLS
SFILLS: .BYTE 2 s CONTRINS 8 FILLER CHARACTERS REQUIRED
SFILLC: .BYTE j@ -+ INSERT FILL CHARS. AFTER R "LINE FEED"
STPFLG: .BYTE O :;"TERMINAL AVAILABLE™ FLAG (BIT¢07>=0=YES)
SREGAD: .WORD O s s CONTRINS THE ADORESS FROM

:'WHICH (SREGOD) WAS OBTRINED

SREGO: .WORD O ; ; CONTRINS ( (SREGRD)+0)
STMPO: .WORD O : s USER DeF INED
STMP1: .WORD O : s USER DEF INED
STMP2: .WORD O + +USER DEF INED
§TMP3: .WORD O . sUSER DEF INED
STMPY: _WORD O . - USER DEF INED
STIMES: O : MAX. NUMBER OF ITERATIONS
SESCARPE: 0 s ESC ON ADDRESS
$BELL: .ASCIZ «207»¢377>¢377> ;;C LL
SQUES: .ASCII ~r7/ : sQUESTION MARK
SCRLF: .RSCII «1S ; ;CARRIAGE RETURN
SLF: .ASCIZ 2 . -LINE FEED
éﬁ*l!*l!*!l!!lll!!ll!lllllii{!}i‘ililliii!l!l!iilll*!i*liiili!!ll

= 15
LF = 12
SLKCSR: .WORD 172540 :ADDR OF KWll1-P STRTUS REGISTER
SLKCSB: .WORD 172542 ;RODR OF KWl1-P COUNTER BUFFER
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DZRMGA.P11 ' OL-RUG-77 10:58 COMMON TAGS

1535 001216 000104 SLPVEC: .WORD 10M :AODR OF KW11-P VECTOR

153 001220 177546 sucs:c .muono %EES% ,ﬁor ,'8:}1" STRT REGISTER

{eg Bi55 8% SkVEC: IR & : % #&l

1533 T ng' ) 8 : AOORE D FFERENT DRIVE

1841 %5£ RESTA: Iuong 0 '%Z? SFT }

1542 0012M RQSTB: .WORD O :REQUEST BIT FOR PORT a

1543 %1% ARSR1: .WORD O ATR-A OR ATR-8 = 1

1544 001 PTNBR: .WORD O ! CONTAINS THE PORT ADDRESS FOR ERROR TYPEOUTS

1545 001242 SEIZPT: .WORD O ;CONTAINS THE ADORESS OF THE SEIZING PORT

1546 001244 OPPRT: .WORD O : CONTRINS THE ADORESS OF TI-E YOPPOSITE’ PORT

1547 001246 TSTNUM: .WORD O NJ‘BER OF THE NT TEST

1548 001250 CKERR: .WORD O :IF -1, A REGISTER MISCOMPARISON OCCURRED

1849 001252 NOSEIZ: .WORD O IF 1, THE PORT IN 'SEIZPT’ om NOT SEIZc THE DRIVE

1550 001254 RELERR: .WORD O THE PORT IN 'SEIZPT’ DID NOT RELEARSE THE DRIVE

1551 001256 TIME: .WORD O ELnPstn TIME COUNTER

1552 001260 MATCH: .WORD O :WATCH DOG TIMER LOCATION

igga m}‘*’ﬁ Hg& - WORD 8 ;E%Jﬁw ONE-SHOT vnus MEASURED THROUGH PORT A

1585 %1%& TIMEAM: Iuom[ 0 'PORT A TIE% vm“ff SE/

1556 001270 TIMEB: .WORD O :THE TIMEOUT ONE-SHOT VALUE MEASURED THROUGH PORT B

1657 001272 TIMEBP: .WORD O ‘PORT A TIMEOUT VALUE + 2S%

1558 001274 TIMEBM: .WORD O ‘PORT B TIME VALUE - 25«

1559 001276 TIMES: .WORD 0 :STORAGE FOR TIMEOUT ONE-SHOT RETRIGGER TEST

1560 001300 KYBCTL: .WORD O :SINGLE TEST INDICATOR

%% 001302 CHGROR: .WORD O :CHANGE THE RH70 RDDRESS INDICATOR

igga N EHREFEEEEEEEEEEEEEEE R EEECEIE WK E K E KK 3552 I3 X% % 33 3% %% ¥ %%

Egg .SBTTL RH70/RMO3 UNIBUS AND VECTOR RDORESSES

iggg < s FHHEFHEIIHEHEHHHHHEEOHHHHHEHH I HEHHHHHHHH R R R R ¥

1669 001304 176700 $RMADR: .WORD 176700 : RH70/RMO3 UNIBUS ADDRESS

1570 001306 0002E4 SRMVEC: .WORD 254 :RH70 INTERRUPT VECTOR ADDRESS
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MO-11-DZRMG-R,RMO3 DUAL PORT LOGIC TEST - PART | MACYil 30(1046) O01-RUG-77 11:02 PAGE 3! SEQ 0033
DZRMGR.P11 01-AUG-?7 10:58 ERROR POINTER TABLE
g;s .SBTTL ERROR POINTER TRBLE
e ; #THIS TRBLE CONTRINS T!'ri INFORMATION FOR ERCH ERROR THAT CAN OCCUR.
X |
tas ; ﬁg*%ﬂ“ﬂ??éﬂ;;&?@ nms ?ﬁéﬂ&}ggmﬂ?ﬁﬁm W( p 1S PERTINENT.
1577 R l: l?ﬁ RRP(f' ,
{5;2 s #NOTEZ: ERCH ITEM }N %‘E'ﬁ& CMTRI%NI INTéiS gXPLﬂ NED RS FOLLOWS:
1580 s % EM : ;POINTS TO THE ERROR MESSAGE
1581 s & DH + sPOINTS TO THE DATA HERDER
1682 s ¥ DT : sPOINTS TO THE DRTA
1583 ¥ DF ; ;POINTS TO THE DARTR FORMAT
1584
1585
1586 001310 SERRTB:
1587
{Sséﬂé ;ERROR |
1590 001310 072014 EM] ; WRONG DRIVE TYPE
1591 001312 076435 DH1
1592 001314 100326 DTl
1593 001316 100614 DF1
159
igg ;ERROR 2
1597 001320 072035 EM2 ;ORIVE NOT ON LINE
1598 001322 076435 DH1
1599 001324 100326 DTl
1600 001326 100614 DF 1
1601
i% :ERROR 3
1604 001330 072057 EM3 :SERTAL NUMBERS NOT THE SAME
1605 001332 076506 DH3
1606 001334 100342 DT3
1607 001336 100614 DF1
1508
ig&g :ERROR 4
1611 001340 072141 EM4 :DRIVE NOT SEIZED BY PORT ’N’
16le. 001342 076555 DHY
16173 001344 100410 01?7
ig’ig 001346 100627 DF?7
.}g{g ;ERROR S
1618 001350 072172 EMS ; WRONG STATUS SEEN BY THE SEIZING PORT
1619 001352 076700 DHS
1620 %135'1 100356 DTS
1621 1356 100621 DFS
1622
igaaa ;ERROR &
162S 001360 072240 EME :REGISTER CONTENTS WERE SEEN BY OPPOSITE PORT - DRIVE WA
1626 001362 077150 DH13
1627 001364 100430 DT13




MO-11-DZRMG-A,RMO3 DURL PORT LOGIC TEST - PART 1

DZRMGA.PL1

l 001366

1632 001370

5 B
] 137

1639 001400
16 D0 1402
le4) 001404
1642 001406

1667 001440
1668 001442
1669 001444
1670 001446

1674 001450
1675 001452
1676 001454
1677 001456

1681 001460
1682 001462
1683 00146M

01-RUG-77
100621

072340
076754

188627

072451
077077
100326
100614

072535
077644
100516
100642

072605
077150
100430
100621

072672
077153
100430
100621

07273S
076754
100410
100627

073014
076754
100410

10:58

DFS
;ERROR 7

EM?
DH7
B}?
7
; ERROR 10

EMIO
DHS
DTS
DFS

;ERROR 11

EMLL
DH11
DTl
DF1

:ERROR 12

EM12
DH3G
D137
DF 36

;ERROR 13

EMI3
DH13
DT13
DFS

;ERROR 14

EMIY
DHI3
D713
DFS

;ERROR 15

EMLS
DH?
017
OF?7

; ERROR 16
EMIB

DH?
D17

GO3

MACY1l 30(1046)
ERROR POINTER TRBLE

01-RUG-77

i1:02 PAGE 32

SEQ 0034

;REGISTER CONTENTS INCORRECT RFTER RELEARSE/TIMEOUT

;REGISTER CONTENTS INCORRECT

;CONTROL BUS PARITY ERROR WHILE READING REGISTER

;DRIVE NOT SEIZED BY DRIVE CLERR COMMAND

:'VOLUME VALID' BIT NOT SET BY REARDIN PRESET

; 'VOLUME VALID' SET ON THE OPPOSITE PORT

; THE ATTN BIT WRONG RFTER TIMEOUT - REQUEST NOT SET

;ATTN BIT WRONG AFTER RELEASE - REQUEST WRS SET
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DZRMGAR.P11

168
168S
1686
1687

l

1690
1691
1692
1693
1694
1695
169%
1697
1698

001466

[y

'01-AUG-77 10:58
100627

073067
076754
100410
100627

73146
77644
100516
100642

073226
077644
100516
100642

073301
077270
100446
100636

ERROR POINTER TRBLE
OF7
.ERROR 17

EM17
DH?
01?7
DF7

:ERROR 20

EM0
DH36
D137
DF 36

; ERROR 21

EM21
DH36
D137
OF 36

; ERROR 22

EM22
DHe2
D122
DF31

HO3

MACY11 30(1046)

01-AUG-77 11:02 PAGE 33 SEQ 0035

;ATTN BIT WRONG AFTER RELERSE - REQUEST NOT SET

;DRIVE NOT SEIZED WHEN ATTN BIT FOR PORT CLERRED

:DRIVE SEIZED WHEN ZERO WRITTEN IN ATTN BIT FOR PORT

:DRIVE NOT IN NEUTRAL AFTER TIMEOUT, REQUEST NOT SET
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DZRMGA.P11 01-RAUG-77 10:58 ERROR POINTER TABLE

1713

i;ig ; ERROR 23

1716 001530 073366 EM23 ; TIMEOUT CLERRED THE DRIVE’S ERROR BIT

1717 001532 077366 DH23

1718 001534 100460 D123




MD-11-DZRMG-R,RMO3 DUARL PORT LOGIC TEST - PART |
01-AUG-77 10:58

DZRMGR.P11
001536

Pt Gt Pt Pt s s Pt Pt Pt P Pt Pt Pt Pt Pt Pt Pt Pt Pt P Pt
BEYRRLEBR2EBBYRREENNES

001560

100614

073434
077366
100460
100614

073513
077644
100506
100642

073556

ERROR POINTER TRBLE
DF1
:ERROR 24
EM2Y
OH23
0723
OF 1
:ERROR 25
EM25
DH36
DT36
DF 36
:ERROR 26

EM2E

JO3

MACY1l 30(1046)

01-AUG-77 11:02 PAGE 35 Ste 0037

<RELERSE COMMAND RELERSED DRIVE WITH ERRORS SET

s TIMEOUT ONE-SHOT DID NOT RETRIGGER

:ORIVE NOT IN NEUTRAL AFTER RELEASE, REQUEST NOT SET
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720 Rieey Tooa%0

1749

NN NN
GIA Y
£ whu—

g

NN NNNNNNNNN

[l Ty N e e
CERELRIE RS

NN
oo
Velo)

001566

Bgte73

001640
0Cle42
001644
001646

001650
001652

01-AUG-77 10:58

100636

372543

100410
100627

073721
077644
10CS06
100642

074016
077545
100474
100636

Q74073
076700
100356
100621

074144
077644
100506
100642

74246
77644
100506
100642

074351
077644

s

OF31
. ERROR 27

Bn;?
017
DF7

; ERROR 30
EM30
DH36
0736
DF 36

; ERROR 31

; ERROR 33
EM33

;ERROR 34

EM34
DH36
DT36
DF 36

; ERROR 35

EM35
DH36

KO3

MACY11 30(1046)
ERROR POINTER TRBLE

01-RUG-77 11:02 PRGE 36 SEG 0038

-REGISTER WRONG AFTER RELEASE WITH REQUEST SET

:DRIVE SEIZED BY RELERSE ISSUED WHEN DRIVE IN NEUTRAL

:DRIVE NOT SEIZED BY PORT AFTER RELEARSE WIITH REQUEST SE

;ATTN BIT WRONG AFTER RECALIBRATE COMMAND

:DRIVE RETURNS TO NEUTRAL IF DRIVE CLERR GIVEN WHILE DRI

:DRIVE RETURNS TO NEUTRAL IF MASSBUS INIT GIVEN WHILE DR

:ORIVE DID NOT RETURN TO NEUTRAL BY TRIGGERING TIMEOUT O




MD-11-DZRMG-A,RMO3 DUARL PORT LOGIC TEST - PAR

DZRMGA.P11
1790 001654
1791 001656
1792
1793
1794
1795 001660
1796 001662
1797 001664
1798 001666
1799
1800
1801
1802 001670
1803 001672
1804 001674
1805 001676
1806
1807
1808
1609 001700
1810 001702
1811 001704
1812 001706
1813
1814
1815
1816 001710
1817 001712
1818 001714
1819 001716
1820
1821
1822
1823 001720
1824 001722
1825 001724
1826 001726
1827
1828
1630 ooz
83 G173
1832 001734
1833 001736
1834
1835
1836
1837 001740
1838 001742
1839 00174y
1840 001746
1841
1842
1843
1844 001750
1845 0017%e

01-AUG-77 10:58

100516
100642

074430
077644
100506
100642

074502
077644
100516
100642

074550
076435
100460
100614

074625
077366
100460
100614

074667
077673
100526
100645

77673
100526
100645

075032
077712
100474
100636

075107
076435

T1
ERROR POINTER T

D137
DF36

:ERROR 36
EM3B
DH36
DT36
DF 36
; ERROR 37

EM37

; ERROR 40
EM40
DH1
D123
DF1

;ERROR 41

; ERROR 42
EMY2

; ERROR 43

5243
42
DT42
DF42
; ERROR 44

EM4Y
DH44
D31
OF31

:ERROR 45

EMYS
DH1

LO3

MACYL1 30(1046)

01-AUG-77 11:02 PAGE 37

; TIMEOUT HAS NOT OCCURRED WITHIN 2 SECONDS

;ORIVE IS NON-EXISTENT

sATTENTION FOR PORT NOT RESET BY MASSBUS CLEAR

; TIMEOUT CLEARED ATTENTION BIT

;DRIVE NOT IN NEUTRAL OR SEIZED

;DRIVE IN NEUTRAL AFTER ATTENTION BIT WRITTEN

;WRITE ATTENTION BIT DID NOT SET PORT REQUEST

; CONTROLLER SELECT SWITCH ON DRI!E»NQT IN 'R/B’

SEQ 0039




MD-11-DZRMG-A,RM03 DUAL PORT LOGIC TEST - PART |

DZRMGA.P11
1:%1
1850
2l B
1833 881754
1854 001766
1855
1856
1857
1858 001770
1859 001772
1860 001774
{gsl 001776
1865
1864
1865 002000
1866 002002
1867 002004
1868 002006
1869
1870
1971
.872 002010
1873 002012
1874 002014
1875 002016
1876
1877
{e;e 2020

U

1893 002032
1881 002024
1882 002026
1883
1884
1835
1886 002030
1887 002032
1888 002034
1889 0020
1890
1991
=
139*4 %83
189S (Q0cU4M
1896 46
16897
1898
1899
1300 002050
1301 002052

01-RUG-77 10:58

{88278

075166
100010
100534
100636

075235
077366
100460
100614

075323
077150
100430
100621

075405

075474
077150
10030
100621

075567
077356
100326
1006:4

075650
077270

075743
100106

B¢
:ERROR 46
EM46
OHY6
DTH46
OF 31
:ERROR 47
EMY?
OHe3
DTe3
DF
:ERROR 50
EMSO
DH13
DT13
OFS

: ERROR 51

:ERROR 53

EMS3
DH23
DTl
DF1

:ERROR SY4
EMSY
DH22
DTSH
DF31
. ERROR S5

EMSS
DHSS

MO3

MACYLl 30(1046)
ERROR POINTER TRBLE

01-AUG-77 11:02 PRGE 38 SEQ 0040

:CAN’T ACCESS DRIVE THROUGH EITHER PORT

sATTN BIT FOR SEIZING PORT NOT CLERRED BY DRIVE CLEMR

;ATTN BIT FOR OPPOSITE PORT CLERRED BY DRIVE CLEAR COMMA

sATTN BIT NOT CLEARED BY ..ASSBUS INIT, DRIVE IN NEUTRAL

sATTN BIT SET AFTER TIMEOUT, 'ERR’ SET, NO REQUEST

;CAN'T READ ATTN BIT FROM OPPOSITE PORT

;RELEASE COMMAND RECOGNIZED WHEN ISSUED BY NON-SEIZING P

; TIMEOUT ONE-SHOT IS LESS THAN S00 MS
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MO-11-DZRMG-R,RMO3 DUAL PORT LOGIC TEST - PART | MACY11 30(1046) O!-RUG-77 11:02 PHRGE 39 SEQ 0041
DZRMGR.PI11 0fi-RUG~77 10:58 ERROR POINTER TABLE
Y 6 T
{305 BBsge! 1BRRSP Brzz
1904
iggg ; ERROR S6
1 076010 EMSE :RH11 DIDN’T RESPOND TO RDDRESSING
! 822 18 1;“ DHS6
1 Yy 1 e D156
191 066 100653 DFS6
1911
1912
1913 ;ERROR 57
1914 002070 076052 EMS? :PORT REQUEST FLOPS WRONG
1915 002072 100173 DHS?
1916 002074 100576 D157
1317 002076 100621 DFS
1918 :ERROR 60
1320 002i00 076113 EMG0 sATTENTION BITS NOT RESET BY RMAS
1321 7202102 076700 DHS
1922 002104 100356 DTS
{gsa 002106 100621 DFS
lgsg :ERROR bl
l 002110 076157 EMSL sATTENTION NOT RESET 8Y GO
1927 002112 077366 © DH23
1928 002114 100460 D723 y
lqgg 002116 100614 DF1
190
1931 ;ERROR B2
lqgs 805120 076211 EMB2 sATTENTION RESET BY GO WHEN NOT SEIZED
19 02122 077150 DHI13
1934 002124 100430 D713
iggg 002iee 100621 DFS
1937 +ERROR 63
1938 002130 076257 EMB3 ;DRIVE SEIZED BY UNIT READY CHANGE
1939 002132 077644 DH36 ,
1940 002134 100506 DT36
}g:é 002136 100642 DF 36
143 :ERROR B4
J944 002140 076321 EMEY ;ATTENTION NOT SET BY UNIT READY CHANGE
1945 (002142 076754 DH?
1946 002144 100410 D17
1947 002146 100627 DF?7 . 4
1948
194 sERROR 65
1 002150 076370 EMES ;VV NOT RESET BY UNIT READY
1951 002152 076700 DHS
1952 2154 100356 DTS
1963 002156 100621 DFS
128
1?_59 ; ;**4'***5***l"l***I’**********************************************
1."




BOY

MD-11-DZRMG-A,RMO3 DUAL PORT LOGIC TEST - PART | MACY (1 -AUG-77 11:02 PAGE 40 SEQ 042
OZRMGA.P11  'O1-RUG-77 10:58 STRRTUP AND mmm.xﬁrfgu %%xr&
}ggg .SBTTL STARTUP AND INITIALIZATION ROUTINES
i %IIJ HH 3036395 35 36 36 0 36 35 38 3 30 30 3 4 30 96 9098 3600 38 030 30 98 3 30 0 98- 38 8 JHIE 96 3 356 98 3 26 98 0% 3 3 98 96 2 30 36 3 3% 3 36 2 36 3% 3 3 % %
1962 002160 005037 001302 START: CLR CHGADR -CLEAR THE 'CHANGE RH11 ADDRESS’ INDICATOR
1963 002164 000403 BR STRRT? GO _TQ THE START
1964 002166 012737 177777 001302 STARTL: MOV 8-1,CHGROR “SET THE 'CHANGE RH11 ADORESS’ INDICATOR
1965 002174 (0O0000S START2: RESET :CLEAR THE BUS
1966 LSBTTL INITIALIZE THE COMMON TAGS
1967 . >CLEAR THE COMMON TAGS (SCMTRG) RRER
1968 002176 012706 001100 MOV $SCMTAG, Rb . FIRST LOCATION TO BE CLERRED
1969 002202 005026 CLR (RE)+ : :CLEAR MEMORY LOCATION
1970 002204 022706 001140 CHP 8SWR,R6 ; ; DONE?
1971 002210 001374 BNE .6 ::LOOP BACK IF NO
19;5 002212 012706 001100 MOV csrﬁx gs : 'SETUP THE STACK POINTER
19 .- INITIALIZE A FEW VEC! :
1974 002216 012737 066202 000020 MOV 8$SCOPE, 98I0TVEC ;;I0T VECTOR FOR SCOPE ROUTINE
ita?s 002224 0{27733; noaa'ﬁ 000022 Hngx 8340 a:igmc«»ac;;tevg 7CTOR o ROUTINE
13;? % 815737 %:m %32 MOV m& c‘i‘é ;E&ng
1978 002246 012737 0712 000034 MOV SSTRAP, JSTRAPVEC : : TRAP VECTOR FOR TRAP CALLS
1979 002254 012737 000340 000036 MOV 8340 gbmvsc»:a;ttva. 7
1880 uG2262 013737 065572 065564 MOV SENDLT, SEOPCT  ; ;SETUP -PROGRAM COUNTER
1981 002270 005037 001176 CLR STIMES : INITIALIZE NUMBER OF ITERATIONS
1982 002274 005037 001200 CLR SESCAPE : :CLEAR THE ESCAPE ON ERROR AODRESS
1983 002300 112737 00000! 001115 MOVB 81, SERMAX :1ALLOW ONE ERROR PER TEST
1984 002306 012737 002306 001106 MOV 8. SLPADR s INITIARLIZE THE LOOP RDDRESS FOR SCOPE
1985 002314 012737 002314 001110 MOV 8. SLPERR ::GETUP THE ERROR LOOP ADORESS
1986 . :SI2E FOR A HARDWARE SWITCH REGYSTER. IF NOT FOUND OR IT IS
1387 !'EQUAL TO R “-1%, SETUP FOR A SOFTWARE SWITCH REGISTER.
1388 002322 013746 0000DY MOV JBERRVEC, - (SP) ; ; SAVE ERROR VECTOR
1989 012737 002362 00000M MOV 8648, ISERRVEC  ;:SET UP ERROR VECTOR
1990 0023M 812737 177570 DO1140 MOV s SWR : 1SETUP FOR A SHICH REGISTER
1991 002342 012737 177570 001142 MOV $0DISP,CISPLAY ;;AND A HARDWARE DISPLAY REGISTER
1932 002350 022777 177777 176562 CMP 8-1, 3SR : 1TRY TO REFERENCE HARDWARE ShR
1993 002356 0010i2 BNE 668 ' 'BRANCH IF NO TIMEOUT TRAP OCCURRED
1994 JIAND THE HARDWARE SWR IS NOT = -I
1995 002360 000403 BR 65% :'BRANCH IF NO TIMEOUT
199% 002362 012716 002370 BYS: MOV 865$, (SP) ::SET UP FOR TRAP RETURN
1997 002366 000002 RTI
1998 002370 012737 000176 001140 658: MOV #SWREG , SWR . :POINT TO SOFTWARE SWR
1999 002376 012737 000I74 001142 MOV sDISPREG, DISPLAY
22% 002404 012637 000004 66S: MOV (SP)+,38ERRVEC ;;RESTORE ERROR VECTOR
2002 002410 005227 177777 INC s-1 :FIRST START ?
2003 002414 001002 BNE 18 :BR_IF NOT
2004 002416 104401 071322 TYPE TITLE - TYPE PROGRAM NAME
2005 002422 004737 067644 18: JSR AC. STKINT ‘SETUP THE TTY KEYBOARD
2006 SBTTL GET VALUE FOR SOFTWARE SWITCH REGISTER
2007 0024233 oo§737 000042 ggg g;:a ;;m RwNF ING UNDER XXDP/RCT?
5% N 53929 001140 000176 CMP SWR , $SWREG Eisorrumé sﬁ?cu REG SELECTED?
2010 002442 001005 BNE 68$ : 'BRAIYCH IF NO
2011 002444 104406 GTSWR :1GET SOFT-SWR SETTINGS
2012 002446 000403 BR 68§
2013 002450 112737 000001 001134 678:  MOVB  #1,SAUTOB : :SET AUTO-MODE INDICATOR




CO4

RGP R T e o s B 1% % 00

2014
201S

5319

2018

L

LR

2

0030S0
071425

000006
177770
001224

1
001264
001270
001272
065746

002676
071553

177776
001207
001304
001100
065746

067644
001300
001100
000001

000007

001226
001226

001230
001230
001230

001236

001115

cs:

38:

;ROUTINE TO GET
EXEC:

JSR

RESET
CLR
TYPE
MOV
MOV
JSR
NOP
JSR
CLR
CLR
MOVB

PC, CHANGE
LENTERA

(SP)+,PORTA

ggﬁm 4
L&JTR PORTB

PORTB'

816, PORTB

PORYA -(SP)

84Ce, lSP)

(SP)4 PORTB
PORTAIS

ﬁoarn -(SP)

l

0
PORTBIS
PORTB, - (SP)

PC, CKCLK
EXEC
“NOCLOCK

33

; CHECK/CHANGE THE RHH ROORESS

ERTER, L peRess

;STORE THE ADDRESS

ﬁ! }F WSS TOO LARGE

: TYPE ADDRESS ERROR MESSAGE

GBEW&TI'EPORTBMSS

: INCREMENT THE ADORESS
:LEAVE BIT O
,PUT Pom A nnogsss ON THE STACK
:§ET ngs a 2 IN PORT B RDDRESS
,,savz PORTA ron TYPEOUT
PORT A_ADORESS
-—OCTAL ASCII
,,TYPE 1 DIGIT(S)
,,swmsss LEADING ZEROS
PORT B IS
: :SAVE PORTB FOR TYPEOUT
,,rvpc PORT B_RDORESS
--0CTAL ASCII
,TYPE 1 DICIT(S)
_LEDIM ZEROS

:GENERRTE RDORESS orsonxvz NOT TESTED

CEERRR¥T§EEU?NONéTSH8R anﬁi LOCATION

SR B Lo Vi L
%&ﬁ % %T VALUE LOCATION

SETI.P CLOCK

;CLOCK HAS BEEN STARTED

:NO_CLOCK ON SYSTEM

'FATAL ERROR
* INTERLOCK THE HALT

THE TEST NUMBER FROM THE OPERARTOR

PS

SCRLF
$RMADR, RO
$STACK | SP
PC, CKCLK

PC, STKINT
KYBCTL
$PASS

81, SERMAX

; CLEAR EVERYTHING

(C:hEFLR THE PROCESSOR STRTUS WORD
:RH11 ADDRESS FOR INDEXING

:LORD STACK POINTER

:START THE CLOCK

RETURN IF NQ CLOCK

: INITIARLIZE THE KEYBOARD

CLEFR ?INGLE TEST INOICQTOR

:SET ERROR HQX TO l




MD-11-DZRMG-AR,RMO3 DUAL PORT LOGIC TEST - PART 1 MACYLl 30(104) 01-RUG-77 11:02 PAGE 42 SEQ 0044
DZRMGA.PI1 O1-AUG-77 10:58 GET VALUE FOR SOFT SWITCH REGISTER
2070 002750 012737 002750 %uog ngv I.,SLPQDR: mx;m sm}nng FOR t% noom:oN Egggﬂ I
111 v s
BETeh NG5 BTk s e "redlS ANITIoh ¥Ed
20;3 ) ao3e MOV T (SP)+.R1 iCET THE NTO Rl
5875 %;775 &S?ﬂ BNE afp ' @TIF NOT ££R8
2076 002776 000137 003164 JMP TST1 smm ZERO - PERFORM ALL TESTS
77 137 101000 2s: CMP gé,mxm } nm GREATER THAN MAXIMUM
5373 BLE BR If LE
2079 003010 104401 071642 TYPE BRDNO em
2080 003014 000763 BR is : TRY ncmu
2081 003016 005301 3s: DEC Rl : DECREMENT ENTRY
2082 003020 006301 ASL R1 'SHIFT IT LEFT
2083 003022 016137 100654 003046 MOY TSTADR(RL,,48 :GET THE TEST ADORESS
2084 003030 00S237 001300 INC KYBCTL SET s?*"?fém?“ mmcmon
2085 012737 000001 001104 MOV 8] SICNT
2086 003042 000177 000000 P AT ; GO TO THE s&zcrsn TEST
2087 000000 4§: .WORD O n:sr ADDRESS GOES HERE
2089 :CHANGE THE RH11 UNIBUS RDDRESS USED BY THE PROGRAM
2091 003050 005737 001302 CHANGE: TST CHGRDR - CHANGE THE RODRESS ?
2092 003054 00142] BEQ 3¢ :BR IF NOT
2033 003056 005037 001302 CLR CHGROR :CLEAR THE INDICATOR
2094 003062 104401 071702 18: TYPE ADDRIS :TYPE OUT WHAT THE PRESENT RDDRESS IS
2095 003066 013746 001304 MOV $RMAOR, - (SP) :PUT THE ADDRESS ON THE STACK
gg% %;qa 183302 TYPOC : TYPE THE RCTURL RDDRESS
104401 001207 TYPE  ,SCRLF ' CR-LF
2098 003100 104401 071762 TYPE  |NTRHI1I 'ASK FOR NEW ADDRESS
2099 003104 104412 ROOCT
2100 003106 00S716 TST (SP) 0 OR 'CR’ ENTERED ?
2101 003110 001402 BEQ 2§ ' BR rr EITHER ENTERED (NO ADDRESS CHANGE)
2102 003112 011637 001304 MOV (SP) , SRMADR *NEW RH{1 RDDRESS
2103 003116 005726 28: TST (spyd :CORRECT THE STACK POINTER
2104 003120 012737 003140 000004 38: MOV 84S I8 :LORD TRAP ADDRESS
2105 003126 013700 001304 MOV SRMADR, RO ‘RH11 RDORESS
2106 003132 00S760 000002 TST RMUC (RO) :SEE IF RMI1 RESPONDS A1 THAT ADDRESS
2107 003136 000404 BR c§ :BR, RHI! ALIVE AT PRESENT AODRESS
2108 003140 104056 4§ : ERROR 56 : NO' RESPONGE TO RDDRESS
2109 003142 062706 000004 ADD 84, SP ‘RESET THE smcx POINTER
guo oogx% 00074 5 BR 18 'GET
111 0031s0 012737 000006 000004 SS: MOV 86, 314 : RESTORE n-: vsc on
SH% 003156 000207 RTS PC : RETURN
Sﬁg H ;*l*I*illilil!l!!l»l*li!ll!llill!li****!!!*iiil!!**!!*!ii**l*l*!*
SH‘?’ .SBTTL #x% TESTS »¥¥
S{ {g £ I O HENHH O HHEHHHHHNEHHHHHHEE X
2120
Sigé 003160 013700 001304 TST1AA: MOV SRMADR, RO : :RESTORE RO AFTER END OF PRSS
2leld H s HRBEEENEE R EEE NI BT I 23336 3 2 3 363 36 3 36 36 3 6 36 96 3 36 3 36 3 3 X 36 3 3 36 36 3% 3 3 ¥ 3
gig«g hesr 1 NEUTRAL ACCESS TEST
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PORT LOGIC TEST - PRRT 1 éé ?E +0‘*6) 01-AUG-77 11:02 PAGE 43
10:58 Tl NEUTRAL RCCE

lVERIFY THAT THE DRIVE IS ACCESSIBLE TO BOTH PORTS

;* T VERIFY THAT T PRESENT, THAT T
L 85&52 ERAVEM. P&RT ?Em?"f& ﬁxve ﬁ ONLINE (RMDS! HAS
g "MOL', ’'PGM’ okv BITS SET), AND THE THE DRIVE SERIAL
,: ruer.h READ ?moucﬂ eom PORTS IS THE SAME.
: : B. THE TEST 1S REPERTED THROUGH BOTH PORTS.
?s¥**i*ll!il**li*ll!lli!llll*ll!!l!l!!iliiii*i!!ll*l!ill!!ii!ll*l
1:
ST KYBCTL Psnrommc OMLY SINGLE TESTS ?
BEQ 28 an IF NO
BPL is BR IF JUST ENTERED TEST
IMP EXEC RETLRN 3 GET NEXT TEST NUMBER
18: MOV $-1, KYBCTL :SET SINGLE TEST INDICATOR
2s: MOVB  #1,$TSTNM : TEST NUMBER
MOV sTESTI,SLPADR  ;LOAD LOOP ON TEST ADDRESS
MOV $TEST] ' SLPERR Lono LOOP ON ERROR RODRESS
MOV 81, STIMES ::DO 1 ITERATION
TESTL: MOV sstack, sp tono THE STACK POINTER
MOV CLR, mcsamm INITIALIZE THE MASSBUS

o 23636 3 336 36 3 36 36 36 36 96 3 35 38 36 3 3 36 3 3¢ 3 3 3636 3 38 36 3 3 36 3 3 3% 33 3 398 34 3 3% 36 % 3 % 3 3 3 3 3 3% 3 3 3 % % 3 % % % %
s’/smrv THAT DRIVE IS PRESENT THROUGH PORTS R & B

MOVB
MOV
TST
CLR
MOV
MOV
RDD
CLR
MOV
BIC
CMP
BEQ
MOV
BIC
BIS
ERROR
COoM
buS: NOP
TS7T
BEQ
MOV
MOVB
MOV
TST
CLR
ol
MOV
ADD
CLR
MOV

PORTA,RMCS2(RO)

:SELECT PORT A

PORTA.PTNBR ;MOVE PORT ADORESS TO LOCATION FOR TYPEOUT

RMDS1 {RO) -SEE IF DRIVE (PORT A) PRESENT

CKERR :CLERR THE ’CHECK ERROR’ INDICATOR

RMCS2 (RO) saoom -GET CONTENTS OF RMCS2

#RMCS2, SBORDR  ; FORM REGISTER ADORESS OF ERROR MESSAGE

RO, SBOADR 'ADD RH11 ADDRESS

SGODAT L WHAT nscxgrgnis SHOULD BE

$B00AT,STMPQ  :MOVE REGISTER CONTENTS TO ’STMPO’

$1CNED $TMPO  ; SAVE SPECIFIED BITS

SGDDAT STMPO ' ;COMPARE THE BITS

648 ;BR IF OK

SBODAT, STMPY  ; COPY ?m DATA’

sNED, StHPY :CLEAR THE MASKED BITS

§TMP4, SGDDAT ;'oa' WITH GOOD DATA FOR TYPEOUT

37 ' TYPE MESSAGE 37

CKERR 'GET THE REGISTER COMPARE ERROR INDICATOR

CKERR :WAS 'NED’ SET ?

_+10 :BR_IF NOT

8CLR,RMCS2(R0)  ; ISSUE mssaus INIT TO CLERR ’'NED’

PORTS,RMCS2(RC) ' :SELECT PORT B

PORTB,PTNBR ;MOVE PORT RDDRESS TO LOCATION FOR TYPEOUT

RMDS1[RO) ;SEE_IF DRIVE (PORT B) PRESENT

CKERR :CLEAR THE 'CHECK ERROR’ INDICATOR

RMCS2 (RO) . SBODAT' :GET CONTENTS OF RMCS2

$RMCS2, $B0RDR roén REGISTER RDORESS OF ERROR MESSAGE
RO, SBDADR :R0D RH11 BASE RDDRESS

scbom uum REGISTER SHOULD BE

$BODAT, STMPO MOVE REGISTER CONTENTS TO ’'$TMPO’

SEe 004S




M0-11-DZRMG-A, RM03 DUAL PORT LOGIC TEST - PART 1
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MCYIé '}!Eé%mﬁ) 01-RUG-77 11:02 PAGE 44

NEUTRAL RCCES

$4CNED,STMPO  ;SAVE SPECIFIED BITS
SGDORT, STMPO ; COMPARE THE BITS

?B&m STHPY 'EM"% DATA’

o MG X -,

o g,

CKERR ;SET THE REGISTER COMPRRE ERROR INDICATOR
CKERR ;WAS "NED’ SET 7

.+10 ;BR_IF NOT
8CLR,RNCS2(R0) ;ISSUE MARSSBUS INIT TO CLEAR ’'NED’

HH 3303 3 3 3 3 36 5% 3638 35 36 96 3 3 35 9636 96 38 38 3 36 369 36 38 3 9 3 3 3 3 9653 % 39 3 3 3 9 3 36 9% 9 32 B 33 3 9 3 3 2 3 % % %
:CONFIRM THAT DRIVE IS AN RMO3 AND IS DUAL PORT

PORTA,RMCS2(RO)  ; SELECT PORT A
PORTA PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEQUT
CKERR :CLEAR THE 'CHECK ERROR’ INDICATOR
RMDT(RO),$SBODAT ’:GET CONTENTS OF RMOT

sRMDT, S3ORDR  ; FORM REGISTER ADDRESS OF ERROR MESSAGE
RO, SBORDR :ADD RH11 BASE RDORESS

8024024, SGDDAT  ; WHRT REGISTER SHOULD BE

$B0DAT, §TMPO  :MOVE REGISTER CONTENTS TO 'STMPQ’
84C177774, $TMP0 ' :SAVE SPECIFIED BITS

SGODAT,STHPO  ; LOMPARE THE BITS

68% ;
$BDDAT, STMPY  ; COPY §m DATR’
8177774 STMP4  :CLEAR THE MASKED BITS
§TMPY, SGDDAT  ;’OR’ WITH GOOD DATA FOR TYPEOUT
: TYPE MESSAGE |
CKERR SET THE REGISTER COMPARE ERROR INDICATOR

PORTB,RMCS2(RO) SELECT PORT B
PORTB.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
CKERR ;CLEAR THE ’'CHECK ERROR’' INDICATOR

RMDT(RO) , SBODAT ' :GET CONTENT RMOT
;OMTRQMC : FORM REGISTER 308&55 OF ERROR MESSAGE

[ ]

-ADD RH11 BASE RDDRESS
8024024, SGODAT  ;WHAT REGISTER SHOULD BE
SBOORT,$TMPO  ;MOVE REGISTER CONTENTS TO 'STMPO’
$tC177774, $TMPO ' :SAVE SPECIFIED BITS
SGODAT,STAPG  ; LOMPARE THE BITS

708 :BR IF 0K
$BDDAT, STMPY :COPY 'BAD DATA’

£17777% STMPY  :CLEAR THE MASKED BITS

$TMPY, SGDDAT :"OR’ WITH GOOD DATA FOR TYPEOUT

1 : TYPE MESSAGE 1

CKERR ‘SET THE REGISTER COMPARE ERROR INDICATOR

s+ FHHEEIHE I I HHHEE R R R R R
:VERIFY THROUGH LOTH PORTS THAT THE DRIVE IS ON LINE AND IN NEUTRAL

DZRMGA.P11 01-AUG-77 10:58
2182 00M70 042737 167777 001164 BIC
2;83 003476 023737 001124 001164 CcMP
001174
e B2 020 oum g
IR, ¥/
s1% SRR Ty o oo ERon
2{89 00353e 005137 001250 668 coM
519) %Rk B9 wieso ey
2192 003s44 001403 BEQ
g{g& 003s46 012760 000040 000010 MOV
2195
219%
2197
2198 003554 113760 001224 000010 MOVB
2199 013737 001224 001240 MOV
2200 003570 005037 001250 CLR
2e0l 003574 016037 000026 001126 MOV
2202 003602 012737 000026 001122 MOV
203 003610 001122 RDD
2204 003614 012737 024024 001124 MOV
EEm L on B &
g?% 3636 E’on? 00lled 00lieM CMP
cc08 003644 001414 BEQ
SSUQ 46 gl‘ 37 00liee 001174 MOV
10 5y 737 1777749 001174 BIC
ecll 003662 053737 001174 001!leM BIS
2212 003670 10400l ERROR
2213 003672 005137 0012S0 COM
22l4 003676 000240 68%: NOP
2215 00 113760 001226 000010 MOVB
2216 003706 013737 001226 001240 MOV
2217 003714 005037 001250 CLR
2218 003720 016037 001126 MOV
2219 003726 012737 000026 001122 MOV
ceel 00373 060037 001122 RDD
22l 012737 024024 001124 MOV
AEmaE A W
2%5’4 w?VEE E’S;W 001124 001164 CHP
2225 003770 001414 BEQ
2eeh 013737 001126 001174 MOV
44 042737 177774 001174 BIC
cces 053737 001174 00114 BIS
2229 004014 104001 ERROR
2230 004016 005137 001250 COM
2231 004022 000240 708: NOP
2232
2233
2234
2235
€236 004024 113760 00l224 000010 MOVB
2237 004032 013737 001224 001240 MOV

PORTA,RMCS2(R0O) ;SELECT PORT A
PORTR, PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT

SEQ 0046
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MD-11-DZRMG-A,RMO3 DUAL PORT LOGIC TEST - PART 1 MACY1l 30(1046) Ol-AUG-77 11:02 PAGE 45 SEQ 0047
0ZRMGA.P11  '01-RAUG-77 10:58 Tl NEUTRAL RCCESS TEST
2238 0040M0 005037 001250 CLR CKERR :CLEAR THE 'CHECK ERROR' INDICATOR
2239 0040M4 016037 000012 001126 MOV RﬂDSé(REBOEBROR GET CONTE"TEDSEE 0}
2240 004828 12737 000012 001l122 MOV rokn nscxsr R ss ERROR MESSAGE
2241 004 : 3?5037 0011 | noe uuh R
s54s B3ubsd B0 BT BBiiEd v !S%a% MOVE Eéﬁrmr%s Y0 *STHPO’
2o44 004100 042737 176777 0O116M BIC 84CPGM’ STMPO sAvs SPECIFIED BITS
2245 004106 023737 001124 001164 CMP SGDDAT , §TMPO COMPARE THE BITS
2ovb 004114 0O0141Y BEQ 728 'BR IF OK
2247 004116 013737 001126 001174 MOV SBDDAT, STMPY copv 'BAD DAIR’
2248 00di2q 042737 001000 001174 BIC sPGM, S TPy :CLEAR THE MASKED BITS
2249 004132 053737 001174 OO01l2y BIS $TMP4 SGDDAT  ;'OR’ WITH GOOD DATA FOR TYPEOUT
2250 004140 104045 ERROR 45 :TYPE MESSAGE 45
2251 004142 00S137 001250 con CKERR :SET THE REGISTER COMPARE ERROR INDICATOR
2252 004146 000240 728:  NOP
2253 004150 005037 001250 CLR CKERR :CLEAR THE 'CHECK ERROR’ INDICATOR
2254 004154 016037 000012 001126 MOV RMDS1(RO), SBODAT' :GET CONTENTS OF RMDSI
2255 004162 012737 000012 001122 MOV SRMDS ] , SBORDR ro&n REGISTER RDDRESS or ERROR MESSAGE
2256 004170 050037 001122 ADD RD saohon RH11 BRSE ADDRESS
aegg 004179 012737 010600 001124 MOV scobnr unnr REGISTER SHOULD BE
2258 004202 01 737 1126 001164 MOV GISTER CONTENTS TO 'STMPD’
2259 (004210 042737 167177 001164 BIC lfClO?bg STHPO Sg:;qEEE?IFIE? BITS
o0 004216 023737 001124 001164 CMP tMPo
2061 00424 001414 BEG
2262 004226 013737 001126 001174 MOV saoonr STMPY opv 'eno DATA’
2263 004234 (42737 010600 001174 BIC 810600  $TMPY CLERR THE MASKED BITS
cobY 004242 053737 001174 001124 BIS §TMPY,$GODRT  ;'OR’ WITH GOOD DATA FOR TYPEOUT
2265 004250 104002 ERROR 2 : TYPE MESSAGE 2
cebb 004252 005137 001250 COM CKERR ' SET THE REGISTER COMPARE ERROR INDICATOR
22067 004256 000240 748:  NOP
2268 004260 113760 001226 000010 MOVE  PORTB,RMCS2(RO) :SELECT PORT B
2269 004266 013737 001226 001240 MOV PORTB. PTNBR novt PORT ADDRESS TO LOCATION FOR TYPEOUT
2270 004274 005037 001250 CLR CKERR' CLEAR THE 'CHECK ERROR’ INDICATOR
2271 004300 016037 000012 001126 MOV RMDS1(RO), $BODAT' :GET CONTENTS OF RMDSI
2272 004306 012737 000012 001122 MOV $RMDS], SBORDR ; FORM REGISTER ADDRESS OF ERROR MESSAGE
2273 004314 001122 ADD RO, SBDADR QDD RH11 BRSE RDDRESS
2274 (004320 012737 001000 001124 MOV $PCM_$GDDAT ;WHAT REGISTER SHOULD BE
2275 004326 013737 001126 001164 MOV SBODAT,STMPO ' :MOVE REGISTER CONTENTS TO ’STMPO’
2276 004334 042737 176777 00116 BIC $1CPGM. §TMPQ ; SAVE SPECIFIED BITS
2277 004342 023737 001124 001164 CMP SGDDQT $STMPO0 ' ;COMPARE THE BITS
2278 350 001414 BEQ 768 BR IF OK
2079 004352 013737 001126 001174 MOV SBODAT, STMPY  :COPY ’'BAD DATA’
2080 004360 042737 001000 001174 BIC sPGM, StMPY :CLEAR THE MASKED BIT
20281 004366 053737 001174 001124 BIS STMP4 SGDOAT  ;'OR’ WITH GOOD DATA FOR "YPEOUT
2082 004374 104085 ERROR 45 :TYPE MESSAGE Y45
2283 004376 005137 001250 COM CKERR :SET THE REGISTER COMPARE ERROR INDICATOR
2284 00M402 000240 768:  NOP
2285 004404 00S037 001250 CLR CKERR :CLEAR THE 'CHECK ERROR' INDICATOR
2286 (004410 000012 001126 MOV RMOS1(RO), SBODAT' :GET CONTENTS OF RMOSI
2287 00vM16 012737 000012 001122 MOV SRMDS | , $BORDR Foén REGISTER ADDRESS OF ERROR MESSAGE
2288 004424 001122 ADD saohon RH11 BASE ADDRESS
2289 004430 012737 010600 001124 MOV leL 'DRY, scobnr -WHAT REGISTER SHOULD BE
2090 004436 013737 001126 001164 MOV seoonr §TMPO’ " ;MOVE'REGISTER CONTENTS TO 'STMPO’
2291 OMMY444 042737 167177 00116M BIC #1C10600,STMPO0  :SAVE SPECIFIED BITS
2292 004452 023737 001124 0O0116M CMP SGDDAT,StMPO i COMPARE THE BITS

2293 004460 001414 BEQ 783 iBR IF 0K
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MD-11-DZRMG-A,RMO3 DUAL PORT LOGIC TEST - PART | MACY1l 30(1046) O01-RUG-?7 11:02 PAGE 46
DZRMGA.P11  01-AUG-77 10:58 T1 NEUTRAL ACCESS TEST
2294 004462 013737 001126 001174 MOV $BDDAT,STMP4  ;COPY ’BRD DATR’
2295 004470 042737 010600 001174 BIC $10600,STMPY  ;CLEAR THE MASKED BITS
5539 883255 ?33585 001174 001124 Eés 3rnpq,tcoonr : "OR’ :éru DATA FOR TYPEOUT
ROR S TYPE MES
2298 004506 005137 001250 coM CKERR :SET THE REGISTER COMPARE ERROR INDICATOR
gggg 004512 000240 788:  NOP
2301 HH RRRERNNREEEEREREEEEERREREEEEEEEEREEFEEEEREFXEREERERXRERREEEEE TS
gggg : VERIFY THAT DRIVE SERIAL MUMBER SEEN THROUGH BOTH PORTS IS THE SAME
2304 004514 113760 001224 000010 MOVB  PORTR,RMCS2(RO) ;SELECT PORT R
2305 004522 016037 000030 00L12Md MOV RMSN(ROD), SGDOAT ;STORE THE PORT A SERIAL NUMBER
2306 004530 113760 001226 000010 MOVB  PORTE,RM(S2(RO) ;SELECT PORT B
2307 DO4536 016037 000030 001126 MOV RMSN(RO), $BODAT ;STORE THE PORT B SERIAL NUMBER
2308 004544 023737 001124 001126 CMP SGOURT, SADOAT  ;ARE THEY THE SAME ?
2309 004552 001406 BEQ 18 :BR IF THEY ARE
2310 004554 104003 ERROR 3 :REPORT THE ERROR
agl 833?25 882777 100000 174354 BIT #SW1S, JSWR :HALT ON ERROR ?
231 4 001001 BNE 18 'BR IF SET - PROGRAM HAS ALREADY HALTED
2313 004566 000000 HAL T :HALT, POSSIBLE CRBLE CONNECTION PROBLEM
ggig 004570 000004 18: SCOPE :LOOP' ?
2316
edl? HH 336 3 0036 3 200 36 36 96 36 36 98 3 3 3 36 6 38 38 3 36 363 38 36 96 3 36 3 3 36 9 9 3 3 3 3 3 3 9 3 98 9 3 3% 3 36 36 3¢ 36 36 3¢ 36 3 3¢ 3 4 3¢ 3
gg{g ;irssv 2 PORT 'A’ SEIZE/TIMEOUT TEST
2320 : ¥VERIFY THAT THE DRIVE CAN BE SEIZED BY WRITING A REMOTE REGISTER AND THAT
Sggé Ly IT CAN Bt RELERSED BY THE ONE SECOND TIMER.
2323 'k A. WRITE 0’'S INTO RMDA THROUGH PORT 'R’; VERIFY THAT THE DRIVE
ggg; % HAS BEEN SEIZED.
 *
2326 ‘% B. READ ERCH DRIVE REGISTER, EXCEPT RMCS1, THROUGH PORT 'B’;
sggg g VERIFY THAT 0’'S ARE READ'FROM EACH REGISTER.
S
2329 ‘¥ C. WAIT FOR THE PORT TIMEOUT TO RELEASE THE DRIVE.
2330 L MEASURE THE DURATION OF THE TIMEOUT ONE SHOT AND SAVE THE
2331 ¥ VALUE FOR LATER USE. VERIFY THAT TIMEOUT RETURNED THE DRIVE TQ
gggg ¥ NEUTRAL. ALSO VERIFY THAT THE DURATION OF THE ONE SHOT IS > 500 MS.
%
233 e o RN E 0630333262063 36 03 3 30 3 36 33 36 3030 30 E 03 0 36 3 3 2 96 06 0 3% 3 3 2 2 % B XN R
2335 004572 téra:
2336 004572 005737 001300 ST KYBCTL : PERFORMING ONLY SINGLE TESTS ?
2337 004576 001406 BEQ 23 :BR IF NOT
2338 004600 100002 BPL 18 ‘BR IF JUST ENTERED TEST
2339 004602 000137 002676 IHP EXEC RETURN 8 GET NEXT TEST NUMBER
2340 004606 012737 177777 001300 |IS: MOV 8-1,KYBCTL :GEY GINGLE TFST INDICATOR
2341 DO46IN 112737 001102 2S: MOVB  #2,$TSTNM s TEST NUMBER
2342 004622 012737 004644 001106 MOV $TEST2,SLPADR  ;LOAD LOOP ON TEST ADDRESS
2343 004630 012737 004644 001110 MOV $TEST2 SLPERR  ;LORD LOOP ON ERROR RDDRESS
2344 004636 012737 000002 001176 MOV 2. STIMES : D0 2. ITERATIONS
2345 004644 012706 001100 TEST2: MOV 8STACK, SP :(ORD THE STACK POINTER
3339 004650 0}2737 000240 177776 MOV 8¢5%32.),2%S  ;SET PRIORITY TO S IN CASE LOOPING
004656 065047 001262 CLR TIMEA :CLEAR TIMEOUT VALUE FOR PORT A
2348 004662 005037 001264 CLR TIMEAP ;CLERR UPPER TIMEOUT TOLERANCE
2343 004666 005037 001266 CLR TIMEAM :CLEAR LOWER TIMEOUT TOLERANCE

SEC 0048
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MO-11-DZRMG-R,RMO3 DUAL PORT LOGIC TEST - PRRT | MRCY1l ?Uflo% )__0]-AUG-77 11:02 PRGE 47 SEQ 0049
DZRMGR.P11 01-AUG-77 10:58 Te PORT 'R’ SEIZE/TIMEOUT TES
0
5321 s s HHENIERIEE IR RIS R I I 00030 30 330 3000 3033 0
2352 ;START THE TIMER
354 004672 00503; 001256 CLR TIME ;CLEAR THE ;bQPBEB TIME COUNTER
3323 004676 0le? 003720 001260 MOV #2000. , WATCH ;SET WATCH 4 MS
2357 s s IR I I I R R R R R R R R RN E
g%% ;SEIZE THE DRIVE THROUGH PORT A
236l 004704 113760 001224 000010 MOVB PORTR,RMCS2(R0O) .SELECT PORT R
2362 004712 013737 001224 001242 MOV PORT>'SEIZPT ;SYORE SEIZING PORT’S ADDRESS
363 004720 005060 000006 CLR  RMDA(RD) ;WRITE RMDA
2364 004724 113760 00lees 000010 MOVB PORTB,RMCS2(RO) ;SELECT PORT 8
€365 004732 013737 00lgee 001240 MOV PORTE,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
2366 004740 013737 001226 001244 MOV PORTB, OPPRT ; "OPPOSITE' PORT RDDRESS
2367 004746 016037 000012 001126 MOV RMDS1LRO), SBODAT' ;SEE_IF DgégEEEEIZED BY PORT A
2368 004754 010037 001122 MOV RO, SBORDR ;RA1I BASE
e369 004760 062737 000012 001122 RDD $RMDS1,SBDADR  ;GENERATE BAD REGISTER ADDRESS
2370 004766 00S037 0011e4 CLR SGDDAT ;REGISTER SHOULD BE ZERO
2371 004772 023737 001124 001126 CMP SGDDAT,$80DAT ;1S THE REGISTER ZERO
2372 005000 001403 BEQ b4S ;BR_IF IT IS
2373 005002 104004 ERROR Y ; REPORT THE ERROR
2374 005004 000137 006136 JMP Ss ;BYPRSS REST OF THE SUBTEST
2375 005010 b4S:
€376 005010 113760 00i224 .0010 MOVB PORTA,RMCS2(R0O) ;SELECT PORT R
2377 005016 013737 001224 0.'1240 MOV PORTA PTNBR _:MOVE PORT ARDDRESS TO LOCATION FOR TYPEQUT
23’8 005024 016037 000012 0C. 126 MOV RMDS1{RO), SBDOAT ;SEE IF SEIZING PORT SEES CORRECT STATUS
2379 005032 042737 020001 001.326 BIC 80M!PIP, SBDDAT ;CLEAR DONT CARE BITS
2380 005040 012737 011600 001lc* MOV #MOL ! PGH! DPR!DRY, SGDDAT ' :EXPECTED STRTUS
2381 013737 001124 001166 MOV SGODAT,STMP1  ;USE GOOD DATA_AS A MASK
2382 005054 005137 001166 COM $THPI ; COMPLEMENT THE EXPECTED STATUS
2383 005060 013737 001126 001164 MOV SBDOAT, STMPO ; SAVE THE RCTURL STATUS
2384 043737 001166 001164 BIC sTHP1 , §TMPO ;CLEARR UNWANTED BITS
2385 005074 023737 00l1!e4 001164 CMP $GDDAT, STHPO ;ARE THE EXPECTED STATUS BITS SET 7
2386 005i02 001401 BEQ (1 ;BR_IF THEY ARE
2387 005104 104005 FRROR 5 ; REPORT THE ERROR
sggg 005106 000240 bSS: Nu?
2390 s ¢ HHAEEEEH IR RN IR I I I 33 33 3 3
gggé :READ THE DRIVE REGISTERS THROUGH PORT G AND STORE THEM ON THE STACK
€393 00S110 113760 001226 000010 MOVB PORTB,RMCS2(R0O) ;SELECT PORT B
2394 005116 013737 001226 001240 MOV PORTB,PTNBR .MOVE PORT RDDRESS TO LOCATION FOR_TYPEOUT
€395 00Sig4 016046 000046 MOV RMEC2{ROD),-(SP) ;STORE REGISTER RMEC2, PORT B, FOR CHECK
23% 005130 016046 000044 MOV RMECI(RO),-(SP) ;STORE REGISTER RMECI1, PORT B, FOR CHECK
2397 00Si34 016046 000030 MOV RMSN(RD),-(SP) ;STORE REGISTER RMSN, PORT B, FOR CRECK
2398 005140 016046 000034 MOV RMOC(RO),-(SP) ;STORE REGISTER RMOC, PORT B, FOR CHECK
2399 00Si44 0l1e046 000032 MOV RMOF (RQ) ,-(SP) ;STORE REGISTER RMOF, PORT B, FOR CHECK
e400 005150 016046 000042 MOV RMER2(R0J,-(SP) ;STORE REGISTER RMER2, PORT B, FOR CHECK
240l 00S'SY 01604 (000020 MOV RMLA(RD),-(SP) ;STORE REGISTER RMLAR, PORT B, FOR CHECK
e402 005160 018046 000026 MOV RMDT(RO),-(SP) ;STORE REGISTER RMDT, PORT B, FOR CHECK
2403 00Sied 016046 000006 MOV RMDA(RO),-(SP) ;STORE REGISTER RMDA, PORT B, FOR CHECK
e404 005170 016046 00CO2M MOV RMMR1 (RO}, -(SP) :STORE REGISTER RMMRI, PORT B, FOR CHECK
e405 N0S174 0le04e 000014 MOV RMERL(RO),-(SP) ;STORE REGISTER RMERL, PORT B, FOR CHECK
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MD-11-DZRMG-R,RMO3 DUAL PORT LOGIC TEST - PART 1 MACY1l 30(1046) O01-AUG-77 11:02 PRGE 48 SEQ 00S0
DZRMGA.P11  ’Ol-AUG-77 10:58 T PORT *A’ SEIZE/TIMEOUT TEST
2406
o407 ; 2 2222222222222 2222222232322 22322233 2223223232222 2233223228
Cmr FOR PORT A TO TIMEOUT

o ah 4
—o38

OO0 NN £ »—

% %Sg& 000012 18: TST RMDS1(RO) ;WAIT FOR THE DRIVE TO TIMEOUT
1 BNE 2$ :BR WHEN TIMEOUT OCCURS

gl? ﬁé;? 001260 TaT WATCH Cl‘Er( MTCH
i ERSOR % I'EOUT HITHIN 2 SECONDS

3
! 2 IMP OUT TIME CHECK
5:1 %553 8”2433 %34 177776 2%: MOV 87432, IS se' éimﬁv T0 ;"50 STOP CLOCK
2417 005230 013737 001256 001262 MOV nns Tzné :SAVE THE ELAPSED TIME FOR PORT A
gx %533 %4537 066142 JSR RS, TOLER : CALCULATE THE TOLERANCE
1 q 1262 .WORD TIMER :TIMEOUT VALUE FOR PORT A
2420 00SovN 012637 001264 MOV sp +,TIME : +26% TOLERANCE
5:155 012637 001266 MOV (SP)+ nnsm : -26% TOLERANCE
5353 X 2212122222222 222:322:3:2:322222 2222323322223 232 2223223223232 32223L°
x ag vsnxrv THAT THE TIMEOUT ONE-SHOT IS AT LERST 500 MS
426 00S254 023727 001256 00076d CMP TIME, #500. uns nen €D TIME AT LERST 500 MS?
5459 005262 103051 BHIS 3% %UR
gzgg 005264 1040SS ERROR 55 REPORT rmsour TOO SHORT
2430 ' 212322222222 2232223233222 2323222232232 2SR 2L
g:gé (/ERIFY THAT THE DRIVE RETURNED TO NEUTRAL ARFTER PORT A TIMED OUT
g:ga 005266 012737 000240 177776 3%: MOV $<5x32.),38P5  ;RESTORE PRIORITY TO §
g:g :VERIFY THRT THE DRIVE IS IN NEUTRAL
2437 005274 00S037 00125 CLR RELERR :CLEAR THE 'RELEASE ERROR ' INDICATOMK
2438 005300 012737 12 001122 MOV SRMOS], SBORDR  :FORM THE RDDRESS OF RHDSI FOR TYPEOUT
2439 005306 060037 %uaa RDD RO, SBDADR ‘ADD THE 1/0 BASE ADDRESS
2440 005312 012737 011600 001124 MOV mbupcn' DPR!DRY, SGDOAT : COMPARISON CONSTANT
2441 005320 113760 001224 000010 MOVB  PORTA,RMCS2(RO) :SELECT PORT A
2442 005326 016037 000012 001170 MOV Rmsuam STMP2 :GET THE omvs STATUS REGISTER FROM PORT A.
2443 005334 042737 024001 001170 BIC sPIP!WRL ! OM, STMP2 :CLEAR DONT CARES
2444 005342 013737 O0CLi70 001164 MOV sTMP2, $THPO’ COPY IT'INTO 'STMFO’
2445 005350 042737 100100 001164 BIC 8ATA'(V. STMPO  :CLEAR PORT OEPENDENT BITS FROM THE COPY
2446 005356 [13760 001226 000010 MOVB  PORTB,RMCS2(RO) ;SELECT PORT B.
2447 00536N 016037 000012 001172 MOV Rnosum) STMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.
o448 (005372 042737 024001 001172 BIC sPIP WRL ! 0N, STMP3 :CLEAR DONT CARES
2449 005400 013737 0Cl1172 001166 MOV STMP3, §THP] ' :COPY IT' INTO ’'STMPL’
2450 005406 042737 100100 001166 BIC 8ATA'OV STMP1  ;CLEAR PORT DEPENDENT BITS FROM THE COPY
2451 005414 023737 001164 001166 CMP sTHMPO, StMP1 1S THE STATUS REGISTER THE SAME FROM BOTH PORTS *
2452 005422 0010 BNE 66S :BR IF NOT
2453 005424 005737 00!led 15T STMPO 'REGISTERS ARE THE SAME: ARE THEY 2ERO ?
2454 00S430 001037 BNE 58S :BR IF NOT
2455 005432 104046 ERROR 46 : REPORT DRIVE NOT IN NEUTRAL OR NOT SEIZED
2456 005434 000137 005620 TP 708 :BYPRSS THE REST OF THE CHECKS
2457 00SY40 013737 001170 001126 668: MOV §TMF2, SBODAT  :SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
2458 005446 013737 001226 001240 MOV PORTB, PTNBR :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
2459 00S4S4 113760 001226 000010 MOVB  PORTB RMCS2(R0O) :SELECT PORT B.
2460 005462 006737 0011eM 157 $THPO’ :SEE IF STATUS EQ O FROM PORT A.

2461 00S466 001414 BEQ 678 tBR IF ZERO s
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MO-11-DZRMG-R,RMO3 DUAL PORT LOGIC TEST - PART | MACYI1 30(1046) O01-AUG-77 11:02 PAGE 49
DZRMGA. 01-RUG-77 10:58 T2 PORT 'R’ SEIZE/TIMEOUT TEST
m %472 8 3537 1240 MOV PORTA, PTNBR ;SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
- R A X i
£ibd %23?3 3E7%5 e e i 2keEHF EPRTUS Ea ZERO FROM PORT B.
2466 BNE 688 ,aa IF NOT
g:zg 177777 001 .34 ©78: MOV 8-1,RELERR 'SET 'RELEASE Emon INDICATOR
ERROR 22 : TYPE ERROR MESSAGE
2469 001170 001126 68S: MOV §TMP2,SBDOAT  :LOOK FOR BIT rnumzs KHEN RMDS1 RERD
2470 00i224 001240 MOV PORTA.PTNBR : CHANGE PORT NUMBER
2471 100100 001126 BiC $ATA' ¢V, §BDDAT ;DON'T CHECK ATTN BIT OR W BIT
2472 001124 001126 CMP $GODAT,$B0DAT  ;ALL BITS OK ?
2473 BEQ 595 :BR_IF OK FROM PORT A.
2474 ERROR ' REPORT ERROR
2475 001172 001126 69S: MOV srnpa $BODAT  ;CHECK RMDS1 FOR BIT FAILURES - FROM PORT B.
247b 001226 001240 MOV PORTB PTNBR ,cmuce PORT NUMBER
2477 100100 001126 BIC SATATYV. SBOOAT :DON'T CHECK ATTN BIT OR Vv BIT
2478 00il24 001126 CMP $GODAT, $800AT sse IF RERD OK FROM PORT B.
2479 BEQ 708 :BR If OK
2480 ERROR 7 : REPORT ERROR
S:Sé 708:  NOP
2‘493 H o JHJE 33306 3 33 26 06 06 3 36 35 36 36 36 36 36 06 98 36 38 96 36 3 36 36 3% 336 96 3% 3 36 3% 36 3 3¢ 36 3 3 36 3 3 3 3696 3 3 3 3 3 % 3 2 % 2 ¥ X
2484 CHECK THE REGISTERS STORED THROUGH PORT B. ALL REGISTERS SHOULD BE ZERO.
g:gg : THE REGISTERS ARE STORED ON THE STARCK.
2487 001 001240 4S: MOV PORTB PTNBR : CHANGE 'PORT NUMBER' TO THE OPPOSITE PORT
2488 00! MOV 0, $BOADR ' BASE ADDRESS FOR REGISTER RMERI
2489 000014 001122 ADD mhem SBDOADR  ;RDDRESS OF RMER] FOR TYPEOUT
2490 001 MOV (sp)+ $BODAT {CHECK THE sronso CONTENTS OF RMER!
2491 BEQ : CONTENTS ZERO ?
gg ERROR s :REPORT THAT PORT B SAW NON-ZERO REGISTER
00 MOV RO, SBDADR :BASE ADDRESS FOR REGISTER RMMRI
24N 00 001122 ADD sRMMR1, SBDADR  :ADDRESS OF RMMR] FOR TYPEOUT
2495 00 MOV (SP)+, $BODAT :CHECK THE STORED CONTENTS OF RMMRI
249 BEQ e : CONTENTS Z2ERO ?
2497 ERROR 6 *REPORT THAT PORT B SAM NON-ZERO REGISTER
2498 00 MOV RO, $BDADR : BASE ADDRESS FOR REGISTER RMDA
2499 00 0gll22 ADD $RMDA, SBOADR : RADORESS OF RMDA FOR TYPEOUT
500 00 MOV (sp)+ $BODAT  ;CHECK THE STORED CONTENTS OF RMDA
01 BEQ : CONTENTS ZERO 7
2502 ERROR s :REPORT THAT PORT B SAW NON-ZERO REGISTER
2603 00 MOV RO, $BDADR : BRSE ADDRESS FOR REGISTER Rnor
2504 00 001122 ADD SRMDT,SBOADR  ;ADDRESS OF RMOT FOR TYPEOU
2605 00 MOV (sm+ '$BODAT  ;CHECK THE STORED CONTENTS or RMDT
ggog BEQ : CONTENTS ZEROQ
a‘50 o011 ggson s : REPORT Tm; PORT B gnngn-zsno REGISTER
Sg% 000020 001122 ADD cnhL . SBDADR 38&% 313“ ﬁ
1 6011 MOV (sm+ $BODAT crccx THE_STORED comsms or RMLA
2515 BEQ 0£m§ nﬁ
51 ERROR s PORT B SAN NON-ZERO REGISTER
2613 0011 MOV RO, SBDADR ense noonsss FOR REGISTER RMER2
2514 000042 001122 ADD SRMER2, $BDADR  ;ADDRESS OF RMER2 FOR TYPEOUT
2515 0011 MOV (sp)+ $BODAT :CHECK THE STORED CONTENTS OF RMER2
2516 BEQ :CONTENTS ZERQ ?
2617 ERROR s :REPORT THAT PORT B SAW NON-ZERO REGISTER

SEQ 00SI
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PO?T LOGIC TEST ;ePQRT lPORT . Sl'lg/?oné ?)TEg*—RUGJ? 11:02 PAGE 50

01-RUG-77 10:58

010037

00S737
001406

100002
000137
012737
12;37
5%
2737
2706

001122 MOV RO, SBDADR anss ADDRESS FOR REGISTER RHOF
380032 001122 ADD #RMOF , SRDADR §H2r RggE 8R YP;
1126 MOV (sp)+ $EODAT CHECK s D CONTENTS OF RMOF
BEG : CONTENTS ZE
ERROR s : REPORT THAT PORT B SAW NON-ZERO REGISTER
001122 MOV RO, $BDADR :BASE ADDRESS FOR REGISTER RMDC
0034 001122 ADD 8RMDC,SEDADR  +ADDRESS OF RMDC FOR TYPEOUT
1126 MOV (SP)+ $BODAT  ;CHECK THE STORED CONTENTS OF RMOC
BEQ et : CONTENTS ZERO ?
ERROR 6 'REPORT THAT PORT B SEES MON-ZERO REGISTER
001122 MOV RO, $BDADR * BASE ADORESS FOR REGISTER RHSN
000030 00li22 ADD $RMSN SBDADR  ;ADDRESS OF RMSN FOR TYPEOU
001126 MOV (SP)+.SBUDAT  ;CHECK THE STORED CONTENTS or RMSN
BEQ et : CONTENTS ZERQ ?
ERROR b : REPORT THAT PORY see; —ZERO REGISTER
001122 MOV RO, $BORDR ,snsz ADORESS FOR REGISTER RME
000044 001122 ADD SRMECI,SBDADR  :ADDRESS OF RMEC1 FOR TYPEOUT
001126 MOV (sp)+ $BODAT  ;CHECK THE STORED CONTENTS OF RMECI
8EQ :CONTENTS ZERO 7
ERROR s : REPORT THRT PORT B SEES NON-ZERO REGISTER
polle2 MOV RO, $BDARDR 'BASE ADORESS FOR REGISTER RMEC2
000046 001122 ROD 8RMEC2, SBDROR  ; RDDRESS OF RMEC2 FOR TYPEOUT
001126 MOV (sp)+ $80DAT  ;CHECK THE STORED CONTENTS OF RMEC2
BEQ : CONTENTS Z2ERQ ?
ERROR s REPORT THAT PORT B SEES NON-ZERO REGISTER
5§: SCOPE :LOOP ?
122222212722 22:2 222322 3223222222222 2222283 22 2232222
iTEST 3 PORT 'B’ SEIZE/TIMEOUT TEST
lVERIFY THAT THE DRIVE CAN BE SEIZED BY WRITING A REMOTE REGISTER AND THAT
;* IT CAN BE RELEASED BY THE ONE SECOND TIMER.
¥ A. KWRITE 0°S INTO RMOA THROUGH PORT °'B’; VERIFY THRT THE DRIVE
= HAS BEEN SEIZED.
‘¥ B. READ EACH DRIVE REGISTER, EXCEPT RMCSI runoucn PORT 'A’;
* VERIFY THAT 0'S RRE READ'FROM ERCH REGIST
‘% C. WAIT FOR THE PORT TIMEOUT TO RELEASE THE DRIVE.
L% MEASURE THE DURATION OF THE TIMEOUT ONE SHOT AND SAVE THE
Ly VALLE FOR LATER USE. VERIFY THAT TIMEOUT RETURNED THE DRIVE T0
¥ NEUTRAL. ALSO VERIFY THAT THE DURATION OF THE ONE SHOT IS >S00 MS.
;sllllll!!lll{*ll!lll!llil**i*i*iill!!i*ii*iii**!*l!*ii!il*&i*li*
13:
001300 157 KYBCTL PERFORHING ONLY SINGLE TESTS ?
BEG 28 ‘BR IF NO
BpPL 15 :BR IF JUST ENTERED TEST
002676 IMP EXEC 'RETURN & GET NEXT TEST NUMBER
177777 001300 1S: MOV 8-1_KYBCTL 'SET SINGLE TEST INDICATOR
000003 001102 28%: MOVE  #3,$TSTNM : TEST NUMBER
00 15 001106 MOV #TEST3,SLPADR  :LORD LOOP ON TEST ADDRESS
12 001110 MOV $TEST3' SLPERR Lono LOOP ON ERROR RDDRESS
000002 001176 MOV 82. STIMES :;D0 2. ITERATIONS
001100 TEST3: MOV $STACK, SP :{0AD THE STACK PGINTER

SEQ 0052
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DZRMGR.P11  01-AUG-77 10:58 13 PORT 'B' SEIZC/TIMEOUT TEST
2574 006216 012737 MOV 8¢5#32.>,38PS  ;SET PRIORITY TO S IN CASE LOOPING
2575 006224 005037 CLR TIMES :CLERR TIMEOUT VALUE FOR PORT B
g% B805N BGeB¥ GR THEE iGLEAR VOTER TAFECHT TRLERGNE
78
2579 - 3 3333 30 3696 6 36 3630 26 3 4 36 36 36 3¢ 36 36 34 36 34 94 3 3% 3 3 3 3 3 3 3% 36 336 3 3 36 3¢ 3 348 3 30 96 36 3 30 6 33 6 3 3 3 3 3% 3 3%
: :START THE TIMER
2682 006240 005037 CLR TIME :CLEARR THE ELAPSED TIME COUNTER
2583 006244 012737 MOV 82000. ,MATCH  ;SET WATCH TO 2000 MS
ea‘ég - 363638 96 36 36 36 36 28 38 3 3 38 36 36 34 36 96 38 3 3 3 3 3 396 338 3 33 3 3 3 3% 06 3 3 3 3% 3 J 396 3 96 9% 3% 3 3 96 20 XX % % %% %%
2587 :SEIZE THE DRIVE THROUGH PORT B
Sggg 006252 113760 MOVB  PORTB,RMCS2(RO) ;SELECT PORT B
asgo 006260 013737 gsx PORT? SEIZPT ;stagsTssrzxnc PORT’S ADDRESS
S§9§ 88%393 ??3928 MOVB LOETR?SHCSE(RO) ’-séLEcr Eonr A
2593 006300 3137 74 MOV PORTA,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
2 006306 013737 001224 MOV PORTA, OPPRT . TOPPOSITE’ PORT ADDRESS
2695 006314 016037 000012 MOV RMDS1LR0), $BODAT’ ;SEE IF DRIVE SEIZED BY PORT B
25% 006322 010037 001122 MOV RO, SBOROR ;RA11 BASE ADDRESS
2597 006326 062737 000012 ADD 8RMDS1,SBDROR  ;GENERATE BAD REGISTER ADDRESS
2538 (006334 00S037 001124 CLR $GDDAT sREGISTER SHOULD BE ZERO
2699 (00340 023737 001124 CHP $GDDAT,SBODAT  ;iS I REGISTER ZERO
2600 006346 001403 BEQ 64§ ;BR_IF I7 1S
2601 006350 104004 ERROR 4 ' REPORT THE ERROR
2602 006352 000137 007504 IMP cs :BYPRSS REST OF THE SUBTEST
2603 006356 BYS:
5282 883326 613739 83 ses 000010 MOVB  PORTB,RMCS2(RO) ;SELECT PORT B
4 0137 1226 001240 MOV PORTB PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
2606 2 016037 0000J2 DO1i26 MOV RﬂDS#!RO) $8D0RT ;SEE IF 5E££IHSNP°RT SEE? CORRECT STATUS
5207 006400 8q57g7 020001 001126 BIC sOM!PIP, $B0OAT . CL T CARE BITS
08 006406 012737 011600 001124 MOV $MOL ! PGA! DPR DRY, $GDDAT ' :EXPECTED STATUS
2609 006414 013737 001124 001166 MOV SGODAT,STMP1  ;USE GOOD DATA RS A MASK
2610 006422 005137 001166 COM STHP] : COMPLEMENT THE EXPECTED STATUS
2611 006426 013737 001126 001164 MOV $BDDAT,STMPO  :SAVE THE ACTUAL STATUS
2612 Q0B434 043737 001166 001164 BIC sTHP1, $TMPD :CLEAR UNWANTED BITS
2613 006442 023737 001124 0O116M CMP $GDOAY,STMPO  ;ARE THE EXPECTED STATUS BITS SET 7
2614 006456 001401 BEQ 65S 'BR IF THEY ARE
2615 006452 104005 ERROR 5 : REPORT THE ERROR
ggi; 006454 000240 658:  NOP
cbl8 H 36 96 36 38 30 35 96 36 36 96 36 36 30 36 36 3 46 36 3 36 3 36 3% 3 3636 ¥ 9 9 3 3 96 3 3 3 969 3 96 3¢ 3¢ 3 33 3 3 3 3 3 3 36 3 3094 3 336 3 3 3 % % %
sgég :READ THE DRIVE REGISTERS THROUGH PORT A AND STORE THEM ON THE STACK
262] 06456 113760 MOVB  PORTA,RMCS2(RO) :SELECT PORT A
2622 0064eM 013737 MOV PORTA PTNBR :MOVE PORT noonssg TO LOCATION FOR TYPEOUT
5253 y 16046 MOV RMEC2LRO),-(SP) ;STORE REGISTER RMEC2, PORT A, FOR CHECK
4 16046 MOV RMECI(RO),-(SP) ;STORE REGISTER RMECI, PORT A, FOR CHECK
ggsg 882235 81 MOV RMSN(RO), - (SP) ;31855 §E°}§TE“ RMSN, 'PORT R, 'FOR CHECK
1 MOV RMDC(RO).-(5P) 8T GISTER RMDC. PORT A, FOR CHECK
2627 D0eS12 016046 MOV RMOF (RO) . -(SP) ;STORE REGISTER RMOF, PORT A, FOR CHECK
2628 006516 016046 MOV RW-R2(R0O},-(SP) :STORE REGISTER RMERZ, PORT R, FOR CHECK
2629 006522 016046 MOV RM_A(RO) =(SP) :STORE REGISTER RMLA, PORT A, FOR CHECK

SEG 00S3
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2tX, 006526 01604 000026 MOV
281_: 006532 0{60% 000006 Hng\é
g1 BERR HER RO 5

NO4Y

MACY11 30(1046)

RMDT(RO), ~(SP)
RMDR(RO) , - (SP)
r.MR1 (RO}, -(SP)
RMERL (RO, -(SP)

01-AUG-77 11:02 PAGE 52 Seq 00su

PORT 'B’ SEIZE/TIMEOUT TEST

; STORE REGISTER RMOT, PORT A, FOR CHECK

2100 REGISIER RPR1, PORT B, FOR CHECK
}STORE REGISTER RMERI, PORT A, FOR CHECK

Y B %% 3553503606206 3638 3 36 3433 3 30 03 00 3 9 3% 3 3% 3 3% 3 3 33 9% 3 90 4% 9 06 3 % 3 3% %
tlHAIT FOR PORT B TO TIMEOUT

2638 006546 005760 000012 18: g;g
5233 %ggle %%9%9 001260 1ST
2641 00656U 001372 BNE
2642 006562 104036 ERROR
2643 006SeM 000137 007170 IMP
2644 670 012737 000340 177776 28: MOV
2645 006576 013737 001256 001270 MOV
esw; ggggm 004537 DebId2 JSR
264 10 001270 . WORD
2648 006612 012637 001272 MOV
5233 006616 012637 001274 MOV
o5
4

B1 npek22 023727 001256 000764 CMP
2655 J06630 103001 BHIS
2656 006632 104055 ERROR
2657
2658
2659
2660
5225 006634 012737 0UO240 177776 3§: MOV
2663 : VERIFY
2664
2665 006642 005037 001254 CLR
2666 006646 012737 000012 001122 MOV
2667 006654 060037 001122 ADD
2668 006660 012737 011600 001124 MOV
2669 006666 113760 001224 000010 MOVB
2670 882?7” 8550 7 0000i2 001170 MOV
o671 006702 042737 0249001 001170 BIC
o672 006710 013737 001170 001164 MOV
2673 305758 042737 100100 001164 BIC
2674 006724 113760 001226 000010 MOVB
2675 006732 016037 000012 001172 MOV
2676 006740 042737 024001 001172 8IC
2677 006746 013737 001172 001166 MOV
2678 006754 042737 100100 001166 BIC
2679 006762 023737 00i164% 001166 CMP
2680 006770 001006 BNE
2681 006772 005737 001164 15T
2682 006776 001037 BNE
2683 007000 104046 ERROR
2684 007002 000137 007166 inP
2685 007006 013737 001170 0CL126 66S: MOV

RMOS1 (RO)

TIME, #500.
3%
55

$(5%32.),d#S

:WAIT FOR THE DRIVE TO TIMEOUT
‘BR_WHEN TifEOUT OCCURS
: CHECK WATCH

:BR IF NOT ZERO

'NO TIMEOUT WITHIN 2 SECONDS
'BYPRSS TIMEOUT TIME CHECK

'SET PRIORITY TQ 7 TO STOP CLOCK
:SAVE THE ELAPSED TIME FOR PORT B8
! CALCULATE THE TOLERANCE

: TIMEOUT VALUE FOR PORT B

:425% TOLERANCE

: -26% TOLERANCE

§ 5 AN I I I IS IE 00006060036 030 3000303000 SIS 060003030 36 I 30033 S
;VERIFY THAT THE TIMEOUT ONE-SHOT IS AT LEAST 500 MS

;WAS MEASURED TIME AT LERST S00 MS?
;BR IF IT WAS
; REPORT TIMEOUT TOO SHORT

s + I II I NI I I 00363 3T 330303 I B I 3336 33 I3 303 3 3
:VERIFY THAT THE DRIVE RETURNED TO NEUTRAL RFTER PORT B TIMED OUT

;RESTORE PRIORITY TO S

THAT THE ORIVE (S IN NEUTRAL

RELERR :CLEAR THE 'RELEASE ERR(R ’ INDICATOR
$RMDS1,SBORDR  ;FORM THE RDDRESS OF RMOS! FOR TYPEOUT

RO :ADD THE 1/0 BASE QDDRESS

sMOL ' PGM! DPR! DRY . SGODAT  : COMPARISON CONSTANT

PORTA, RMCS2(RO) ;SELECT PORT A.

RMDS1{RO) . $TMP2 :GET THE DRIVE STATUS REGISTER FROM PORT A.
sPIP!WRL } O, STHP2 - CLEAR DONT CARES

STMP2, STMPO :COPY IT'INTO ’$TMPQ’

SATA'VV. STMPC  :CLEAR PORT DEPENDENT BITS FROM THE COPY

PORTB, RACS2(RO)
RMDS1{RO)  STMP3

sPIP! WAL ' 0N, STHPY

STMP3, STMP
sATAIVV STMPI
sTMPO, STMPI
668

STMPO

68$
46
708

§TMP2, SBDDAT

s SELECT PORT B.
:GET THE onévs STATUS REGISTER FROM PORT B.
. CLEAR DONT CARRES

-COPY IT'INTO 'STMPI’

:CLEAR PORT DEPENDENT BITS FROM THE COPY

;ég IFEN3¥“T”S REGISTER THE SAME FROM BOTH PORTS 2
REGISTERS ARE THE SAME: ARE THEY ZERO ?

'BR IF NOT

:REPORT DRIVE NOT IN NEUTRAL OR NOT SEIZED
;BYPRSS THE REST OF THE CHECKS
;SET UP POSSIBLE BRD DATA FOR ERROR MESSAGE
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DZRMGA.P11  'O1-RUG-77 10:58 13 PORT 'B’ SEIZE/TIMEOUT TEST
2686 007014 013737 001226 001240 MOV rg ,&Lémc PORT IF TEST SHOMS DRIVE NOT IN NEUTRAL
2687 007022 113760 001226 000010 MOVEB  PORTB.RMCS2(RQ) T B.
2688 (007030 0057‘*33 001164 gg s; - SEE gr STATUS EQ C FROM PORT A.
SEQB W 8?57.% 001224 001240 MOV Sonm,mrm :gdxrfpon:r IF TEST SHOWS DRIVE NOT IN NEUTRAL
2691 007044 013737 (01172 001126 MOV §TMP3.$B0DAT  :’'BAD DATA’ FOR ERROR TYPE OUT
2632 (07052 113760 001224 000010 MOVE  PORTA.RMCS2(RO) :SELECT PORT A.
2693 007060 005737 001166 TST sTMPL’ "SEE IF STATUS EQ ZERO FROM PORT B.
26 007064 001004 BNE 68$ ;BR_IF _NOT
2695 007066 012737 177777 001264 67%: MOV 8-1,RELERR 'SET 'RELEASE ERROR’ INDICATOR
269% 007074 104022 ERROR 22 :TYPE ERROR MESSAGE 22
2697 007076 013737 001170 00il26 68%: MOV §TMP2,SBDDAT  ;LOOK FOR n FAILURES WHEN RMDS! RERD
2638 007104 013737 001224 001240 MOV PORTA.PTNBR : CHANGE PORT NUMBER
2699 007112 042737 100100 001126 BIC 8ATA' YV SBODAT :DON'T CHECK ATTN BIT OR WV BIT
2700 007120 (023737 001124 001126 CMP SGDOAT, $BD0AT RLL BITS OK ?
2701 007126 001401 BEQ sqs BR IF OK FROM PORT A.
2702 007130 104007 ERROR REPORT ERROR
2703 00713¢ 013737 001172 001126 698: MOV srma s r : CHECX RMDS] FOR BIT FRILURES - FROM PORT B.
2704 007140 013737 001226 001240 MOV PORTB’ PTNBR : CHANGE PORT NUMBER
2705 007146 042737 100100 001126 BIC 8ATA' ¥V, $BODAT :DON’T CHECK ATTN BIT OR Vv BIT
2706 007154 023737 001124 001126 CHP $GDDAT, $B0DAT  ;SEE IF READ OK FROM PORT B.
2707 007162 001401 BEQ 708 'BR IF OK
2708 007164 104007 ERROR 7 : REPORT ERROR
S;tl:g 007166 000240 708:  NOP
2711 H o 363062098 36 96 06 3630 36 36 06 3 36 3% 3 36 36 36 36 36 36 06 35 35 3 3 30 3 353 3 969 3 3 36 3 90 96 36 936 3 46 06 3 3 36 36 3 3 3 3 9% 3 3 9 3 3%
2712 CI'E"K THE REGISTERS STORED THROUGH PORT A. ALL REGISTERS SHOULD BE ZERO.
s;ia : THE REGISTERS ARE STORED ON THE STACK.
2715 007170 013737 001224 001240 MS: MOV PORTA, PTNBR : CHANGE 'PORT NUMBER’ TO THE OPPOSITE PORT
2716 007176 010037 001122 MOV RO, $BORDR : BASE RDORESS FOR REGISTER RMERI
2717 007202 062737 000014 001122 ADD $P4ER1, SBDADR  ;RDDRESS OF RMER]1 FOR TYPEOUT
2718 007210 012637 001126 MOV (sm $BOOAT CFECK THE_STORED CONTENTS OF RMERI
2719 007214 001401 BEQ %ﬁ
2720 007216 | ERROR s PORT A SAN NON-ZERO REGISTEF
2721 007220 010037 001122 MOV anse nnuasss FOR REGISTER RMMRI
2722 007224 062737 000024 001122 RDD m‘mx SBDADR  :ADDRESS OF RMMR1 FOR TYPEOUT
2723 007232 012637 001126 MOV (sm+ $800AT  ;CHECK THE STORED CONTENTS OF RMYR!
2724 00723 001401 8EQ :CONTENTS ZERO ?
2725 007240 104006 ERROR s 'REPORT THAT PORT A SAM NON-ZERO REGISTER
2726 007242 010037 001122 MOV RO, $8DADR 'BASE ADDRESS FOR nscxsm nron
2727 007246 000006 001122 ADD $RMDA, SBDADR  ;RDORESS OF RMDA FOR TYPE
2728 007254 012637 001126 MOV (SP)+ 8BDDAT  ;CHECK STORED comsms or RMDA
2729 007260 001401 BEQ ¥y : CONTENTS ZERO *
2730 007262 104006 ERROR b :REPORT THAT PORT A SAK NON-ZERO REGISTER
2731 007264 010037 001122 MOV RO, $BDADR 'BASE ADDRESS FOR REGISTER RMOT
2732 007270 062737 000026 001122 ADD sRMDT SBDADR  :RDORESS OF RMOT FOR TYPEOUT
2733 007276 0!2637 001126 MOV (sm+ $BODAT  :CHECK THE STORED CONTENTS OF RMDT
27X 067302 001401 BEQ : CONTENTS ZERO !
2735 007304 104006 ERROR s :REPORT THAT PORT A SAW NON-ZERO REGISTER
273% 007306 010037 001122 MOV 0, SBDADR :BASE ADORESS FOR necxsrsn RMLA
2737 007312 062737 000020 001122 RDD mﬁm SBDADR ADDRESS OF RMLA FOR TYPEOQUT
2738 007320 012637 001126 MOV (sp)+ $BODAT  ;CHECK THE STORED CONTENTS OF RMLA
2739 007324 001401 BEQ : CONTENTS ZERQ ?

104006 ERROR 6 sREPORT THAT PORT A SAW NON-ZERO REGISTER
2741 007330 010037 001122 MOV RO, SBOADR BRSE RDORESS FOR REGISTER RMERZ
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2742 00733 062737 000042 001122 ADD SRMER2, SBDADR  ; ADDRESS OF mtne FOR TYPEOUT
2743 007342 012637 001126 MOV (SP)+, $80DAT : CHECK THE CONTENTS OF RMERZ
g;zg % 1401 BEQ R : CONTENTS

1 snson b :REPORT THAT PORT A gnu NON-ZERO REGISTER
73 B0 UBT BYZ ooiiee R0 DR ok Aok RO SR E R KECISTER AmoF
2748 00736M4 012637 001126 MOV (SP)+, $BDDAT ,crccx THE_STORED CONTENTS OF RMOF
2749 007370 001401 BEQ ) : CONTENTS
2750 007372 104006 ERROR 6 ‘REPORT THAT Pom A SAK NON-ZERC REGISTER
2751 007374 010037 001122 MOV RO, SBDARDR : BASE FOR REGISTER RMOC
2752 007900 062737 0000 001122 ) $RMDC , $SOAOR ;mss“§ FOR TYPEQUT
2753 mﬂos 012637 001126 MOV (SP)+.$BDDAT  :CHECK THE STORED CONTENTS OF RMODC
2754 007912 001401 BEQ +4 : CONTENTS ZERQ ?
2755 007414 104006 ERROR 6 ‘REPORT THAT PORT A SEES NON-ZERO REGISTER
2756 007416 010037 001122 MOV RO, $BDAROR 'BASE ADDRESS FOR REGISTER RMSN
2757 007422 062737 000030 001122 RDD sRUSN, SBDADR  ; ADORESS OF RMSN FOR TYPEOUT
2758 007430 012637 001126 MOV (SP)+.SBDOAT  ;CHECK THE STORED CONTENTS OF RMSN
2759 0074 001401 BEQ .+ : CONTENTS z;no
2760 00743% 104006 ERROR b ‘REPORT THA Pgm A gsg;ERon-zsno REGISTER
2761 007440 010037 001122 MOV RO, SBDADR : BASE RDDRESS
2762 007444 062737 001122 ADD cnﬁm $BDRDR  ; RDORESS OF RMEC1 FOR TYPEOUT
2763 007452 012637 001126 MOV (sp)+ §BODAT  ;CHECK THE ORED CONTENTS OF RMECI
2764 007456 001401 BEQ : CONTENTS
2765 007460 104006 ERROR :REPORT THAT PORT A SEES NON-ZERO Rr.cxsrsn
2766 007462 010037 001122 MOV 0, SBDADR :BASE ADORESS FOR REGISTER RMEC2
2767 007466 062737 000046 001122 ADD mhece SBDADR  :RDDRESS OF RMEC2 FOR TYPEOUT
2768 007474 012637 001126 MOV (5P)+ §8D0AT  ;CHECK THE STORED CONTENTS OF RMEC2
2769 (007500 001401 BEQ : CONTENTS ZERO 7
2770 007502 104006 ERROR s : REPORT THAT PORT A SEES NON-ZERO REGISTER
577;5 007504 (000004 c§: SCOPE :LOOP ?
2773 ; Ry 22T 10222 222322222 32 2222 2z tiiad e s s sl s)
g;g irssr Y PORT 'R’ SEIZE/RELEARSE TEST
5% nssr THE OPERATION OF THE RELERSE COMMAND, DRIVE SEIZED
g;;g ;; A. SEIZE THE DRIVE THROUGH PORT 'A’ BY WRITING 0’S INTO RMDSI.

i ¥
g_;gcll ¥ B. SET VOLUME VALID AND CLERR ANY ERROR
2782 :; C. ISSUE A RELEASE COMMAND THROUGH PORT’R’. VERIFY THAT THE DRIVE
2783 % RETURNED TO NEUTRAL, AND THAT NO ERRORS ARE INDICATED BY THE
g;% 3 ¥ DRIVE.
¥

2786 o S 303663 3636 36 06 3 36 3 36 36 36 6 06 3 3 36 36 3 36 36 3896 3 96 36 3 38 36 3 3 3% 3 9 3 J96 9 3 3 6 36 9 A 36 363 3 338 36 9 30 3 3 2 3% 3 3 %
2787 007506 t&Ty.
2788 007506 005737 001300 15T KYBCTL : PERFORMING ONLY SINGLE TESTS ?
7 12 406 BEQ 2% :BR IF NOT
7 14 Dx%om BPL 13 :BR IF JUST ENTERED TEST
2791 007516 000137 002676 IMP EXEC :RETURN 8 GET NEXT TEST NUMBER
2792 007522 012737 177777 001300 1S MOV 8-1_KYBCTL :SET SINGLE TEST INDICATOR
2793 007530 112737 001102 2% MOVE  #4,$TSTNM :TEST NUMBER
2794 00753 012737 007560 001106 MOV $TESTY, SLPADR  ;LOAD LOOP ON TEST ADORESS
2795 DO7SMM 012737 007560 001110 MOV msm SLPERR  :LOAD LOOP ON ERROR RODRESS
279% 007552 012737 000031 001176 MOV stIMES .00 25. ITERATIONS
2797 012706 001100 TESTY: MOV :smtx SP Lono THE STRCK POINTER
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PORT 'R’ SEIZE/RELERSE TES

CLR
MoV

;-!lllll!llllllllllll!lillll!ll!i!!lili!l!!il!ll*ll!ilillllll!l*i
1START THE 1IMER

TIME ;CLERR THE ELAPSED TIME COUNTER
$2000. ,HATCH ;SET WATCH TO 2000 MS

;-!iilli!*ll!l!lll*l!!llll!lli!l!lliill!ll!liill!lllll!lli!lill!l
:SEIZE THE DRIVE AND SET VOLUME VALID

;SEIZE THE DRIVE THROUGH PORT A

MOVB

MOV
CLR
MOV
MOV
CLR
MOV

PORTA,RMCS2(R0O) SELECT PORT A
PORTA'SEIZPT ;SYORE SEIZING PORT'S ADDRESS

RMDS 1 LRO) : WR]TE RMDS!

PORTB, OPPRT : *OPPOSITE’ PORT ADORESS

821, RACS] (RD) -GET VOLUME VALID

CKEAR CLEAR THE 'CHECK ERROR’ INDICATOR

]

RMDS1 (RO) , SBDOAT' :GET CONTENTS OF RMDSI
sRMDS1 SBORDR ;FORM RECISTER ADORESS OF ERROR MESSAGE
RO, SBDADR .ADD RM11 BASE ADORESS
' T ;wHat REGI ?aou.o BE

T.§TMP0’  :MOVE REGISTER CONTENTS TO ’STMPO’
stCW $TMPO ;SAVE SPECIFIED BITS
$GODAY, STMPO '~ ;COMPARE THE BITS
668 ‘BR IF OK
SBDOAT,STMPY  ;COPY ’BRD DATA’

sV, STHPY :CLEARR THE MASKED BITS

STMPY, SGODAT :'OR’ WITH GOOD DATA FOR TYPEOUT

13 : TYPE MESSAGE 13

CKERR 'SET THE REGISTER COMPARE ERROR INDICATOR
8CLR, RMCS2(R0) :CLEAR DRIVE

jp EERREERRHRRREERERERARE R R R R AR R R RRRRAR AR AR AR RRRERARE RS

;RELERSE THE DRIVE FROM PORT R

MOVB

MOV
MOV

s VERIFY

MOV

PORTA,RMCS2(RO) ;SELECT PORT A
PORTA'PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
#813,RACS1(RD)’  ;ISSUE RELEARSE THROUGH PORT A

THAT THE DRIVE IS IN NEUTRAL

RELERR :CLEAR THE 'RELEASE ERROR ' INDICATOR
$RMOS1,SBDADR  ;FORM THE ADDRESS OF RMDS! FOR TYPEOUT

RO :RDD THE 1/0 BASE ADDRESS

sMOL ' PGM!DPR! DRY | SGDDAT : COMPARISON CONSTANT

PORTA, RMCS2(RO) ;SELECT PORT A.

RMOS1LRO)  STMP2 :GET THE DRIVE STATUS REGISTER FROM PORT A.
sPIP{WRL ! OM, STHP2 - CLEAR DONT CARES

STMP2, STMPO -COPY IT'INTO ’'STMPO’

$ATAIYV, STMPO  ;CLEAR PORT DEPENDENT BITS FROM THE COPY
PORTB, RMCS2(RO) :SELECT PORT B.

RMDS1tRO)  STMP3 :GET THE DRIVE STRTUS REGISTER FROM PORT B.
sPIP!WRL ! OM, STHP :CLERR DONT CRRES

SEQ 00S?
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28S4 010076 013737 001172 001166 MOV STMP3, STMP1 : COPY n INTO 'STMPL’
2655 010104 042737 100100 001166 BIC 8ATAYV, STMP1  :CLEAR PORT DEPENDENT BITS FROM THE COPY
2856 81011 023737 001164 001166 CMP sTMPO, STP] IS THE srmus REGISTER THE SAME FROM BOTH PORTS ?
2757 010120 001006 BNE 68S BR IF NOT
c.38 010i22 005737 001164 15T $TMPO 'REGISTERS ARE THE SAME: ARE THEY ZERG ?
2859 010126 001037 BNE 70$ 'BR IF NOT
2860 010130 104046 ERROR 46 :REPORT DRIVE NOT IN NEUTRAL OR NOT SEIZED
2861 010132 000137 0103'6 TP 72% 'BYPRSS THE REST OF THE CHECKS
2862 010136 013737 001170 001i”6 68S: MOV §TMP2 SBODAT  :SET_UP POSSIBLE ?m DATA FOR ERROR MESSAGE
2663 010194 013737 001226 001240 MOV PORTB, PTNBR !SEIZING PORT IF TEST SHOWS DRIVE NOT IN MEUTRAL
2864 0101S2 113760 001226 000010 MOVE  PORTB,RMCS2(RO) ;smcr PORT B.
2865 010160 005737 00164 18T §TNPG’ 'SEE IF STATUS EQ O FROM PORT A.
2866 010164 001414 BEQ 698 'BR _IF ZERO
2867 010166 013737 001224 001240 MOV PORTA, PTNBR :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
2868 010174 013737 001172 001126 MOV §TMP3'SBODAT  ;'BAD DATA’ FOR ERROR TYPE OUT
2869 010202 113760 001224 000010 MOVB  PORTA,RMCS2(RO) ;SELECT PORT R.
2670 010210 005737 001166 15T sTHPL’ | SEE IF STATUS EQ ZERO FROM PORT B.
2871 010214 gowm BNE 70$ 'BR_IF NOT
2872 010216 012737 177777 001254 69%: MOV s-1,RELERR sn 'RELERSE ERROR’ INDICATOR
2873 010224 muo%; ERROR 22 ‘TYPE ERROR MESSAGE 22
2874 010226 013737 001170 001126 708: MOV STMP2, SBODAT LOOK FOR en FRILURES WHEN RMDS! RERD
2875 oxgz‘a 013737 001224 001240 MOV PORTA. PTNBR R
2876 016242 042737 100100 001126 BIC sATA! ¢V, SBODAT oow crscx ATTN BIT OR VV BIT
ou7? 010250 023737 001124 001126 CMP SGDDAT, $BDOAT  :ALL BITS OK ?
2878 010266 001401 BEQ m :BR_IF OK FROM PORT R.
2879 010260 104007 ERROR *REPORT ERROR
2880 010262 013737 001172 001126 71%: MOV smpa $BDDAT  :CHECK RMDSI FOR BIT FAILURES - FROM PORT B.
2881 010270 013737 001226 001240 MOV PORTB' PTNBR :CHANGE PORT NUMBER
2882 010276 042737 100100 001126 BIC $ATA' YV, SBODAT :DON’T CHECK ATTN BIT OR WV BIT
2883 010304 023737 001i24 001126 CMP $GDDAT, $BDDAT  :SEE IF READ OK FROM PORT B.
2884 010312 001401 BEQ 72$ ‘BR IF OK
2885 010314 104 ERROR 7 : REPORT ERROR
2886 010316 000240 728:  NOP
2887 010320 005737 001254 TST RELERR .DID DRIVE RETURN TO NEUTRAL 7
2888 010324 001402 BEQ :BR IF IN NEUTRAL
2889 010326 000137 010602 IMP 1s :GO WAIT FOR DRIVE TO TIMEOUT
2890 010332 113760 001224 000010 MOVB  PORTA,RMCS2(RO) ':SELECT PORT A
2891 010340 013737 00i224 001240 MOV PORTA. PTNBR novt PORT RDDRESS TO LOCATION FOR TYPEOUT
2892 01034 005037 001250 CLR CKERR' .CLEAR THE 'CHECK ERROR’ INDICATOR
2893 0103se 016037 000012 001126 MOV RMOS1(RO) . SBODAT' :GET CONTENTS OF RMOS!
2894 010360 012737 000012 001122 MOV SRMDS] $BOADR  ;FORM REGISTER RODRESS OF ERROR MESSAGE
2895 010366 060037 001122 ADD RO, SBOADR ;ADD RH11 BASE ADORESS
28% 010372 7 001124 CLR SGODAT WHAT REGISTER SHOULD BE
2897 010376 013737 001126 00116 MOV SBDOAT, STMPO ' MOVE REGISTER CONTENTS TO 'STMPO’
2898 Q10NM0M 0N2737 077777 Q0116M BIC 8tCATA, STMPD shvs SPECIFIED BITS
2893 010412 023737 00!124 001164 CMP SGDDAT, STMPO COMPARE THE BITS
2900 010420 001414 BEQ 738 :BR _IF OK
2901 010422 013737 001126 001174 MOV SBODAT,STMPY  :COPY ’'BAD DATA’
2902 010430 042737 100000 001174 BIC 8ATA, stMPY :CLEARR THE MASKED BITS
2903 01043 053737 001174 001124 BIS $TMP4, SGDOAT  :’OR’ WITH GOOD DATA FOR TYPEOUT
2304 010444 104017 ERROR 17 : TYPE MESSAGE 17
2905 OI04¥6 005137 001250 CoM CKERR 'SET THE REGISTER COMPARE ERROR INDICATOR
2906 010452 000240 738:  NOP
2907 010454 113760 001226 000010 MOVB  PORTB,RMCS2(RO) :SELECT PORT B
2908 010462 013737 001226 001240 MOV PORTB.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
2909 010470 005037 001250 CLR CKERR' :CLEAR THE 'CHECK ERROR’ INDICATOR
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2910 010474 016037 000012 001126 MOV RMOS1 (RO) saoonT GET conrsnrs OF RMDS!
1 1 001122 MOV ngggsg& OF ERROR MESSAGE
iu i i 1 ii 1164 g%v 1 cx TENTS T0 'S$TMPO
‘. ? ]
318 SRR BT B Bk i m!% sAOE"EpEE?HEB“ i
2916 0105W (23737 001124 0011eM CMP . COMPARE THE BITS
2917 010542 001414 BEQ 7ss :BR IF OK
2918 010544 013737 001126 88{123-.. MOV SBDDAT,STMPY  ; COPY 'BRD DATR’
2919 010552 (M2737 100000 174 BIC sATA, StiPy ‘CLEAR THE MASKED BITS
2320 010560 053737 001174 001124 8IS srnp# $GODAT :*OR’ WITH cooo DATA FOR TYPEOUT
2921 010566 10M017 ERROR 17 : TYPE MESSAGE |
2322 010570 00S137 001250 com CKERR 'SET THE Rscxsrsn COMPARE ERROR INDICATOR
2923 010574 000240 75$: NOP
2524 010576 000137 010634 h{r J 2 :GO CHECK FOR LOOP ON ERROR
2926 1222222222222 s 2 s YIS RSLI LSS 2SSO S )
2927 Ir RELERSE COMMAND DIDN’T RELEASE THE DRIVE, WAIT FOR THE PORT TIMEOUT
2928 :TO RELERSE THE DRIVE
2929
2930 010602 18:
2931 010602 113760 001226 000010 MOVB PORTB RHCSE(RO) SELECT PORT B
2932 010610 013737 001226 001240 MOV PORTB vt T ADDRESS TO LOCATION FOR TYPEOUT
2933 010616 005760 000012 TST RHDSI[RO) . 11 FOR TIMEOUT TO RELERSE DRIVE
2934 010622 001004 BNE 2$ -BR_WHEN DRIVE RELERSED
2935 010624 005737 001260 ST WATCH CHECK THE WA
2936 010630 001364 BNE 18 :BR IF NOT ZER o
2937 010632 104036 ERROR 36 ;N0 TIMEOUT WITHIN 2 SECONDS
gg 010634 000GOM 28: SCOPE :LOOP 7
2940 ; o 3T 36T I6 03696 363635 3 3 36 05 3 38 3 36 36 36 3 3 36 36 36 36 3636 3 3696 36 3 3 36 3 3 3 3 36 36 36 3 3 3 3 3 3 % 3 3 3 3 3 % ¥ ¥
233é iresr 3 PORT 'B' SEIZE/RELEASE TEST
egza ;Tssr THE OPERATION OF THE RELERSE COMMAND, DRIVE SEIZED
!
Y
gg:g ,: A. SEIZE THE DRIVE THROUGH PORT ’B’ BY WRITING 0'S INTO RMDSI.
gg:g :: B. SET VOLUME VALID AND CLEAR ANY ERROR
2949 ‘¥ C. ISSUE A RELERSE COMMAND THROUGH PORT ’'B’. VERIFY THAT THE DRIVE
2950 ¥ RETURNED TO NEUTRAL, AND THRT NO ERRORS ARE INDICATED BY THE
2951 DRIVE.
2952 ,*
29563 X 2 1222222222222 2222323222232 2323223222223 332223223 8384
2954 010636 t&tc.
2955 (010636 005737 001300 ST KYBCTL : PERFORMING ONLY SINGLE TESTS ?
2956 010642 001406 BEQ 2$ :BR IF NOT
2957 010644 100002 8PL I3 BR IF JUST ENTERED TEST
gggg 818223 137 oggg;; JMP EXEC ‘RETURN & GET NEXT TEST NUMBER
1 12737 | 001300 IS: MOV -1, KYBCTL 'SET SINGLE TEST INDICATOR
2960 010660 112737 000005 001102 2%: MOVvB  #5,$TSTAM - TEST NUMBER
291 010666 012737 010710 001106 MOV 7575, SLPADR Loao LOOP ON TEST ADDRESS
2962 010674 012737 010710 001110 MOV $TESTS SLPERR  :LOAD LOOP ON ERROR RDORESS
2963 010702 012737 000031 001176 MOV 825.  STIMES :-D0 25. ITERATIONS
296N 010710 012706 J01100 TESTS: MOV sSTALK, 5P :[OAD THE STACK POINTER
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2%6 HH FRBRERENEEEEE RN RN NIRRT EN TR ENE TN NN EEEEEEEEEEE
eeg% :START THE TIMER
2969 010714 005037 001256 CLR 1 :CLEAR THE ;ansso TIME COUNTER
223;? 010720 012737 003720 001260 MOV ua&o.,umcu !SET WATCH TO 2000 MS
2972 - 2222222221232 22223323:22823233222122222222 2232222222223 232822
g;& :SEIZE THE DRIVE AND SET VOLUME VALID
g;ss .SEIZE THE DRIVE THROUGH PORT B
2977 010726 113760 001226 000010 MOVB  PORTB,RMCS2(RO) :SELECT PORT B
2978 010734 013737 001226 001242 MOV PORTB.SEIZPT ;SYORE SEIZING PORT'S ADORESS
2979 010742 gooxe CLR RMDS LRO) - WRITE RMDS!
2980 010746 0137 1224 001244 MOV PORTA, OPPRT *"OPPOSITE’ PORT RDDRESS
2381 010754 012760 000021 MOV 821, RACS] (RO) -SET VOLUME VALID
29 .2 010762 uu-ggg; 001250 CLR CKERR :CLEAR THE ’'CHECK ERROR’' INDICATOR
2933 010766 Ol 000012 001126 MOV RMOS1 (RO), SBDOAT' :GET CONTENTS OF RMDS|
2984 010774 012737 0000i2 001122 MOV $RMDS1, $BORDR  ; FORM REGISTER monssg OF ERROR MESSAGE
2995 guooa 001122 ROD RO -ADD RH11 BASE ADDRESS
293 011006 012737 000100 001124 MOV oV, SCODRT ;WHAt REGISTER SHOWLD BE
2987 O0110I4 013737 00li26 001164 MOV SBDOAT STMPO'  :MOVE REGISTER CONTENTS TO 'STMPQ’
2998 011022 042737 177677 001164 BIC BCVW hn;go ;snOE mr& 8{73
ggg 3“8% 3737 001124 001164 CHP $GOOAt, ST : 1

11 1M41Y4 BEQ 668 :BR IF OK
2331 011040 013737 00l126 001174 MOV $BODAT,STMPY  ;COPY 'BRO DATA’
2332 011046 042737 000100 001174 BIC sV, STAPY : CLEARR THE MASKED BITS
5333 8“ 4 053737 001174 001124 E&E $TMPY,SGDDAT  :'OR’ WITH DATA FOR TYPEOUT

11 105013 oR 13 ! TYPE MES 13
2995 011064 00S137 001250 coM CKERR :GET THE REGISTER COMPARE ERROR INDICATOR
29% 011070 000240 668:  NOP
533; 011072 012760 0ODO40 000010 MOV $CLR, RMCS2(RQ) :CLEAR DRIVE
233% ; ;l»l*}liiiliilill**liiiiiiﬂilill!ll!!ll!llllill!!l!iii!l!l*i*!!*
3001 .RELERSE THE DRIVE FROM PORT B
3003 011100 11376N 0Cl226 000010 MOVB  PORTB,RMCS2(RO) :SELECT PORT B
3004 011106 013737 001226 001240 MOV PORTB PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
3832 011114 012760 000013 000000 MOV 813,RMCS1(RO)’  ;ISSUE RELEASE THROUGH PORT B
%% .VERIFY THAT THE DRIVE IS IN NEUTRAL
3009 011122 005037 001254 CLR RELERR :CLEAR THE 'RELEASE ERROR ' INDICATOR
3010 Ol1126 012737 000012 001122 MOV $RMDS]1, SBDADR  -FORM THE ADDRESS OF RMDS1 FOR TYPEOUT
3011 0111 060037 001122 ADD RO, SBDADR *A0D THE 1/0 BASE RADDRESS
3012 011140 012737 011600 0DOll24 MOV sMOL ' PGM! DPR ! DRY | SGDDAT ; COMPARISON CONSTANT
3013 Ol1i46 (13760 001224 0O000I0 MOVB  PORTA,RMCS2(R0) ;SELECT PORT A.
3014 011154 016037 000012 001170 MOV RMDS1{RO) . STMP2 :GET THE DRIVE STATUS REGISTER FROM PORT R.
3015 O0l1162 042737 024001 001170 BIC sPIP!WRL 1 OM, STHP2 : CLEAR DONT CARES
3016 011170 013737 001!70 001164 MOV STMP2, STHPO COPY IT'INTO ’'STMPQ’
3017 Ol1176 D42737 100100 O0OL1&4 BIC 8ATA'YV STMPO  ;CLEAR PORT DEPENDENT BITS FROM THE COPY
3018 011204 113760 00i226 000010 MOVB  PORTB,RMCS2(RO) :SELECT PORT B.
3018 011212 016037 000012 001172 MOV RMOS1{RO)STMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.
3020 011220 042737 024001 001172 BIC sPIP'WRL ' O, STMP :CLEAR DONT CRRES
3021 0!1226 013737 001172 001166 MOV STMP3, STHP -COPY IT'INTO 'STMPL’
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3022 011234 042737 100100 001166 BIC BATA!'VW STMP1  ;CLEAR PORT DEPENDENT BITS FROM THE COPY

3853 811535 BSYESZ 001164 001166 SRE zgqpo stwel éa IPEN8¥RTUS REGISTER THE SAME FROM BOTH PORTS ?

3025 oiiasa 00?63; 001164 gag ;5290 REGI?TER? ARE THE SAME: ARE THEY ZERO ?

3859 811523 ?84045 ERROR 46 582P6RTN8RIVE NOT IN NEUTRAL on NOT SEIZED

3028 0i1262 000137 OLI446 JmP 728 :BYPRSS THE REST OF THE CHECKS

3029 811286 813737 001170 OCli2k 68%: MOV §TMP2,$BODAT  ;SET UP POSSIBLE BRD DATA FOR ERROR MESSAGE

3030 {{27% 13737 onisgg 0012T8 :838 gggra s;ggg(no) :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL

gggé 8113?5 663339 831154 0aC ST HPS gﬁt ?r g?grug EQ O FROM PORT A.

3033 011314 O0OI41Y BEQ ses %

3034 G1131e 013737 001224 001240 MOV PORTAR, PTNBR SEI ING PORT IF TEST suous DRIVE NOT IN NEUTRAL

3035 011324 013737 001172 001126 MOV $TMP3 SBDORT  :’BAD onrn' FOR ERROR TYPE OUT

3036 011332 113760 00ie24 000010 MOVB  PORTAR.RMCS2(R0O) ;SELECT PORT A.

3037 011390 005737 001166 TST sTMP1’ :SEE IF STRTUS EQ ZERO FROM PORT B.

3038 0113¥4 001004 BNE 708 ' BR IF_NOT

3039 011346 012737 177777 001254 69S: MOV 8-1,RELERR :SET 'RELERSE ERROR’ INDICATOR

040 011354 104022 ERROR 22 : TYPE ERROR MESSAGE 22

3041 011356 013737 001170 001126 70S: MOV §TMP2,$B0DAT  :LOOK FOR BIT FAILURES WHEN RMDS! RERD

3042 011364 013737 001224 001240 MOV PORTA’ PTNBR : CHANGE PORT NUMBER

3043 011372 042737 100100 001126 BIC $ATA! ¥V SBDOAT :DON'T CHECK ATTN BIT OR VV BIT

3044 (011400 023737 00il24 001126 CMP $GDOAT,$80DAT  :ALL gxrs oK ?

3832 8114 08&385 BEQ 718 an ox rnon PORT R.

11410 1 ERROR 7

30:7 oiizla 013;37 ggxégg gg}éag 718: ggz ggg¥g §$RBET cuscx RHDSI FOR 917 FARILURES - FROM PORT B.

384 8114 843733 100100 001126 BIC $ATAR! UV, SBODAT oon'? cﬁggx ATIN axr OR Vv BIT

3050 011434 023737 00ile4 00llee CMP $GODAT, $BDDAT  :SEE IF RERD OK FROM PORT B.

305 811442 00140 BEQ 7as 'BR_IF OK

3055 11444 10400 ERROR : REPORT ERROR

3053 Oli446 000240 728: NOP

3054 811450 737 001254 ST RELERR oxo PRIVE RETURN T0 NEUTRAL 7

3055 Q011454 001402 BEQ pa BR I

3056 011456 000137 011732 IMP 1$ co WAIT FOR onxvz T0 TIMEOUT

3057 Oll4ee 113760 001226 000010 MOVE  PORTB,RMCS2(RO) ':SELECT PORT B

308 (011470 013737 00l226 001240 MOV PORTB PTNBR ;MOVE PORT RDORESS TO LOCATION FOR TYPEOUT

3059 011476 00S037 001250 CLR CKERR’ :CLERR THE 'cuecx ERROR’ INDICATOR

3060 811508 016037 0000i2 001126 MOV RMOS1(RO), SBODAT' :GET CONTENTS OF RMOS!

gggé iisi géggg; ggggég 001122 ggg gghggéhggbnon : FORM 25 ISTER ADDRESS OF ERROR MESSAGE

3063 81132 005037 001124 CLR SEST néé S“EE SHOULS

3064 011526 013737 00!126 O0OL1led MOV saoonr STMP0  :MOVE REGISTER CONTEN*S T0 '$TMPQ’

3065 011534 042737 077777 DOl16Y BIC $4CATA, STMPO ;SAVE SPECIFHED BITS

3066 011542 023737 001124 001164 CMP scoonT STMPO ' ;COMPARE T

3067 011550 001414 BEQ 'BR IF OK

3068 011552 013737 001126 001174 MOV saoonr STMP4  ;COPY ’'BAD DATA’

3069 01l 042737 100000 001174 BIC 8ATR, STHPY :CLEAR THE MASKED BITS

3070 011566 053737 001174 00lie BIS $TMPU, SGDDAT  :’OR’ WITH GOOD DATA FOR TYPEOUT

3071 011574 104017 ERROR 17 * TYPE MESSAGE 17

3072 011576 00S137 001250 COM CKERR 'SET THE REGISTER COMPARE ERROR INDICATOR

3073 011602 000240 738: NOP

3074 011604 113760 001224 000010 MOVB  PORTA,RMCS2(RO) :SELECT PORT A

3072 01161 737 D0l224 001240 MOV PORTA, PTNBR novt PORT ADDRESS TO LOCATION FOR TYPEOUT

3076 011 £037 001250 CLR CKERR' :CLEAR THE ’CHECK ERROR’ INDICATOR

3077 0lib24 016037 000012 001126 MOV RMDS1 (RO), $BODAT' ;GET CONTENTS OF RMDSI
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3078 011632 012737 000012 001122 MOV SRMDS1,$BORDR  ;FORM REGISTER RDDRESS OF ERROR MESSAGE
3079 011640 060037 001122 ADD RO, $BDADR -ADD RH11 BASE ADDRESS
3080 011684 00S037 001124 CLR sGO0AT ' WHAT REGISTER SHOULD BE
3081 011650 013737 001126 00116M MOV SBUDAT, $TMPO :MOVE REGISTER CONTENTS TO 'STMPO’
3082 011656 33273; 077777 001164 BIC 81CATA STMPO ;SAVE SPECIFIED BITS
3083 011664 023737 001124 00116 CMP $GDDAT, $TMPO mwg&rmens i
3084 011672 001414 BEQ 758 +BR IF OK
3085 811s7w 013737 001123 001174 MOV SBDDAT, STMPY ;gopv -gﬂg DATR’
3086 011702 042737 100000 001174 BIC sATR, stMPy : CLEAR MASKED BITS
3087 011710 0s3737 001174 00112y BIS $TMPY, SGDDRT :"OR’ WITH GOOD DATA FOR TYPEOUT
gose 8117§8 04017 ERROR é7 : TYPE aEsggci *E
0eg 0117 05137 001250 com KERR SET T GISTER COMPARE ERROR INDICATOR
3090 011724 000240 75$: NOP
383% 011726 000137 011764 IMP 2% GO CHECK FOR LOOP ON ERROR
3093 HH 3336333066 36 36 36 36 36 30 36 36 36 36 36 36 36 3 36 3 36 3 3 06 36 36 36 38 3636 9 38 36 3 36 3 3 3 3 36 36 3 3 3 0 3 3% 3 9 3 3 3 % %
3094 :{F RELERSE COMMAND DIDN'T RELERSE THE DRIVE, WAIT FOR THE PORT TIMEOUT
3095 +T0 RELERSE THE DRIVE
3096
3097 011732 18:
3038 011732 113760 001224 000010 MOVB  PORTA,RMCS2(RO) :SELECT PORT A
3099 011740 013737 001224 001240 MOV PORTA PTNBR ;MOVE PORT RDDRESS TO LOCATION FOR TYPEOUT
3100 011746 00S760 000012 157 RMDS1tRO) :WAIT FOR TIMEOUT TO RELERSE DRIVE
3101 011752 001004 BNE 2% ‘BR WHEN DRIVE RELERSED
3102 011754 00S737 001260 15T WATCH : CHECK THE WATCH
3103 011760 001364 BNE 18 :BR IF NOT ZERO
3104 011762 104036 ERROR 36 ‘NO TIMEOUT WITHIN 2 SECONDS
3105 011764 000004 2%: SCOPE :LOOP 7
3103
3108 s FRFHHWTEEEE RN LKL I3 33036 000 00 330 303 3 30 36 3 3 06 96 3 3 3 3 6 3 36 06 2 3 3 3 3 3 % %
gigg (ETEST 6 PORT ’'A’ NEUTRAL/RELEASE TEST
H ? 3
gifé ¥TEST OPERATION OF RELERSE COMMAND, DRIVE IN NEUTRAL
H *
3113 ¥ A. ISSUE A RELEASE COMMAND THROUGH PORT 'R’ WITH THE DRIVE IN
giig ;: NEUTRAL; VERIFY THAT THE DRIVE REMAINS IN NEUTRAL.
3116 - e s e Y S 2222222222222 332 2 2222233222232 R2 222220
3117 011766 ¥5716:
3118 011766 0£0S737 001300 157 KYBCTL : PERFORMING ONLY SINGLE TESTS ?
3119 011772 001406 BEQ 28 !BR IF NOT
3120 0117794 100002 BPL 13 :BR IF JUST ENTERED TEST
3121 011776 000137 002676 IMP EXEC 'RETURN 8 GET NEXT TEST NUMBER
3153 815805 0157 7 177777 001300 1§: MOV $-1 KYBCTL :GET SINGLE TEST INOICATOR
i 12010 112737 600005 001102 o8%: MOVB 86, $TSTAM : TEST NUMBER
3124 012016 012737 012040 001106 MOV sTESTE,SLPADR  ;LOAD LOOP ON TEST RDDRESS
3152 815833 012737 012040 OC1110 MOV $TESTE §LPERR  :LOAD LOOP ON ERROR ADDRESS
1 1 012737 000031 00.176 MOV 826. StIMES :-D0 25. ITERATIONS
3127 012040 012706 001100 TESTH: MOV #5TRlK, SP :(0AD THE STACK POINTER
3128 012044 1.5760 001224 000010 MOVB  PORTR,RMCS2(RO) ' ;SELECT PORT A
3129 012052 013737 001224 001240 MOV PORTA PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEQUT
gigg 012060 013737 001224 00l242 MOV PORTR, SEIZPT :ADDR OF PORT WHICH WILL ISSUE RELERSE
3132 Ve FRERHHE RN RN T30 0063 333 36 36 3636 3 06 06 30 36 36 3 3 36 34 38 3 3 30 0 30 3 06 0 3 3 3 %
3133 :1SSUE A RELEASE COMMAND
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AN
gigg 012066 012760 000013 000000 MOV 8$13,RMCSI(RD)  ;ISSUE A RELERSE COMMAND
glgg H e U630 0606 06 963 3 3 30 06 36 3 36 96 38 36 06 3 30 00 3 3 35 936 30 36 3 96 3 38 3606 36 36 96 3 9 3 3 3 3t 3 3 96 0 6 23 X 00 3 3 3 3 0 % %
3{39 venxrv THAT THE DRIVE IS STILL IN NEUTRAL
3140
3{3& :VERIFY THAT THE DRIVE IS IN NEUTRAL
143 012074 7 001254 CLR LERR :C THE *RELEASE ERROR ' INDICATOR
3144 815100 893937 8305?2 001122 MOV §5n551 $BDADR  FORM THE ADDRESS OF RMDS1 FOR TYPEOUT
3145 012106 060037 001122 RDD RO, $BOACS Inoo THE 1/0 BARSE ADORESS
3146 0l2i12 012737 011700 001124 MOV onOL PGM' DPR!DRY W scooqr conpnnxsou CONSTANT
3147 012120 113760 001224 000010 MOVE  PORTA,RMCS2(RQ) ;SELECT POR
3148 012126 018037 000012 001170 MOV nnosxtno) STMP2 :GET THE DRIVE STATUS REGISTER FROM PORT A.
3149 012134 042737 024001 001170 BIC sPIP!WRL ' OM, STHP2 :CLERR DONT CARES
3150 012142 013737 001170 001164 MOV STMP2, STMPD’ -COPY IT'INTO 'STMPQ’
3151 012150 04?737 100100 00116M4 BIC 8ATA!{V STMPO  ;CLEAR PORT DEPENDENT BITS FROM THE COPY
3152 012156 113760 001226 000010 MOVB  PORTB,RMCS2(RO) :SELECT PORT B.
3153 012164 0J16037 000GI2 001172 MOV RMDS1LRO) . STMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.
3184 012172 042737 024001 001172 BIC sPIP!WRL 1 OM, STMP3 :CLEAR DONT CARES
3155 012200 012737 001172 001166 MOV STMP3, STHPI -COPY IT INTO 'STMPL’
3156 012206 04c737 100100 001166 BIC $ATA'VV STMP1  ;CLEAR PORT DEPENDENT BITS FROM THE COPY
3157 0ie214 023737 O00ile4 001166 CMP sTHPO, StiP1 !1S THE STRTUS REGISTER THE SAME FROM BOTH PORTS ?
3158 012222 001006 BNE 64§ :BR IF NOT
3159 0i2224 005737 001164 ST STMPO Recxsrsns ARE THE SAME: RRE THEY ZERO ?
3160 012230 001045 BNE 66S 'BR IF
3161 012232 104046 ERROR 46 ' REPORT onrvs NOT IN NEUTRAL OR NOT SEIZED
3162 012234 000137 012434 IMP 688 'BYPRSS THE REST OF THE CHECKS
3163 012240 013737 001170 001126 6Y4S: MOV §THP2,$BODAT  ;SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
3164 012246 013737 001226 00.240 MOV PORTB, PTNBR ' SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
3165 0le2sd 113760 001226 000010 MOVE  PORTB RMCS2(RQ) :SELECT PORT B
3166 01P262 005737 001164 ST STMPQ’ :SEE IF STATUS EQ O FROM PORT A.
3167 012266 001414 BEQ 658 'BR IF ZERO
3168 012270 013737 001224 001240 MOV PORTA, PTNBR :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
3169 0le276 013737 001172 001126 MOV §TMP3 SBDDAT  :’BAD DATA’ ron ERROR TYPE oUT
3170 012304 113760 001224 000010 MOVB  PORTA RMCS2(RO) ;SELECT PORT
3171 012312 005737 0C1166 TST STMP] ' ' SEE IF srnrus EQ ZERO FROM PORT B.
3172 012316 001012 BNE 668 :BR IF NOT
3173 012320 012737 177777 001254 6SS: MOV ¢-1,RELERR :SET 'RELEASE ERROR’ INDICATOR
3174 0:2326 012760 0000Ll 00000 MOV #11 RMCS1(RD)  ;CLEAR THE DRIVE
3175 012334 0l2760 000013 000CCO MOV ¢13 RMCSI(RO)  ;RELEASE THE DRIVE
3176 012342 104030 ERROR 30 ' TYPE ERROR MESSAGE 30
3177 012344 013737 001170 001126 668: MOV §TMP2,$BDDAT  ;LOOK FOR BIT FRILURES WHEN RMDS1 READ
3178 012352 013737 001224 001240 MOV PORTA. PTNBR : CHANGE PORT NUMBER
3179 012360 042737 100000 001126 BIC $ATA, $BODAT DON’T CHECK THE ATTN BIT
3180 012366 023737 001124 001126 CMP $GDDAT,SBODAT  :ALL BITS OK ?
3155 oxgarq 001401 BEQ srs 'BR_IF OK FROM PORT R.
3182 013376 104007 ERROR : REPORT ERROR
3183 012400 013737 001172 001126 &7S: MOV srnpa $BODAT  ;CHECK RMDSL FOR BIT FAILURES - FROM PORT B.
3184 012406 013737 00l226 001240 MOV PORTB. PTNBR : CHANGE PORT NUMBER
3185 012414 042737 100000 001126 BIC 8ATA, $BDDAT :DON’T_CHECK THE ATTN BIT
3186 012422 023737 001124 001les CMP SGDDAT,$BODAT  :SEE IF READ OK FROM PORT 8.
3187 012430 00140! BEQ 689 'BR IF OK
3188 012432 104007 ERROR 7 ' REPORT ERROR
3189 0l2434 000240 688:  NOP
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gig? Cl2436 000004 SCOPE :LOOP ?
3192 HH 263 3698 36 3 36 36 36 96 96 36 3 96 3 96 9 3 3 3 36 3 3 3 X3¢ 3 3 % 3 3% 36 3 3 33 3 9 3 5 3 9 3 3 2 3 % % 5 53 % % K 4% EREER
§133 ;ﬁrssr 7 PORT 'B’' NEUTRAL/RELERSE TEST
3{32 *#TEST OPERATION OF RELERSE COMMAND, DRIVE IN NEUTRAL
;I
‘% A, 0 T ORT 'B’ WITH THE DRIVE IN

g% g OYRal . REERTRG SR Re THR Ve RESR Ine® I R LinARE . ORY
326” 12440 :-é;;i!ll!lil!ll!i!**i**iil!i!i!**!*!li!*!*ll*iilli!l**l!!lill**l*
ggoé 812440 005737 001300 B (3 4 KYBCTL : PERFORMING ONLY SINGLE TESTS ?
3203 012444 001406 BEQ 28 :BR IF NOT
3204 Oley4e 100002 BPL 18 :BR_IF JUST ENTERED TEST
3205 012450 000137 002676 TMP EXEC 'RETURN 8 GET NEXT TEST NUMBER
3206 012454 012737 177777 001300 1S: MOV $-1_KYBCTL :GET SINGLE TEST INDICATOR
3207 012462 112737 000007 001102 2% MOVEB 87, $TSTNM s TEST NUMBER .
3208 012470 012737 012512 001106 MOV $TEST?, SLPAOR  ;LORD LOOP ON TEST ADDRESS
3209 012476 012737 012512 001110 MOV $TEST7 SLPERR  ;LOAD LOOP ON ERROR RDDRESS
3210 012504 012737 00003] 001176 MOV 825, s'répms - - DO e§ n§mnous
3211 012512 01270 0011l TESTZ: MOV 85TALK +L0RD THE STACK POINTER
321§ 012516 113700 001226 000010 MOVB  PORTB,RMCS2(R0) ':SELECT PORT B
3213 012524 013737 001226 001240 MOV PORTB.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
ggig 012532 013737 00l226 001242 MOV PORTB,SEIZPT ' ;ADDR OF PORT WHICH WILL ISSUE RELEASE
3cl6 HK 334369 36 3 36 96 3 35 36 36 3 36 36 3 3 38 35 3 30 36 36 3% 96 96 3 3 3636 96 3 36 3 3 3 36 9 % 3 363 3% 3 3 3 3 3 3 36 3 3 4 3 % 3 3 3 3 % % % %
gsig : 1SSUE A RELERSE COMMAND
3553 012540 012760 000013 000000 MOV #13,RMCS1(RO)  ;ISSUE A RELEASE COMMAND
3cel HH FE NN R KN EEEEEEEEEEY i**l**l*!!!*lllli*!l!ll!iii!l!!l!!!!i!l-l!
gggg :VERIFY THAT THE DRIVE 1S STILL IN NEUTRAL
3224
gggg :VERIFY THAT THE DRIVE IS IN NEUTRAL

27 012546 005037 001254 CLR RELERR -CLEAR THE 'RELEASE ERROR ' INDICATOR
coB 815253 012737 000012 001122 MOV snnssx $BDADR ;rosn THE RDBSESS OF RMDS1 FOR TYPEOUT
3229 012560 060037 001122 ADD RO :ADD THE 1/0 BASE ADDRESS
230 8lg§§u 012737 011700 001124 MOV sMOL ! PGN! DPR! DRY WV, SGDDAT ; COMPARISON CONSTANT

31 0122% 113760 001224 000010 MOVB  PORTA,RMCS2(RO) ;SELECT PORT A.
3232 012600 N:6037 000012 001170 MOV RMDS1{RO),$TMP2 :GET THE DRIVE gggrus REGISTER FROM PORT A.
3233 012606 042737 024001 001170 BIC $PIP! WRL i OM, STHP2 :CLEAR DONT CARES
3234 012614 013737 001170 001164 MOV STMP2, STMPO COPY IT'INTO ’'STHPQ’
3235 m%& 042737 100100 001164 BIC 8ATA'UV STMPO  :CLEAR PORT DEPENDENT BITS FROM THE COPY
3236 012630 113760 001226 000010 MOVE  PORTB,RMCS2(RO) ;SELECT PORT B.
3237 012636 016037 000012 001172 MOV RMDS1IRO) ,STMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.
3238 812544 37 024001 001172 BIC sPIP!WRL 1 O, STMPS :CLEAR DONT CARES
3239 012652 013737 001172 001166 MOV STMP3, STMPI -COPY IT INTO 'STMP1’
240 012660 042737 100100 001166 BIC 8ATA'UV STMP1  CLEAR PORT DEPENDENT BITS FROM THE COPY
324] 012666 023737 001164 0O!166 CMP sTMPO, TP :1S THE STATUS REGISTER THE SAME FROM BOTH PORTS ?
3242 012674 001006 BNE 64S :BR IF NOT
3243 012676 005737 00116M 157 $TMPO 'REGISTERS ARE THE SAME: ARE THEY 2ERO ?
P4y 012702 001045 BNE 66S :BR IF NOT
3245 012704 104046 ERROR 46 :REPORT DRIVE NOT IN NEUTRAL OR NOT SEIZED
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324g 0{2705 000137 01?195 - ImP sggp o1 :BYPASS THE REST OF THETgHECKS "
UL :
8 A8 BiTE B BBick A e &szm”%ﬁﬁi BER PR E R T TR R T 1R R uTRaL
3249 012726 113750 00i226 000010 MOVB  PORTB.RMCS2(RO) ;SELEC
gsgo 81 7M 001164 TST STMPO’ SEE }Fzggnrus EQ O FROM PORT A.
1 612740 1414 BEQ 65$
3252 81 2 013737 001224 001240 MOV PORTA, PTNBR SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
3253 012750 013737 001172 001126 MOV $TMP3, SBDDAT :"BAD DATA’ ron ERROR TYPE OUT
4 (12756 &1}3759 00i224 000010 MOVB  PORTA.RMCS2(RO) ss ECT PORY
€5 012764 005737 001166 TST sT™PL’ If Sanus £Q 2ERO FROM PORT B.
3256 012770 001012 BNE sss BR IF NOT
3257 012772 012737 177777 001254 65§: MOV 1,RELERR :SET 'RELERSE ERROR’ INDICATOR
3258 013™0 012760 000011 000000 MOV 111 'RMCS1(RO)  ;CLEAR THE DRIVE
3059 013.J6 012760 000013 000000 MOV 813 RMCS1(RO)  ;RELEASE THE DRIVE
013014 104030 ERROR 30 :TYPE ERROR MESSRGE 30
326] 013016 013737 001170 001126 668: MOV $TMP2, $BDDAT :LOOK FOR BIT FAILURES WHEN RMDS1 RERD
326e 013024 013737 001224 001240 MOV PORTA. PTNBR : CHANGE PORT NUMBER
3263 013032 042737 100000 00L126 BIC 8ATA, $80DAT *DON'T CHECK THE ATTN BIT
3264 013040 023737 00iie4 001126 CMP SGODAT, SBODRT  ;ALL BITS OK ?
3265 013046 001401 BEQ 575 :BR_IF OK FROM PORT A.
326b 0l 104007 ERROR 'REPORT ERROR
3267 013052 013737 001172 001126 67S: MOV STHP3 SBODAT ' CHECK RMOS1 FOR BIT FRILURES - FROM PORT B.
3268 8138 013737 001226 001240 MOV PORTB PTNBR : CHANGE PORT NUMBER
3269 0l 042737 100000 001126 BIC 8ATA_ $BODAT *DON’T CHECK THE ATTN BIT
3270 013u74 023737 001124 001126 CMP $GODAT, $BODAT  ; SEE IF RERD OK FROM PORT B.
3271 013102 001401 BEQ £8% :BR IF O
3272 013104 104007 ERROR 7 : REPORT ERROR
3273 013106 000240 688: NOP
3274 013110 000004 SCOPE :LOOP 7
3578
3277 l*!iililil*lilul!!*l*l!!l!l!lll!iill*lil!ll*i!l*!*li*i**i*illl!!
gg;g irssr 10 PORT 'A’ RELEASE INTERFERENCE TEST
3280 *VERIFY THAT A COMMAND ISSUED BY ONE PORT IS NOT RECOGNIZED IF THE DRIVE
gggé ,* 1S SEIZED BY THE OTHER PORT.
R 3
3583 :: A. SEIZE THE DRIVE THROUGH PORT 'B’ BY WRITING 0°'S INTO RMDSI.
gggg % B. ISSUE A RELEASE COMMAND THROUGH PORT 'R’.
s ¥
gsgg ,: C. VERIFY THAT THE DRIVE IS STILL SEIZED BY PORT 'B’.
3089 :% D. RELEASE THE DRIVE THROUGH PORT ’B’. VERIFY THAT THE DRIVE SWITCHED
ggg? ¥ TO PORT 'R’.
,!
geeg ¥ E. RELEASE THE DRIVE THROUGH PORT 'R’. VERIFY THAT THE DRIVE RETURNED
3534 ,: TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.
3295 . o S35 3606 36 96 36 36 36 36 36 36 36 3 36 36 36 3 36 36 36 36 3 36 36 36 36 36 3 36 3-8 36 98 96 3 3 36 38 36 36 36 36 36 3 36 3 3 36 36 3 36 96 3 36 3 3 3 3 3 3 X %
32% 013112 t&T10:
3297 813112 005737 001300 ST KYBCTL - PERFORMING ONLY SINGLE TESTS ?
3298 Ci311b6 001406 BEQ 2% 'BR IF NOT
3299 013i20 100002 BPL 18 :BR_IF JUST ENTERED TEST
3300 013122 000137 002676 Imp EXEC :RETURN 8 GET NEXT TEST NUMBER
3301 013126 012737 177777 001300 1§: MOV 8-1,KYBCTL *GET SINGLE TEST INDICATOR
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3383 813134 61 3?7 10 001102 25%: MOVE  $10,S$TSTNM - TEST NUMBER
13de Die7e Di3ied Goiiie MOV STESTID.SLPAOR ;L0RD LOOP ON TEST ADDRESS.
] ;

3383 833138 815735 868631 381155 MOV oag. *?tgks ;-88025. ITESR 1ONS
3389 013164 012706 001100 TEST10: MOV 8STALK, SP :LORD THE STACK POINTER
gggg ;CLEAR ATTENTION BITS FOR BOTH PORTS
3310 013170 113760 001224 000010 MOVB  PORTA,RMCS2(RO) ;SELECT PORT #A
3311 013176 00S060 000012 CLR RMDS1 LRO) +GEIZE THE DRiVE
3312 013202 012760 000011 000000 MOV #11,RMCSI1(RO)  ;ISSUE DRIVE CLEAR
3313 013210 0i2760 000013 000000 MOV 813’ RMCS1(RO)  ;RELEASE THE DRIVE
3314 013216 113760 001226 000010 MOvB  PORYB, RMCS2(RD) :SELECT PORT #8
3315 013224 005060 000012 CLR RMDS 1 LRO) :SEIZE THE DRIVE THROUGH PORT 'B’
3316 013230 012760 000011 000000 MOV 811 RMCSI(RO)  ;ISSUE DRIVE CLEAR
ggig 013236 012760 000013 000000 MOV 813 RMCS1(RO)  ;RELERSE THE DRIVE
ggég HH 3363 39 36 3 36 36 3 3 3 36 36 3 3 3 26 938 3 3 3 9 369 38 3 33 3 36 3 3 3 3 3 33 3 3 5 9 3 % J %33 % 3 KK H XK KX EE
3355 SEIZE THE DRIVE THROUGH PORT B
3323 013244 113760 001226 000010 MOVB  PORTB,RMCS2(RO) :SELECT PORT B
3324 013252 013737 001226 001242 MOV PORTB'SEIZPT ;SYORE SEIZING PORT’'S ADDRESS
3325 013260 005060 000012 CLR RMDS1LRO) :WRITE RMDSI
3326 013264 113760 001224 000010 MOVB  PORTA,RMCS2(RO) :SELECT PORT A
3327 013272 013737 001224 001240 MOV PORTA.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEQUT
3328 013300 013737 001224 001244 MOV PORTA, OPPRT :"OPPOSITE’ PORT RDORESS .
3329 013306 016037 000012 001126 MOV RMOS) {RO), SBODAT' ;SEE IF DRIVE SEIZED BY PORT 8B
gaao 013314 010037 001122 MOV RO, $BDADR RH1] BASE RDORESS
331 013320 062737 000012 001122 ADD $RMDS]1,SBDADR  ; GENERATE BAD REGISTER ADDRESS
3 gxagas 005037 001124 CLR $GDOARY ;R§G¥STER BE ZERO

3 13 as 023737 001124 001126 CMP $GODAT,$BODAT ;IS THE nsgxéfe ZERO

34 013340 001403 BEAR 64S +BR IF IT IS
3335 013342 104004 ERROR 4 :REPORT THE ERROR
gggg Bigggg 0J0137 014354 s IMP 18 :BYPRSS REST OF THE SUBTEST
3338 013350 113760 001226 000010 MOVB  PORTB,RMCS2(RO) ;SELECT PORT B
3339 013356 013737 00i226 001240 MOV PORTB PTNBR :MOVE PORT RDDRESS TO LOCATION FOR TYPEOUT
3340 013364 016037 000012 001126 MOV RMDS1{RO), $BDOAT ;SEE IF SEIZING PORT SEES CORRECT STATUS
3341 013372 042737 020001 001126 BIC sOM!PIP, SBDOAT -CLEAR DONT CRRE BITS
3345 013400 012737 011700 001124 MOV #MOL ' PGAH? DPR' DRY! Vv, SGDDAT ; EXPECTED STATUS
343 013406 013737 001124 001166 MOV $GODAT,$TMP1  ;USE 800D DATA'AS A MASK
3344 013414 005137 001166 coM STMPI s COMPLEMENT THE EXPECTED STATUS
3345 0i3420 013737 00ii26 O0Ol16Y4 MOV $BODAT, $TMPO SAVE THE ACTUAL STATUS
3346 013426 043737 001166 001164 BIC sTHP1, $TMPO :CLEAR UNWANTED BITS
3347 013434 023737 001124 O00l164 CMP $GODAY, STMPO +ARE THE EXPECTED STATUS BITS SET ?
3348 013442 001401 BEQ 6SS :BR IF THEY ARE
3349 OlI3444 104005 ERROR & :REPORT THE ERROR
ggg? 013446 000240 65S: NOP
3352 s+ I I I I I I 303 333 I 3
3323 :YRY TO EXECUTE A RELERSE COMMAND THROUGH PORT A
3355 013450 113760 001224 000010 MOVB  PORTA,RMCS2(RO) :SELECT PORT A
3356 0134S6 013737 001224 001240 MOV PORTA'PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEQUT
3357 013464 012760 000013 000000 MOV #13,RMCSI(RO)’ ;ISSUE A RELERSE COMMAND THROUGH PORT R
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PORT 'R’ RELERSE INTERFERENCE TEST

S o JIIIIIIE NI 00 30 I I I HHHHHHEHHE I HHHH R R X 1 %
;VERIFY THAT THE DRIVE IS STILL SEIZED BY PORT B

668: MOV

67S: NOP

R . a5 LS cRACK g, oTCaTs

8RMDS],SBOROR ;FORM REGISTER ADORESS OF ERROR MESSAGE

RO, SBDADR ;ADD RH11 BASE RODRESS

SGOCAT ;WHAT REGISTER SHOULD BE

$GDDAT,SBODAT ;IS THE REGISTER OK ?

b6S tBR IF OK

10 'REPORT_THE ERROR

CKERR 'SET_THE REGISTER COMPARE ERROR INDICATOR

K
RMCS1(RO) , SBODAT' ~:GET THE CONTENTS OF RHCSI
#RMCS1, SBOROR  ;FORM ADDRESS OF REGISTER
oS R oA 1 TOORERR PR,

§9$ ’ '53 F 55

'BR IF NOT
11 :REPORT THE ERROR
8TRE,RMCS1(RO) ;CLEAR 'MCPE’

CKERR ; WAS RMDS! NON ZERO ?
.46 ; CONTENTS OF RMOS1 SEEN BY PORT A
1S ;DRIVE IN NEUTRAL, BYPASS REST OF TEST

s 5 BN I 0B I I B 0TI 3T 0 BT 03 0036 30 36 60 363 003 0 0 3
;RELERSE THE DRIVE FROM PORT B

MOv8B
MOV
MOV

; VERIFY

CLR
MOV
MOV
RDD
MOVB
MOV
MOV
MOVB
MOV
MOV
BEQ
TST

BEQ
ERROR

68S: MOV

MOV
CMP
BEG
ERROR

69S: NOP

PORTB, RMCS2(R0) :SELECT PORT g
PORTB PTNBR ;MOvE PORT ADDRESS TO LOCATION FOR TYPEWUT
#13,RMCS1(RD)’  ; ISSUE RELERSE THROUGH PORT B

THAT DRIVE IS SEIZED BY PORT A WHEN RELEARSED BY PORY B

RELERR -CLEAR 'RELEASE ERROR’ INDICATOR
sATA!MOL !PGM'DOPRIDRY! Vv SGDDAT ; COMPARISON CONSTANT
sRMDS] $BDADR  ;REGISTER RDDRESS’ INCREMENT

RO, $BDADR .REGISTER BASE RODRESS FOR TYPEOUT
PORTR, RMCS2(RO) ' :SELECT PORT R

PORTR'PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
RMOS1IRGC),STMPO ;READ STATUS REGISTER FROM PORT A
PORTB,RMC52(RO) ':SELECT PORT B

PORTB PTNBR :MOVE PORT ADORESS TO LOCATION FOR TYPEOUT
RMDS1'RO), $BOOAT :DRIVE STATUS FROM PORT B

£8$ .BR IF STATUS FROM PORT B Z2EROC
STMPO : 1S STATUS FROM PORT A ZERO 7
688 :BR IF ZERQ

3l 'REPORT DRIVE IN NEUTRAL

$TMPQ, $BODAT  :CHECK STATUS FROM PORT A

PORTA’ PTNBR : CHANGE PORT ADORESS FOR TYPEOUT
$GOORY, SBODAT  ;COMPARE KITH CONSTANT

63§ 'BR IF OK

27 'REPORT REGISTER ERROR
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33:{; -RELEASE THE DRIVE FROM PORT A

L5 BTm v me oo MR R B TSR e Loonron ron recow

?‘qu 14004 813750 13 %838 v 813,RACS1(RO)’ v§ m ugou?.ﬁ PéRT A

33:5{11 -VERIFY THAT THE DRIVE IS IN NEUTRAL

22 014012 005037 001254 CLR ;CLEAR THE ’RE ERROR ' INDICATOR

3423 014016 012737 000012 001122 MOV :mg?f SBDADR o&ﬁﬂr m&% RMDS1 FOR TYPEOUT

24 014024 060037 001122 ADD RO, SBDADR noo THE 1/0 BRSE ADORESS

3425 014030 012737 011700 001124 MOV smOL  PGM! DPR!DRY | vV, SGDOAT ; COMPRRISON CONSTANT

426 014036 113760 0DOi224 000010 MOVB  PORTA,RMCS2(RO) SELECT PORT'A.

427 0140 016037 000012 001170 MOV RMDS1LRO) STMP2 :GET THE DRIVE STATUS REGISTER FROM PORT A.

428 014052 042737 024001 001170 BIC mpmubn,swé :CLEAR DONT CARES

3429 014060 013737 001170 001164 MOV STHP2, STMPO COPY IT’ INTO '$TMPO’

3430 014066 0M2737 &mxm 001164 BIC sATAR! OV mvgn : CLEAR osmoem BITS FROM THE COPY

3431 014079 11 1226 000010 MOVB  PORTB, RACS2(RO) :SELECT

432 014102 016037 000012 001172 MOV RMOS1{RO) . STMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.

3433 014110 042737 024001 001172 BIC mpmubn,srmé :CLEARR DONT CARES

3434 OIN116 013737 001172 001166 MOV STHP3, STHPI com n INTO '§TMP]’

K mg 042737 100100 001166 BIC BATAI OV, STMPL NDENT BITS FROM THE COPY

) 14132 023737 001164 001166 CMP sTHPO, STP1 I§ n-: smr GISTER THE SAME FROM BOTH PORTS ?

3437 014140 001006 BNE 708

38 0l4142 005737 001164 TST S$TMPO R£GISTERS ARE THE SAME: ARE THEY ZERO ?

3439 014146 DO1045 BNE 728 ‘BR IF

440 014150 10404 ERROR 46 : REPORT DRIVE NOT IN NEUTRAL OR NOT SEIZED

4] - 014152 000137 014352 s 2 748 :BYPRSS THE REST OF THE CHECKS

Y42 014156 013737 001170 00ll126 708: MOV $TMP2, $BODAT :SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE

M43 0I416M 013737 001226 001240 MOV PORTB, PTNBR :GEIZING PORT IF TEST SHOMS DRIVE NOT IN NEUTRAL
14172 113760 001226 000010 MOVB  PORTB RMCS2(RO) :SELECT PORT B.

3445 014200 005737 001164 TST sTMP0’ SEE IF STATUS EQ O FROM PORT A.

446 0l4e04 00141M BEQ 718 ,aa IF ZERO

3447 014206 013737 001224 001240 MCY CIRTA, PTNBR ;SEIZING PORT IF TEST SHOWS ORIVE NOT IN NEUTRAL

3448 Ci4214 013737 001172 001126 MOV § 'MP3’ SBODAT : ano DATA’ roa ERROR TYPE OUT

3449 014222 113760 00i224 000010 MOVB  PORTA,RMCS2(RO) ;SELECT

3450 014230 00S737 001166 TST sTePL’ ,sss IF srmus EQ ZERO FROM PORT B.

3451 0l4e™ 001012 BNE 728 r

g:gg 1423 81273? 177777 001254 718%: MOV -1, g% RR : % ERROR’ INDICATOR
14244 012760 000011 000000 MOV 8l 1(RO) cn.r.m

4S54 014252 012760 000013 000000 MOV 813 RMCS1 (RO) RELERSE THE omvs

M55 014 60%28 ERROR g* Eams

3456 014 13737 001170 001126 728: MOV MP2, SBODAT OR BIT IL WHEN RMDS1 RERD

457 014270 013737 001224 001240 MOV PORTA PTNBR ,cm PORT NUMB

58 014276 042737 100200 001126 BIC sATA, $80DAT :DON'T CHECK nE mm BIT

459 014304 023737 001124 001126 CMP SGODAT,SBODAT  ;ALL BITS OK ?

3460 014312 001401 BEQ 735 :BR IF OK FROM PORT A.

61 014314 104007 ERROR :REPORT ERROR

62 014316 013737 001172 001126 73$: MOV smpa $BDDAT :CHECK RMDS1 FOR BIT FAILURES - FROM PORT B.

63 014324 013737 001226 001240 MOV PORTB. PTNBR : CHANGE PORT NUMBER

3464 014332 042737 100000 001126 BIC #ATA, $BDDAT :DON'T CHECK THE ATTN BIT

3465 014340 023737 001124 001126 CMP scoohr $BODAT  ;SEE IF RERD OK FROM PORT B.

3466 014346 001401 BEG 748 :BR IF OK

3467 014350 104007 ERROR 7 : REPORT ERROR

3468 014352 000240 748 NOP

3469 014354 000004 18: SCOPE ;LOOP 7
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3470

3471 H o SR I T E 32 00 363 U0 36 2E 00 3 3036 20 36 30 203 30 3 3 3 33 3 3 3 369 3 30 3 3 3 3 % 332 3 3% % % % %% %%

%;g hEST 11 PORT 'B’ RELERSE INTERFERENCE TEST

474 wsmrv THAT A COMMAND ISSUED BY ONE PORT IS NOT RECOGNIZED IF THE DRIVE

33:772 ;* 1S SEIZED BY THE OTHER PORT.

%*g :: A. SEIZE THE DRIVE THROUGH PORT ’A’ BY WRITING 0’S INTO RMDSI.

33353 :: B. ISSUE A RELEASE COMMAND THROUGH PORT B’.

33::35 :: C. VERIFY THAT THE DRIVE IS STILL SEIZED BY PORT 'A’.

483 :% D. RELERSE THE DRIVE THROUGH PORT ’'A’. VERIFY THAT THE DRIVE SWITCHED

33:3; ,: TO PORT 'B’.

486 % E. RELEASE THE DRIVE THROUGH PORT ’B’. VERIFY THAT THE DRIVE RETURNED

33333 ,: TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

3489 . S 1222222222322 2222322323 8222232233223 23 322228222222

3490 014356 ta111:

3491 014356 005737 001300 ST KYBCTL : PERFORMING ONLY SINGLE TESTS ?

492 014362 001406 BEQ 2$ ,BR IF NOT

3433 014364 100002 BPL 18 :BR IF JUST ENTERED TEST

3494 014366 000137 002676 IMP EXEC 'RETURN & GET NEXT TEST NUMBER

349 014372 012737 177777 001300 1S: MOV $-1,KYBCTL *SET SINGLE TEST INDICATOR

349 014400 (12737 000011 001102 28: MOVB 811 STSTNM :TEST NUMBER

M97 014406 012737 014430 001106 MOV 8TEST11,8LPADR :LOAD LOOP ON TEST ADDRESS

498 QI4414 012737 014430 001110 MOV msru * $LPERR Lono LOOP ON ERROR RDDRESS

3499 0i4422 012737 000031 001176 MOV sTiMES :.D0 25. ITERATIONS

gssg? 014430 012706 001100 TEST11: MOV nsméx Lono THE STACK POINTER

3502 :CLEAR ATTENTION BITS FOR BOTH PORTS

304 014434 113760 00!224 000010 MOVB  PORIR mcsamo) ,%scr PORT #A

3805 0442 000012 CLR RMDS] LRO -SETZE THE DRIVE

3506 0lvd4 012760 000011 000000 MOV sll, Rncsum) ; 1SSUE DRIVE CLEAR

3507 0l144S4 012760 eg 000000 MOV 'oa m(m) ; THE DRIVE

3508 0i4462 113760 %1“ 000010 MOVB t S2(RO) ;SELECT PORY 8

3509 0I14470 00S060 000012 CLR 1lnm sc ZE THE DRIVE THROUGH PORT ’'B’

3510 0I4474 012760 000011 000000 MOV 811,RMCS1(RO)  :ISSUE DRIVE CLEAR

%fé 014502 012760 000013 00G000 MOV 213 RMCS1(R0)  ;RELEASE THE DRIVE

33%{3 : ;!iiiiii!!iliiiii!l!**i*!'l'lll*i!*!!i*!*llil!*ll!li**!l!l{*!**l!!

33212 :SEIZE THE DRIVE THROUGH PORT A

317 014510 113760 001224 000010 MOVB  PORTA,RMCS2(RO) :SELECT PORT R

3518 014516 013737 001224 001242 MOV PORTA' SEIZPT S1’0R£ SEIZING PORT’S ADDRESS

3519 014524 00S060 000012 CLR RMOS1LRO) WRITE RMDS)

%20 014530 113760 001226 000010 MOVB  PORTB,RMCS2(RO) '-SELECT PORT B

%21 014636 013737 001226 001240 MOV PORTB, PTNBR novt PORT monsss TO LOCATION FOR TYPEOUT

3522 0I45M4 013737 001226 001244 MOV PORTB’ OPPRT *OPPOSITE’ PORT ARDDRESS

3523 014652 016037 0000l2 001126 MOV Rnosﬂnm,seoom -SEE IF oaxvs SEIZED BY PORT R

3524 014560 010037 001122 MOV RO, SBOARDR :RH11 BASE RDDRESS

3625 014564 062737 000012 001122 ADD SRMDS1,SBORDR  ;GENERATE BAD REGISTER ADDRESS
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3626 014572 005037 0OLl2M CLR $GDDAT REGISTER SHOULD BE ZERO
gg 14576 023737 001124 001126 CHP SGDOAT, SBODAT 53 THE ﬁgsm ZERO
1 14 BEQ &4
X29 01406 104004 ERROR Y4 REPORT THE ERROR
3530 n{:g{g 000137 015620 us P 18 :BYPRGS REST OF THE SUBTEST
%gé gx%w 113760 001224 000010 MOVB  PORTA,RMCS2(RO) ;SELECT PORT A
X33 014622 013737 001224 001240 MOV PORTA'PTNBR :MOVE PORT RDDRESS TO LOCATION FOR TYPEOUT
ol 81%30 016037 12 001126 MOV RMOS1LRO), SBODRT ;SEE IF saxz NG PORT SEES CORRECT STATUS
14636 (42737 { 001126 BIC lOH'PIP SB00AT CLEAR DONT CARE BITS
ﬁ 81%% 15_7,3; 011700 001124 MOV % -m-m-wcggoh cmo STATUS
14652 01 001124 001166 MOV T,8TMP1 ;USE DATA’ S
3538 014660 005137 001166 coM STMP - COMPLEMENT THE sxpscm STATUS
X39 014664 013737 001126 0OL1EM . MOV $BODAT, STMPO SAVE THE ACTUAL STATUS
40 014672 043737 001166 00116M BIC sTMP1, $TMPO cu:m UNWANTED BITS
3541 014700 023737 001124 O001leM cHP $cDDAt, $TMPO ms THE EXPECTED STATUS BITS SET ?
42 014706 001401 BEQ B5$ BR IF THEY ARE
%43 014710 104005 ERROR 5 REPORT THE ERROR
%32 014712 00Q240 658 NOP
35% o BRI T3 I3 06 39U 33 399396 363 3 U 3O 230 3 36 96 3 3 3 3 3 3 3 96 3 3 3 % 3 3 % % % ¥
gzg h:w TO EXECUTE A RELERSE COMMAND THROUGH PORT B
3649 014714 113760 001226 000010 MOVB  PORTB, mcsa(m) szuscr PORT B
3650 014722 013737 00l22e 001240 MOV PORTB PTNBR ;MOVE PORT ADORESS TO LOCATION FOR TYPEOUT
%Eé 014730 012760 000013 000000 MOV 813,RACS1(RD)’ ISSUE A RELERSE COMMAND THROUGH PORT B
JS63 ; R Y212l 222322 2222222 222222222222 2828 2 2222 22822220
332% VERIFY THRT THE DRIVE 1S STILL SEIZED BY PORT R
3556 014736 00S037 001250 CLR CKERR :CLEAR THE ’CHECK ERROR' INDICATOR
3657 014742 016037 000012 001126 MOV RMOS1(RO),SBDOAT’ :GET CONTENTS OF RMDS!
58 Q014750 012737 000012 001122 MOV sRMDS1, SBORDR  ; FORM REGISTER ADDRESS OF ERROR MESSAGE
- 59 (0]4756 060037 001122 ) RO, SBDADR -ADD RH11 BASE ADDRESS
B60 014762 005037 0011M CLR SGOOAT ' WHAT REGISTER SHOULD BE
361 014766 023737 001124 001126 CHP $GDDAT,$SBODAT ;IS THE REGISTER OK ?
}62 014774 001403 BEQ 568 'BR IF OK
014776 104010 ERROR 10 ' REPORT THE ERROR
3564 015000 00S137 001250 con CKERR :GET THE REGISTER COMPARE ERROR INDICATOR
015004 016037 000000 001126 668: MOV RMCS1(RO) seoom -GET THE CONTENTS OF RHCSI
366 015012 012737 000000 001122 MOV 8RMCS1, SBOROR  : FORM ADDRESS OF REGISTER
3567 015020 060037 001122 ADD seohon noonsss BASE
X gxggg &:«}e? 020000 001126 BIT mbps SBDORT ;IS 'MCPE’ SET 7
X689 0! 14 ) BEQ :BR IF NOT
3570 01S0M 104011 ERROR 11 : REPORT THE ERROR
3671 01503 012760 040000 000000 MOV 8TRE,RMCSI(RO) ;CLEAR ’MCPE’
3572 015044 000240 £78: NOP
3573 01504 005737 001250 TST CKERR . WAS RMDS1 NON ZERC ?
3674 015052 001402 BEQ _+6 :CONTENTS OF RMDS1 SEEN BY PORT B
gsS;E 015054 000137 015620 ° InP 18 :DRIVE IN NEUTRRL, BYPASS REST OF TEST
%% H ;**ll!*!ll!»ii*ll!ii*l!il!lll!ll!i!!!lll-l!*lli!l!li*i**il**iii!**
%Q -RELEASE THE DRIVE FROM PORT R

3581 015060 113760 001224 0000i0 Move PORTA,RMCS2(R0O) ;SELECT PORT A
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015066 013737 001224 001240 MOV PORTA,PTNBR ;MOVE PORT ADORESS TO LOCATION FOR TYPEOUT

gﬁ 01S074 012760 000013 000000 MOV 813,RMCS1(RD)’  ;ISSUE RELEASE THROUGH PORT A

:VERIFY THAT DRIVE IS SEIZED BY PORT B WHEN RELERSED BY PORT A
3587 gxsma 005037 001254 CLR RELERR {CLEAR 'RELEASE ERROR’ INDICATOR
3588 015106 012737 111700 001124 MOV 8ATA! MOL ! PGM! DPR ! omr-w §GODAT  ; COMPARISON CONSTANT
33%3 gf%i‘aaq Clo737 88??,%_5 001122 % $RMDS| $BORDR ;REGISTER RDORESS' mcggrgg; TYPEOLT
%91 015126 i.i'ac?w:a 001226 000010 MOVB m?g[msa'c'mm “gafﬁﬂpﬁi ADORE
359 01513 013737 001226 001240 MOV PORT ADDRESS TO LOCATION FOR TYPEOUT
3593 815123 01 12 00116Y4 MOV 6tnm g‘gmﬁn - RERD gm Pg REGISTER FROM PORT B
XN 0151 ugruaoa 1224 000010 MOVB  PORT (RO)
3595 015156 013737 001224 001240 MOV PORTA. PTNBR novt PORT monsss 10 Locmxon FOR TYPEOUT
X% 015164 &z)so:a? 000012 001126 MOV RMDS1{RO), SBOOAT :DRIVE STATUS FROM PORT
3597 015172 00140M BEQ 688 :BR IF STATUS FROM PORT A zeno
35 81 79 005737 001164 ST STMPO IS ?m FROM PORT B ZERO ?
35 13500 001401 BEQ sas
0, Olong OIDY 00il6d 001176 68S:  Mow . § ""’8‘.2*5?2%"‘ FROH PORT 8

e M

28 BlesTs Bidoy Riss! BBiich oV 305"’8 BT e PORT ADDRESS FOR TYPEOUT
3603 015220 023737 001124 001126 CMP scoon’r $BODAT  ; COMPARE WITH CONSTANT
304 015226 00140} BEQ 69§ :BR IF OK
3605 015230 104027 ERROR 27 *REPORT REGISTER ERROR
33239} 015232 698:  NOP
%gg :RELEASE THE DRIVE FROM PORT B
3610 015234 113760 001226 000010 MOVB  PORTB,RMCS2(RO) :SELECT PORT B
3611 015242 013737 001226 001240 MOV PORTB,PTNBR ;MOVE PORT RDDRESS TO LOCATION FOR TYPEOUT
%ig 015250 012760 000CI3 000000 MOV #13,RMCS1(RC)"  ;ISSUE RELEASE THROUGH PORT B
%ig :VERIFY THAT THE DRIVE IS IN NEUTRAL
3616 015256 005037 001254 CLR RELERR ;CLEAR THE 'RELEASE ERROR ' INDICATOR
3617 0162 &%37 000012 001122 MOV sRMDS]1,SBORDR  ;FORM THE RDDRESS OF RMDS! FOR TYPEOUT
3618 015370 37 001122 RDD RO, SBDADR ‘ADD THE 1/0 BASE ADDRESS
3619 015274 012737 011700 001124 MOV #MOL ! PGM! DPR!DRY vV, SGDDAT ; COMPARISON CONSTANT
3620 015302 113760 001224 000010 MOVB  PORTA,RMCS2(R0O) -setm PORT’A.
3621 015310 016037 000012 001170 MOV RMDS1R0) . STMP2 :GET THE DRIVE STATUS REGISTER FROM PORT A.
3622 015316 042737 024001 001170 BIC sPIP!WRL ! OM, STHP2 ;CLEAR DONT CARES
3623 015324 013737 001170 001le4 MOV §TMP2, STHPO' -COPY IT’INTO ’'STMPO
3624 015332 042737 100100 0O!164 BIC sATAIVV STMPQ  ;CLEAR PORT DEPENDENT BITS FROM THE COPY
3625 015340 113760 001226 000010 MOVB  PORTB,RMCS2(RO) ;SELECT PORT B.
3626 01634 016037 000012 001172 MOV RMDS1IRO) .STMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.
3627 015354 042737 024001 001172 BIC sPIP'WRL ! M, STMP3 :CLEAR DONT CARES
3628 015362 013737 001172 001166 MOV STMP3, STHP] :COPY IT'INTO *STMP1’
3629 015370 042737 100100 001166 BIC $ATA'UV STMP1  ;CLEAR PORT DEPENDENT BITS FROM THE COPY
3630 015376 023737 001164 001166 CMP smpu stMPl : 1S THE STATUS REGISTER THE SAME FROM BOTH PORTS ?
3631 015404 061006 BNE 708 :BR IF NOT
3632 015406 005737 00L1eM ST STMPO :REGISTERS ARE THE SAME: RRE THEY ZERQ ?
3633 015412 001045 BNE 728 :BR IF NOT
6™ 015414 104046 ERROR 46 :REPORT DRIVE NOT IN NEUTRAL OR NOT SEIZED
3635 015416 000137 015616 IMP 74$ :BYPASS THE REST OF THE CHECKS
3636 015422 013737 001170 001126 708: MOV $TMP2,$BODAT  :SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
3637 015430 013737 001226 001240 MOV PORTB, PTNBR 'SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
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PORT 'B' RELERSE INTERFERENCE TEST

MOVE
TST
BEQ
MOV

Have
TST
BNE
MOV
MOV
MOV
ERROR
MoV

MoV
BIC
CMP

BEQ
ERROR
MOV
MOV
BIC
CMP
BEG
ERROR
NOP
SCOPE

PORTB,RMCS2(R0) ;SELECT PORT B.
T™PO’ BsE }FZETQTUS EQ O FROM PORT RA.

PO&TR PTNBR SEIZING POR; IFETEST $¢33503$1VE NOT IN NEUTRAL
A AR, sgﬁ‘moa g ERROR
STHPL’ SEE_IF STATUS EQ ZERO FROM PORT B.
ES BR IF_NOT
1,RELERR :GET 'RELEASE ERROR’ INDICATOR

!11 'RMCS1(RD)  ;CLEAR THE DRIVE
3&3 ,RMCS1 (ROD) ,?EL THE

S 26

§TMP2,$BODAT  ;LOOK FOR BIT FAILURES WHEN RMOS1 READ
PORTA PTNBR : CHANGE PORT NUMBER
sATA, $8DDAT {DON’T CHECK THE ATTN BIT
SGDDAT, $8D0AT  :ALL BITS OK ?
7as :B8R IF OK FROM PORT A.

REPORT ERROR
srnpa $BODAT  :CHECK RMDSL FOR BIT FAILURES - FROM PORT B.
PORTB PTNBR :CHANGE PORT NUMBER
8ATA, $BODAT :DON’T CHECK THE ATTN BIT
scoohr SBODAT  :SEE IF READ OK FROM PORT €,

748 BR IF OK

7 : REPORT ERROR

;LOOP ?

,‘!ll!ll!ll!lllll!!!l!!liliilii*l!iii!!l*il*li!*!*!!iii*!{ii*{iii
TEST 1@

!VERIFYBTHRT AR RELEASE COMMAND PERFORMS NO ACTION IF ISSUED WHEN ERROR

PORT 'R’ RELEASE W/ERRORS TEST

ITS ARE SET IN THE DRIVE.
SEIZE THE DRIVE THROUGH PORT A’ BY WRITING 0'S INTO RMDSI.
WRITE 1°S INTO RMER1 THROUGH PORT 'A’.

ISSUE A RELEASE COMMAND THROUGH PORT 'A’. VERIFY THRT THE ’GO’
BIT HAS RESET, THAT THE DRIVE HAS NOT RETURNED TO NEUTRAL, AND
THAT RMER1 HAS NOT BEEN CLERRED.
CLEAR RMER1 BY ISSUING A DRIVE CLEAR COMMAND THROUGH PORT 'A’.

ISSUE A RELERSE COMMAND THROUGH PORT 'R’. VERIFY THAT THE DRIVE
RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

TST
BEQ
BPL
JMP
MOV

MOVB
MOV

l**l**ll!ll!*l**l*il**l*il!Il!*lil*l!*illllll!!!llll!l!li!!l!!l

KYBCTL ; PERFORMING ONLY SINGLE TESTS ?
4 ] :BR IF NOT

1$ :BR_IF JUST ENTERED TEST

EXEC RETURN 8 GET NEXT TEST NUMBER
$-1,KYBCTL :SET SINGLE TEST INDICATOR

812, STSTNM : TEST NUMBER

$TEST12,8LPADR ;LORD LOOP ON TEST ADDRESS
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MACY1l 30(1046) 01-RUG-77 11:02 PARGE 71
PORT 'R’ RELEASE W/ERRORS TEST

MOV 8TEST12,SLPERR ;LORD LOOP ON ERROR RDDRESS
MOV 825. STIMES : D0 5. ITERATIONS
MOV sSTALK, SP :{ORD THE STACK POINTER

:CLERR ATTENTION BITS FOR BOTH PORTS

MOVB  PORTA,RMCS2(RO) :SELECT PORT #A
CLR RMDS1 LRD) :SEIZE THE DRIVE

MOV 811,RMCSI(RD)  ;ISSUE DRIVE CLEAR

MOV 813 RMCS1(RO)  ;RELEARSE THE DRIVE

MOVB  PORYB,RMCS2(RO) :SELECT PORT 8

CLR RMDS1 {RO) :SEIZE THE DRIVE THROUGH PORT 'B’
MOV 811 ,RMCS1(RO)  ;ISSUE DRIVE CLERR

MOV #13'RMCS1(RO)  RELERSE THE DRIVE

;;li!!ii*l*l*lll!ll‘l!lllli&il!li!*!!i**lilil!lill*i!**!*il!li!!*

;SEIZE THE DRIVE THROUGH PORT A

MOVB  PORTA,RMCS2(RO) ;SELECT PORT A
MOV PORTR!SEIZPT ;SYORE SEIZING PORT’S ADDRESS
CLR RMDS 1 LRO) :WRITE RMDS!

MOV PORTB, OPPRT :*OPPOSITE’ PORT ADDRESS

;-l*!*l*li!l!I*lIl!!l!!!llllil!il!!!llliiili!*ii*i*!il!l!!l*lil!l
: FORCE AN ERROR

MOV s-],RMERI(RQ)  ;SET ERROR BIT
MOV u§ %su%) ?Ssxf A Rsllngs COMMAND

CLR CKERR :CLEAR THE 'CHECK ERROR’ INDICATOR
MOV RMCS1(RO),SBODAT' :GET CONTENTS OF RMCS!

MOV $RMCS1, $B0RDR  ; FOAM REGISTER ADDRESS OF ERROR MESSAGE
ADD RO, SEDADR ;ADD_RH11 BASE RADDRESS

MOV 8401, SCDDAT  ;WAHAT REGISTER SHOULD BE

MOV s80DAt STMPO ' :MOVE REGISTER CONTENTS TO ’'STMPQ’

BIC 81C4012 $TMPO ;8AVE SPECIFIED BITS

CMP $GODAT, §TMP0 ' ;COMPARE THE BITS

BEQ 668 :BR IF 0K

MOV SBDDAT.STMPY > COPY *BRD DATA’

BIC 84012, $ TMPY : BITS

BIS §TMP4,SGODAT  ;’OR’ WITH GOOD DATR FOR TYPEOUT
ERROR 25 ' TYPE MESSRGE 25

Con™ CKERR !SET THE REGISTER COMPARE ERROR INDICATOR
TST  CKERR :DID 'GO’ BIT RESET ?

BNE ‘46 'BR IF NQT

JMP 1760 BIT RESET

18 :
MOV SCLR,RMCS2(RO) INIT THE RH1l

MOVB  PORTA,RMCS2(RD) ' :SELECT PORT R

MOV PORTA.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
MOV 813,RMCS1(RO)’  ;RELEASE THE DRIVE THROUGH PORT R

IMP 2§ :BYPASS THE REST OF THE TEST

;-!!ii!*i!!i**liil*i*!***li**il*!iil!lil!l!*l!!*l**!*li!illi{!lii
:VERIFY THAT DRIVE IS STILL SEIZED BY PORT A

SEQ 0073




HOB

MO-11-DZRMG-R,RMO3 DUAL PORT LOGIC TEST - PART 1 MACY1] 30(1046) O1-AUG-77 11:02 PAGE 72 SEQ 0074
DZRMGA.PI1 01-RUG-77 10:58 T12 PORT ’A’ RELERSE W/ERRORS TEST
3750 016174 .13760 001226 000010 MOVB  PORTB,RMCS2(RO) ;SELECT PORT B
3751 81 13737 cmg% 001240 MOV PORTE.PTNBR ;MOVE PORT SS TO LOCATION FOR TYPEOUT
3752 01621 001 CLR CKERR ;CLEAR THE 'CHECK ERROR’ INDICATOR
3753 016214 016037 000012 001126 MOV RMDS1(RO), SBDOAT  ;GET CONTENTS OF RMDS
3754 ngg %n’ 17 001122 MOV sRMDS],SBOROR ;FORM REGISTER ADORESS OF ERROR MESSAGE
3755 01 37 0011 ROD RO, SBDADR -RDD RH1l BASE ADDRESS
3756 016N 005037 00112M CLR $GODAT : WHAT REGISTER SHOULD BE
3757 016290 023737 001124 001126 CMP SGODAT,$BDDAT  :IS THE REGISTER OK ?
3758 016246 001403 BEQ 688 :BR IF OK
3759 01@ 104024 ERROR 24 : TYPE MESSAGE 24
3760 0l 137 001250 COM CKERR 'SET THE REGISTER COMPARE ERROR INDICATOR
3761 016256 68S:  NOP
3762 0lbeb0 113760 001224 000010 MOVB  PORTA,RMCS2(RO) :SELECT PORT A
3763 8162&6 013737 001224 001240 MOV PORTA,PTNBR ;MOVE PORT ROORESS TO LOCATION FOR TYPEOUT
376N 016274 005037 001250 CLR CKERR :CLERR THE ’'CHECK ERROR’ INDICATOR
3765 016300 016037 000014 001126 MOV RMER1 (RO), SBODAT' :GET CONTENTS OF RMER!
3759 81 %g; 14 001122 MOV O%Bbm .FORM REGISTER RDORESS OF ERROR MESSAGE
76 123105 1122 ADD RO :ADD RH11 BASE ADDRESS
3768 016320 012737 177777 001124 MOV 8177777 SGDOAT :WHAT REGISTER SHOULD BE
37;3 313‘33 %37 7 001124 001126 MP ;coom,teoom :1S THE REGISTER OK ?
? 1 14 £Q 0s :BR IF OK
3771 01633% 104010 ERROR 10 :REPORT THE ERROR
3772 016340 005137 001250 CoM CKERR :GET THE REGISTER COMPARE ERROR INDICATOR
5:;;3 016344 000240 708:  NOP
3778 HH 36333006 3333003 0060303 0 3 98 3 3 3 96 % 3 9 3 3 9 3 96 9 3 3 3% 96 3% 3 9 3 3 3% 3 3 3 3 3¢ 3 3% 3 % %
:34;;; :LLEAR THE ERRORS THROUGH PORT A
g;;g 016346 012760 000011 0000CO MOV 811, RMCS1(RO)  ;ISSUE A DRIVE CLEAR
g;g? ; ;iii!!*i!**i***!*!!'l'*i*il*{l!l*!li!li*ll!lll!l*ll!*lli!{!llliil*
gggg .RELEASE THE DRIVE FROM PORT A
3784 016354 113760 001224 000010 MOVE  PORTA,RMCS2(RD) :SELECT PORT A
3786 016362 013737 001224 001240 MOV PORTR.PTNBR ;MOVE PORT ADORESS TO LOCATION FOR TYPEOUT
g;gg 016370 012760 000GI3 0000CO MOV 813,RMCS1(RO)’ ; ISSUE RELERSE THROUGH PORT A
g;gg :VERIFY THAT THE DRIVE IS IN NEUTRAL
3790 016376 005037 001254 CLR RELERR :CLEAR THE 'RELEASE ERROR ' INDICATOR
3791 0ie402 012737 000012 001122 MOV $RMDS1, SBORDR  ;FORM THE ADORESS OF RMDS1 FOR TYPEOUT
3792 016410 060037 001le2 ADD RO :ADD THE 1/0 BASE ADDRESS
3793 Ql1eMIM 012737 011706 001124 MOV sMOL ' PGM! DPR! DRY!VV $GDDAT ; COMPARISON CONSTANT
3794 016422 (13760 001224 000010 MOVB  PORTA,RMCS2(RO) ;SELECT PORT'A.
3795 016430 016037 0000j2 001170 MOV RMDS1{RO)  STMP2 :GET THE DRIVE STRTUS REGISTER FROM PORT RA.
379% 016436 042737 024001 001170 BIC sPIP!LRL O, STMP2 :CLEAR DONT CARES
3797 01e¥ 013737 001170 001164 MOV STHP2 STMPO COPY IT'INTO ’'$TMPQ’
3798 016452 042737 100100 001164 BIC 8ATA'V, STMPO  :CLEAR PORT DEPENDENT BITS FROM THE COPY
3799 016460 113760 001226 000010 MOVB  PORTB,RMCSZ(RO) ;SELECT PORT B.
3800 016466 016037 000012 001172 MOV RMOSILRO) ,$TMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.
3801 016474 042737 024001 001172 BIC sPIP!WRL ' ON, STHP -CLEAR DONT CARES
3802 016502 013737 001172 001166 MOV STMP3, STHPI :COPY IT'INTO 'STMP1’
3803 016510 042737 100100 001166 BIC SATA'VV. STMP1  CLEAR PORT DEPENDENT BITS FROM THE COPY
3804 016516 023737 001164 001166 CMP STMPO, STMPI : 1S THE STATUS REGISTER THE SAME FROM BOTH PORTS ?
3805 016524 001006 BNE 728 :BR IF NOT




106

MD-11-DZRMG-A,RMO3 DUAL PORT LOGIC TEST - PART | MACY!1]l 30(1046) O0l-AUG-77 11:02 PAGE 73 SEQ 0Q07s
DZRMGAR.PI11 '01-AUG-77 10:58 T12 PORT 'R’ RELEASE W/ERRORS TEST

3806 016526 005737 001164 TST $TMPO REGISTERS ARE THE SAME: ARE THEY ZERQ 7
T oieade QOLOMS BQEOR 5”’ T IN UTRﬂL NOT SEIZED
BEOOD RS g B K O W EIE
11 Bitads BIFH BWisR BRI nov  Bonre AYRER EExz&'&"SB&P&F ?ﬁBT °Ba§v: RoT IR REUTRAL
3812 016556 113760 00l226 000010 MOVB PORTB RMCS2(RO)
3813 016564 005737 001164 TST STMPO’ SEE IF STQTUS EQ O FROM PORT A.
3814 016570 001414 BEQ 733 BR F ZERO
3815 016572 013737 00lee4 001240 MOV PORTR,PTNBR SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
3816 016600 013737 001172 001126 MOV srnpa $BODAT 'eno DATA FOR ERROR TYPE OUT
3817 81 663739 001224 000010 MOVB PORTQ RMCS2(R0O) SELECT PORT
3818 016614 57 001166 TST sTMPL’ SEE IF STRTUS EQ ZERQ FROM PORT B.
3819 016620 004012 BNE 748 ,BR IF NOT
ggso Blgggs 81 737 656??7 00124 73%: MOV 8-1,RELERR :SET 'RELERSE ERROR’ INDICATOR

1 1 011 000000 MOV 011 'RMCS1 (RO) CLERR HE DRIVE
3822 016636 012760 000013 000000 MOV l13 RMCS1 (RO} RELERSE THE DRIVE
3823 016644 104026 ERROR 26 : TYPE ERROR MESSAGE 26
3824 01664 013737 001170 001126 74S: MOV $TMP2, SBDDAT LOOK FOR BIT FRILURES WHEN RMDS! RERD
3825 016654 013737 00le2d 001240 MOV PORTA. PTNER CHRHGE PORT NUMBER
3826 016668 042737 100000 001126 BIC 8ATA, $BODAT DON T CHECK THE RTTN BIT
3827 016670 023737 00i124 001126 CHP SGDD&T $BDDAT RLL BITS OK ?
3628 016676 001401 BEQ 755 BR IF OK FROM PORT RA.
36829 016700 104007 ERROR REPORT ERROR
3830 016702 013737 001172 001126 758: MOV srnra $80DAT CHECK RMDS]1 FOR BIT FRILURES - FROM PORT B.
3831 016710 013737 001226 001240 MOV PORTB. PTNBR CHRNGE PORT NUMBER
3832 016716 0M2737 100000 001126 BIC $ATA, $B0DAT DON T CHECK THE ATTN BIT
3833 016724 023737 001124 001126 CHP SGDDhT $BODAT SEE IF READ OK FROM PORT B.
3834 016732 00140l BEQ 76$ BR IF 0K
3835 016734 104007 ERROR 7 REPORT ERROR
3836 016736 000240 768: NOP
gggg 016740 000004 2s: SCOPE :LOOP ?
3839 s s NI R R R k¥
gg:? iTEST 13 PORT 'B’ RELERSE W/ERRORS TEST
3842 iVERIFY THAT A RELEASE COMMAND PERFORMS NO RCTION IF ISSUED WHEN ERROR
gg:a ;* BITS ARE SET IN THE DRIVE.
gg:g ;: R. SEIZE THE DRIVE THROUGH PORT °'B’ BY WRITING 0’S INTO RMDSI.
gg:g E* B. WRITE 1'S INTO RMER! THROUGH PORT 'B’.

;*

3849 ;# C. ISSUE A RELEARSE COMMAND THROUGH PORT 'B'. VERIFY THRT THE GO’
3850 s ¥ BIT HARS RESET, THAT THE DRIVE HAS NOT RETURNED TO NEUTRAL, AND
ggé ;: THAT RMER1 RAS NOT BEEN CLERRED.
ggga +# D. CLERR RMERY BY ISSUING R DRIVE CLERR COMMAND THROUGH PORT 'B’.

. ;'l
385S :# E. ]SSUE A RELEASE COMMAND THROUGH PORT 'B’. VERIFY THRT THE DRIVE
3857 B RETURNED TO NEUTRAL AND THAT NEITHER RTTENTION BIT IS SET.

. ¥

3858 NI N RN R RN RN NI KRR R R RER
3859 016742 té713.
3860 016742 005737 001300 TST KYBCTL ;PERFORMING ONLY SINGLE TESTS ?
3861 016746 001406 BEG c3 BR IF NOT
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JOB

MACY1]l 30(1046) 01-AUG-77 11:02 PAGE 74
PORT 'B’ RELEASE W/ERRORS TEST

BPL 1§ ;BR_IF JUST ENTERED TEST

S HY S e Tt

MOVB #13, STSTNM ES

T
mov ATERTLd $PORR i{0AQ |90E QN IRST ARRRERE
MOV 825, STimMES :-D0 25. ITERATIONS
MOV 8STRLK, SP :(ORD THE STACK POINTER

; CLERR ATTENTION BITS FOR BOTH PORTS

MOVB  PORTA,RMCS2(RO) ;SELECT PORT #A
CLR RMOS1{RO) :SEIZE THE DRIVE

MOV 811,RMCS1(RO) :ISSUE DRIVE CLEAR

MOV 813 RMCS1(RO)  ;RELEASE THE ORIVE

MOVB  PORYB,RMCS2(RO) ;SELECT PORT 88

CLR RMDS1 LRO) "GEIZE THE DRIVE THROUGH PORT 'B’
MOV #11,RMCS1(RO)  ;ISSUE DRIVE CLEAR

MOV $13'RMCS1(R0)  ;RELEASE THE DRIVE

RO R

;SEIZE THE DRIVE THROUGH PORT B

MOVB  PORTB,RMCS2(RO) :SELECT PORT B
MOV PORTB.SEIZPT ;SYORE SEIZING PORT'S ARDDRESS
CLR RMDS 1 LRO) -WRITE RMOSI

MOV PORTA, OPPRT . "OPPOSITE® PORT ADDRESS

N ERBAEEERNEETEEE TR R %535 % 55933 5 3 %3 3% 533 F %% % %% %% %R EEXE
:FORCE AN ERROR

668%:

MOV #-1,RMERI(RD)  ;SET ERROR BITS

MOV £13'RMCS1(RO)  ;ISSUE A RELEARSE COMMAND

CLR CKERR :CLERR THE 'CHECK ERROR' INDICATOR

MOV RMCS1(RO), $SBDDAT' :GET CONTENTS OF RMCSI

MOV 8RMCS1,880ADR ; FORM REGISTER RDDRESS OF ERROR MESSAGE
ADD RO, SBOADR -ADD RH11 BASE RDORESS

MOV 84012, SGODAT ;WHAT REGISTER SHOULD BE

MOV s80DAY, STMPO ’ :MOVE REGISTER CONTENTS TO ’'S§TMPO'

BIC 81C4012,8TMP0  ;SAVE SPECIFIED BITS

CMP SGODAT,$TMPO ' ;COMPRRE THE BITS

BEQ b6$ ‘BR IF OK

MOV $BODAT,STMP4  :COPY 'BRD DATA’

BIC 84012, $TMPY 'CLEAR THE MASKED BITS

BIS $TMPY $GODAT  :’'OR’ WITH GOOD DATA FOR TYPEOUT
ERROR 25 : TYPE MESSAGE 25

ggg CKERR :SET THE REGISTER COMPARE ERROR INDICATOR
ST CKERR -DID 'GO’ BIT RESET ?

BNE .46 ‘BR IF NOT

IMP 18 760" BIT RESET

MOV $CLR,RMCS2(R0) ;INIT THE RH1I

MOVE  PORTB,RMCS2(RO) ':SELECT PORT B

MOV PORTB.PTNBR ;MOVE PORT RODRESS TO LOCATION FOR TYPEOUT
MOV #13,RACS1(RO)’ ;RELEASE THE DRIVE THROUGH PORT B

IMP 2§ :BYPRSS THE REST OF THE TEST

SEQ 0076
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1
3318 H ;l'llll!!iiililliill*l!!ii“!!!iiil!lllll*lll!lili!lllill!il!!ii!
3920 :VERIFY THAT DRIVE IS STILL SEIZED BY PORT B
4 18:

§§§é 8{3314 113760 001224 000010 MOVB  PORTR,RMCS2(RO) ;SELECT PORT A

3924 017322 013737 001224 001240 MOV PORTA PTNBR ;MOVE PORT ﬂEORE§E TO LOCATION FOR TYPEOUT
3925 017330 005037 001250 CLR CKERR -CLEAR THE 'CHECK ERROR’ INDICATOR

o i NET X mim M Sl LR U cron resoce

§ ;

355 81735 BisdT BTNis OV sRMOSL SEOAOR FORN REGISTER AOORESS.

3929 017354 00S037 0OLl2M CLR $GODAT :WHAT REGISTER SHOULD BE

3930 Q17360 (23737 001124 001126 CMP $GDDAT, SBODART ;IS THE REGISTER OK ?

3931 017366 001403 BEQ b8s ‘BR IF OK

3932 017370 104024 ERROR 24 : TYPE MESSAGE 24

3933 017372 005137 001250 CoM CKERR 'SET THE REGISTER COMPARE ERROR INDICATOR
3934 017376 000240 68%: NOP

3935 017400 113760 001226 000010 MOVB  PORTB,RMCS2(R0O) :SELECT PORT B

393 017406 013737 001226 001240 MOV PORTB PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
3937 017414 00S037 001250 CLR CKERR :CLEARR THE 'CHECK ERROR' INDICATOR

3938 017420 016037 000014 001126 MOV RMER] (RO) , $BDOAT’ :GET CONTENTS OF RMER]

3939 017426 012737 000CI4 001122 MOV 'R"§§6a38°n°R :FORM REGISTER n38852§ OF ERROR MESSAGE
3940 017434 060037 001122 ROD RO ADD RH11 BASE S

gqq 817438 8%57 7 177777 Q0ll2v4 MOV 8177777 SGDDAT :WHAT REGISTER SHOULD BE

42 0174 737 001124 001126 CMP $GODAT,$BODAT ;IS THE REGISTER OK °

3943 017454 001403 BEQ 708 :BR IF OK

g 4y 817w58 684059 ERROR é” :REPORT THE ERROR

45 01746 c137 001250 CoM KERR :GET THE REGISTER COMPARE ERROR INDICATOR
333? 017464 000240 708: NOP

3948 H Y Y22 22 2222222222222 32 222222222222 2322222322223 2233222
gggg :CLEAR THE ERRORS THROUGH PORT B

gggé 017466 012760 COO0I1 00COCO MOV #11,RMCSI(RO)  ;ISSUE A DRIVE CLEAR

ggga H ;i*ll»*!***ll****l!lll!l*l!!l!li!il!l!i!i!l!i*li*llllil!*l!ii!i*l

gggg :RELEASE THE DRIVE FROM PORT B

3957 017474 113760 001226 0000!0 MOVB  PORTB,RMCS2(RQ) ;SELECT PORT B

3958 017502 013737 001226 001240 MOV PORTB.PTNBR ;MOVE PORT ADDRESS TQ LOCATION FOR TYPEOUT
gggg 017510 012760 000013 000000 MOV 813, RMCSI(RO)’ ;ISSUE RELERSE THROUGH PORT B

33&5 : VERIFY THRT THE DRIVE IS IN NEUTRAL

3963 017516 005037 001254 CLR RELERR CLEAR THE 'RELEASE ERROR ' INDICATOR

964 813335 012737 000055 ooll2z MOV sRMDS]1,$B0ADR  ;FORM THE ADORESS OF RMDS1 FOR TYPEOUT

365 0l 0037 0011 RDD RO, SBOADR {ADD_THE 1/0 BASE ADDRESS

3966 017534 012737 011700 001l24 MOV ML ' PGM! DPR! DRY ! vV, SGDDAT ; COMPARISON CONSTANT

3967 017842 113760 00i224 0000LD MCVB  PORTR,RMCS2(R0) ;SELECT PORT R.

3968 017550 016037 000012 001170 MOV RMDS1IRO) . STMP2 :GET THE DRIVE STATUS REGISTER FROM PORT A.
3969 017556 042737 024001 001170 BIC sPIP!WRL ! OM, STHPS :CLEAR DONT CARES

3970 017564 013737 001170 0O0116M MOV §TMP2, $TMPO -COPY IT INTO 'STMPOQ’

3971 017572 042737 100100 0OC116d BIC 8ATATVV, STMPO  ;CLEAR PORT DEPENDENT BITS FROM THE COPY
3972 017600 113760 001226 000010 MOVB  PORTB,RMCS2(RO) ;SELECT PORT B.
3973 017606 016037 000012 001172 MOV RMDS1{RO),$TMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.




LOG6

MO-11-DZRMG-R,RMO3 DUAL PORT LOGIC TEST - PART | MACY!l 30(1046) O01-AUG-77 11:02 PAGE 76 SEQ 0078
DZRMGA.P11 '01-AUG-77 10:58 T13 PORT 'B’ RELEASE W/ERRORS TEST

3974 017614 042737 024001 001172 BIC sPIP!WRL!OM, STMP3 sCLEAR CNT CARES
017558 13737 001172 001166 MOV STMP3, STMP1' ; COPY 1T INTO *$TMPL’

3976 0! 2737 100100 001166 BIC BATAIVV, STMPI CLERR PORT DEPENDENT BITS FROM THE COPY
017636 023737 001164 001166 CHP STMFO, stmpl IS THE STHTUS REGISTER THE SAME FROM BOTH PORTS 7
017644 001006 BNE 723 BR IF

3979 (01764 005737 001164 TST S$TMPO REGISTERS ARE THE SAME: ARE THEY ZERO 7

3980 017652 001045 BNE 748 BR IF NOT

3981 017654 104046 ERROR Y46 RE”ORT DRIVE NOT IN NEUTRRL OR NOT SEIZED

3982 017656 000137 020056 JMP 768 BYPﬂSS THE REST OF THE CHECK

3983 (017662 013737 001170 001126 72$: MOV $TMP2, $SBDOAT SET UP POSSIBLE BRD DATA FOR ERROR MESSAGE

3984 017670 013737 001226 001240 MOV PORTB,PTNBR SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL

3985 017676 113760 001226 000010 MOVB PORTB RMCS2(R0O) SELECT T B.

3986 017704 737 001164 TST STMPO’ SEE IF STRTUS EQ O FROM PORT A.

3987 017710 001414 BEQ 738 BR IF ZERO

39688 017712 013737 00i2ed 001240 MOV PORTR,PTNBR SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL

3989 017720 013737 001172 001126 MOV STHP3 $BODAT ’BﬂD DATR’ FOR ERROR TYPE OUT

3930 017726 113760 001224 000010 MOVB PORTR RMCS2(RQ) SELECT PORT

3991 017734 00S737 001166 TST sTHP]’ SEE IF STRTUS EQ ZERO FROM PORT B.

3932 017740 001012 BNE 745 BR IF NOT

3993 01774¢ 012737 177777 001254 73$: MOV 1,RELERR ;SE 'RELERSE ERROR’ INDICATOR

3994 017750 012760 000011 000000 MOV lll 'RMCS1 (RO) :CLEAR THE DRIVE

399S 017756 012760 000013 000000 MOV 813 RMCS1(RO) ;RELERSE THE DRIVE

399 017764 104026 ERROR 26 : TYPE ERROR MESSAGE 26

3937 017766 013737 001170 001126 748: MOV $TMP2, $SBODAT ;LOOK FOR *T FRILURES WHEN RMDS! RERD

3998 017774 Q13737 001224 001240 MOV PORTR PTNBR : CHANGE PO

3999 020002 2737 100000 001126 BIC sATA, $BDDAT DON T CHECK THE RTTN BIT

4000 C.'0010 023737 001124 00ilee CMP SGDDAT $BODAT QLL BITS OK ?

Y4 Oé DJQOéB 1Y BEQ 755 BR IF OK FROM PORT R.

4002 0030 104 ERROR REPORT ERROR

4003 0.0022 013737 001172 00!126 75§: MOV STHP3 $8DDAT CHECK RMOS! FOR BIT FRILURES - FROM PORT B.

4004 020030 013737 00le26 001240 MOV PORTB.PTNBR CHQNGE PORT NUMBER

400S 020036 042737 100000 001126 BIC $ATA, $BDDAT DON T CHECK THE ATTN BIT

4006 020044 023737 001124 001126 CHP SGDDﬁT $BDDAT SEE IF RERD OK FROM PORT B.

4007 02005 001401 BEQ 768 BR IF O

4008 020054 104007 ERROR 7 REPORT ERROR

4009 020056 000240 768: NOP

4010 020060 000004 es: SCOPE ; LOOP 7

.

4013 : !i!ill*lililil*l!!*!****i!!*iil!!l*ili!i*!ii***ki*****llilillli

38%; 5TEST 14 PORT 'R’ SEIZE AND CLERR TEST

4016 lVERIFY THAT A MASSBUS CLEAR OR DRIVE CLEAR WILL NOT CAUSE THE SEIZING

zgig ,: PORT TO RELERSE THE DRIVE.

4019 s# A. SEIZE THE DRIVE BY WRITING 0'S INTO RMDSI THROUGH PORT 'A’.

: ? ;: VERIFY THAT THE DRIVE HARS BEEN SEIZED.

4022 +# B. ISSUE R DRIVE CLEAR THROUGH PORT 'A’ AND VERIFY THAT THE DRIVE

:gg& ;: DOES NOT RETURN TO NEUTRAL.

4025 El C. ISSUE A MASSBUS CLEAR THROUGH THE RH70 AND VERIFY THAT THE DRIVE

38229 Ly DOES NOT RETURN TO NEUTRAL.

¥
4028 % D. RELERSE THE DRIVE THROUGH PORT ’'A’. VERIFY THAT THE DRIVE
4029 < % RETURNED TO NEUTRAL AND THRT NEITHER ATTENTION BIT IS SET.
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40 ;l
:8 020062 . é?}ﬁl!ll!ll!!!ill*!i**l!!!ili!*!!**i!*iil‘ll!!iiii!il!!llll!ll!ll
4033 ggoosa ggszgg 001300 | 535 ngCTL ;sgaqgng&;c ONLY SINGLE TESTS ?
M oaoouamrses 000195 002676 % xec R LR UL ENERED TEST e
4037 020076 012737 177777 001300 1S: MOV 8-1,KYBCTL :GFT SINGLE TEST INDICATOR
4038 10N 112737 000014 001102 2S: MOVB 814 $TSTNM : TEST NUMBER
40239 1i2 012737 020134 001106 MOV #TESTIH,SLPADR ;LOAD LOOP ON TEST ADBDRESS
4040 020.20 012737 020134 001110 MOV 8TEST14 SLPERR :LOAD LOOP ON ERROR RDDRESS
4yo4! 020126 012737 000031 001176 MOV 825, STIMES + D0 25. ITERATIONS
:g:g 020134 012706 001100 TEST14: MOV #STALK, SP :(0RD THE STACK POINTER
:gzg H ;li!l**i*l**llll*!*l!!**lllil!lllil!ll!il!lliil!!il!il*i*i!l*}!*
3839 :SEIZE THE DRIVE THROUGH PORT A
4o48 020140 113760 001224 000010 MOVB  PORTA,RMC52(RO) :SELECT PORT A
4049 Q20146 013737 001224 001242 MOV PORTA SEIZPT ;SYORE SEIZING PORT’S ARDDRESS
4050 020154 005060 000012 CLR RMDS1LRO) WRITE RMDS!
4051 020160 113760 001226 000010 MOVB  PORTB,RMCS2(RO) :SELECT PORT B
482% 020166 013737 831225 001240 MOV PARTB,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
S d How Ebs QR Ol S S e
4085 (OcJll 8100 33??52 MOV RO ' RALI aasz néS&zéE
4056 020214 062737 000012 001122 ADD SRMDS1,$BDADR  : GENERATE BAD REGISTER ADDRESS
4057 027722 005037 881124 CLR $GDDAT :REGISTER SHOULD BE ZERO
4058 Q0or 36 023737 001124 001126 CMP §GODAT,$BODAT ;I THE REGISTER ZERO
4059 0. i 34 001403 BEQ B4S 'Br IF IT IS
4060 Q2U236 683004 ERROR M ' REPORT THE ERROR
:ggé 0¢§§:3 137 021460 s Jnp 18 :BYPRSS REST OF THE SUBTEST
v .
4063 020244 113760 001224 000010 MOVB  PORTA,RMCS2(RO) :SELECT PORT A
40e4 020252 013737 001224 001240 MOV PORTA'PTNER  :rMOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
4065 Ocuebl 016037 0000i2 001126 MOV RMDSI{RO), SBOORT ;SEE IF SEIZING PORT SEES CORRECT STATUS
4066 gsoesa 042737 020001 001126 BIC $OM'PIP, SBOOAT . CLEAR DONT CARE BITS
4067 020274 012737 011700 001124 MOV $MOL ! PGH! DPR' DRY! vV, SGODAT ;EXPECTED STATUS
4068 020302 013737 001124 001166 MOV SGDDAT, STMP1  ;USE 400D DATA’AS A MASK
4069 020310 005137 001166 COM STMP] -COMPLEMENT THE EXPECTED STATUS
4070 020314 013737 001126 001164 MOV SBODAT,STMPO | SAVE THE ACTUAL STATUS
4071 020322 043737 001166 001164 BIC sTMPL, $TMPO :CLERR UNWANTED BITS
38;5 gggggg gg?zgz 001124 001164 ggg gggont,srnpo ;SSEI;H$HE¥PESEED STATUS BITS SET
4074 02N>40 104005 ERROR § :REPORT THE ERROR
:8;2 020342 000240 658 NOP
:8% ;6;?5;!6!E;;!#;;3&;!;5;#!3&::;;;****li**!*!l*ii**l**!****i*!**!*
4079 ' L
388? 020344 012760 000011 0OOCOD MOY #11,RMCS1(RO)  ;ISSUE DRIVE CLEAR THROUGH PORT A
‘4092 HH Y Y Y2 2222222222222 212222322223 2322222322233 222323222332223228 3
:gga :VERIFY THAT DRIVE STILL SEIZED BY PORT R

4085 020352 113760 001226 000010 MOVB PORTB,RMCS2(R0O) ;SELECT PORT B
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4086 020360 013737 001226 001240 MOV PORTB,PTNBR ;MOVE PORT ADORESS TO LOCATION FOR TYPEQUT
4087 020366 005037 001250 CLR CKERR' cu:m THE 'CHECK ERROR’ INDICATOR
ioee geqare Ol 0012 001126 MOV RIDS1 (RO) $BO0AT’ ENTS OF RMDS]
ler37  0000] 001122 oy 1, $80ROR ohn REGTSTER noonsss OF ERROR MESSAGE
wd Bl BRY Bl CLR W AT Réal?ﬁ SROLD BE
4032 020416 013737 001126 001164 MOV $B00AT,STMPD_ _ ;MOVE REGISTER CONTENTS TO ’STMPO’
Y Qe Qugrar o 001 164 BIC 81C77777 STM°0 :SAVE SPECIFIED BITS
4 1124 001164 CMP SGDOAT,StMP0 ;COMPARE THE BITS
40% 0o0440 DOy BEQ  b&S :BR_IF 0K
Y 13737 001126 001174 MOV $30DAT,STMPY  COPY *BAD DATA’
4097 020450 Q42737 077777 001174 BIC ¥ 77772 $TMPY  CLEAR THE MASKED BITS
4998 Qopdse Oo3zaz 001174 0OLled BIs Ly, SGUDAT  ;'OR’ KITH 600 DATA FOR TYPEOUT
64 104033 ERROR 33 : TYPE_MESSAGE
4100 0cO466 005137 001250 coM CKERR 'SET THE REGISTER COMPARE ERROR INDICATOR
4101 020472 000240 66S:  NOP
020474 113760 001224 000010 MOVB  PORTA,RMCS2(RO) ;SELECT POR”™ R
020502 013737 00124 001240 MOV PORTA,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
020510 005037 001250 CLR CKERR' CLEAR THE 'CHECK ERROR' INDICATOR
14 018037 000012 %ﬁgg :83 RMOS (RD) s:aoomF -GET cog;sms OF RIDSL @ ccnce
8505 BT Boi 0y R ,Soo L oece WBoReSs
020534 012737 011700 001124 MOV mbupcn' DPR!DRY! VY, SGDDAT :WHAT REGISTER SHOULD BE
Degsd2 Q337 001164 MOV s MOVE Reczsrta CONTENTS TO *STMPO’
37 1 00164 BIC rieoo7d arheo 1GAVE SPECIFIED BITS
020556 023737 001124 001164 CHP SGODAT,StMPO i COMPARE THE BITS
20564 00141y BEQ bes 18R IF OK
20566 0137 001174 MOV SBDDAT,STMP4  ;COPY 'BRD DATA’
020574 Q42737 077777 001174 BIC 77777, 8TMP4  ;CLEAR THE MASKED BITS
020602 053737 001174 001124 BIS §TMP4,§GDDAT  }7OR’ WITH GOOD DATA FOR TYPEOUT
020610 104033 ERROR 33 : TYPE_MESSAGE 33
020612 005137 001250 COM CKERR 'SET THE REGISTER COMPARE ERROR INDICATOR
020616 000240 68S:  NOP

H I3 2212%2132¢2 2123222222222 2222 2222 3
ﬁou ISSUE MASSBUS INIT

020620 012760 00004C 000010 MOV 8CLR,RMCS2(R0O) ;ISSUE MASSBUS INIT

Rt 21221212222 1122222222322 2222122222222222222222X2222 22222284
6onrmn THAT DRIVE STILL SEIZED BY PORT A

MOVB PORTB,RMCS2(R0) SELECT PORT B

Lfrrrrf Lt Lrrf L rcrL L c Lk
= D s P Pm P s Pt s Pt P s P P et P P Pt Pt Pt P Pt st Pt Pt it ot Pt Pt Pt Pt Pt Gt G P et s ot s
L5838 R2BRELEBBNR RO NS SN ron— 638 IRRE3R

113760 001226 000010
020634 013737 001226 001240 MOV PORTB. PTNBR ;MOVE PORT ADDRESS YO LOCATION FOR TYPEOUT
020642 00S037 001250 CLR CKERR' cum THE 'CHECK ERROR' INDICATOR
020646 016037 000012 001126 MOV RMOS! (RO) , SBODAT' :GET CONTENTS OF RMDSI
020654 012737 000012 001122 MOV SRMDS1, $BORDR  ; FOAM REGISTER ADDRESS OF ERROR MESSAGE
020662 D6 001122 ADD RO, SBOADR .R0D RH1] BASE ADORESS
020666 005037 001124 CLR $GO0AT : WHAT REGISTER SHOULD BE
0206-2 013737 001126 00116 MOV $BODAT,STMPO  ;MOVE REGISTER CONTENTS TO 'STMPQ’
3587 S‘e‘S g; 630000 001164 BIC 81C77777 $THPO  ;SAVE SPECIFIED BITS

7 7 1124 001164 CMP $GODAT, stPO comms THE BITS
020714 001414 BEG 708 :BR IF OK
020716 013737 00L126 001174 MOV $BODAT, STHPY :COPY 'BAD DATA’
020724 042737 077777 001174 BIC 877777 §TMPY CLEAR THE MASKED BITS
020732 053737 00l174 001124 BIS $TMPY, $GODAT :"OR’ WITH GOOD DATA FOR TYPEOUT
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DZRMGA. P11 01-ch -77 10:58 T14 PORT 'R’ SEIZE AND CLEAR TEST
Y142 020740 1040 ERROR 34 - TYPE MESSAGE 34
4i43 020742 005137 001250 COM CKERR GET THE REGISTER COMPARE ERROR INDICATOR
2%@ e ulnewo 1 000010 708: % PORTR, Rﬂc (RO)
4146 gg@ 613;39 %1@ 001240 MOV PORTA. P novts% moar.sc TO LOCATION FOR TYPEOUT
N147 (020764 005037 001250 CLR CKERR' ~€CK ERROR’' INDICATOR
4i48 020770 016037 000012 001126 MOV RMOS1 (RO) , SBODAT’ csr ccan:ms OF RMDS!
4i49 (020776 012737 000012 001122 MOV mms - FORM ar. ;ISTER RDORESS OF ERROR MESSAGE
4150 021004 060037 001122 ADD .noo 1 BRSE ADDRESS
4151 @310 81 011700 %uaq MOV mbL Pcn-om'onv W sroom -WHAT REGISTER SHOULD BE
4152 021016 Ol 001126 001164 MOV STMFO REGISTER CONTENTS TO *STMPO’
4153 (021024 042737 100000 001164 BIC ncmh STHPO wcrrm BITS
4154 gxg.}g 023737 001124 001164 CHP $GDDAT, stMP0 ,,
4155 (21 001414 BEQ 728
4156 021042 013737 001126 001174 MOV SBODAT, STMPY copv DATA’
4i57 021050 042737 077777 001174 BIC 877777 STMPY  :CLEAR MASKED BITS
:{ga 02{053 053737 001174 00112y Eflzaon gm,tcoom -'on' WITH GOOD DATR FOR TYPEOUT
4153 83&6 6&% 001250 COM CKERR ssr TE ngcfsﬁn COMPARE ERROR INDICATOR
3{25 621072 000240 728:  NOP
:}g& :RELERSE THE DRIVE FROM PORT A
4165 021074 113760 001224 000010 MOVB  PORTA,RMCS2(RO) :SELECT PORT A
4166 021102 013737 001224 001240 MOV PORTA PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
:igg 021110 012760 0000I3 000000 MOV #13,RMCS1(RO:’  ; ISSUE RELEASE THROUGH PORT A
:{s;g :VERIFY THAT THE DRIVE IS IN NEUTRAL
4171 021116 37 001254 CLR RELERR ;CLEAR_THE "RELERSE ERROR *_INDICATOR
4172 021122 012737 000012 001122 MOV $RMDS]1 SBDADR  ;FORM THE RDDRESS OF RMDS1 FOR TYPEOUT
4173 021130 001122 ADD RO, SBDADR 'noo THE 1/0 BRSE RDDRESS
4174 021134 012737 011700 001124 MOV mbL PGM!DPR! DRY! Vv, SGDORT _; COMPARISON CONSTANT
4176 021142 113760 001224 MOVB  PORTA RMCS2(RO) ;SELECT PORT’A.
4176 021150 016037 00002 001170 MOV RMOS1LRO)  STMP2 :GET THE DRIVE STATUS REGISTER FROM PORT RA.
4177 021156 (42737 024001 001170 BIC $PIP! bn STHPS ;m DONT CARES
4178 021164 013737 001170 OG116M MOV STHP2, § s COPY 17’ INTO ' STHPO
4179 Q21172 ON2737 100100 00116M gIC 8ATAIYV STMPO :CLEAR PORT DEPENDENT BITS FROM THE COPY
4180 021200 113760 001226 000010 MOVB  PORTB,RMCS2(RO) ;SELECT PORT B.
4181 021206 016037 00002 001172 MOV RMOSILRO)  STMP3 :GET THE DRIVE STATUS REGISTER FROM °ORT B.
4182 G2l2I4 042737 024001 001172 BIC mpznzbn,srmé ;CLEAR DONT CARES
4183 0215% 13737 001172 001166 MOV STMP3, STMP1 -COPY 17'INTO 'STMPL’
4igy 021 2737 100100 001166 BIC SATA'VV STMP1  ;CLEAR PORT DEPENDENT BITS FROM THE COPY
4185 02123 023737 001164 001166 CMP sTMPO, StP] : 1S THE STATUS REGISTER THE SAME FROM BOTH PORTS ?
4186 G21244 001006 BNE 748 BR IF NOT
4187 021246 005737 001164 15T STMPO REGISTERS ARE THE SAME: ARE THEY ZERO ?
4188 021252 001045 BNE 76S :BR If NOT
4189 021254 10404 ERROR 46 :REPORT DRIVE NOT IN rcum OR NOT SEIZED
4190 ua1§ 137 021456 TP 76 :BYPASS THE REST OF THE CHECKS
4191 02l 13737 001170 001126 74§: MOV §TMP2,8B0DAT  :SET UP POSSIBLE BAD DATA ron ERROR MESSAGE
4192 021270 013737 001226 001240 MOV PORTE, PTNBR *SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
4193 021276 113760 001226 000010 MOVB  PORTB.RMCS2(R0) :SELECT PORT B.
4194 021304 005737 001164 TST STMPO’ tSEE IF ST mus EQ O FROM PORT A.
4195 021310 00I4IM BEQ 758 :BR IF ZERO
4196 021312 013737 001224 001240 MOV PORTR, PTNBR ,ss ZING PORT IF TEST SHOMS DRIVE NOT IN NEUTRAL
4197 021320 013737 001172 001126 MOV §TMP3 SBDORT  :’BRD DATA’' FOR ERROR TYPE OUT
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4198 021326 113760 001224 000010 MOVB  PORTR,RMCS2(RO) ;SELECT PORT R
4199 021334 005737 001166 15T STMPL’ SEE }r STATUS EQ ZERO FROM PORT B.
4200 (021340 001012 BNE ss
4201 Q21342 012737 177777 001254 75S: MOV 1,RELERR %.Enss ERROR' INDICATOR
4202 (021350 912760 000011 000000 MOV m "RMCS1 (RD) CLEAR DRIVE
4203 (021356 012760 000013 000000 MOV 813'RMCSI1(RO)  ;RELERSE THE DRIVE
4204 (021364 104026 ERROR 2% s TYPE Enma MESSAGE 26
4205 021366 013737 001170 001lee 76S: MOV §TMP2, SBODAT :LOOK FOR BIT munﬁs WHEN RMDS1 READ
4206 021374 013737 001224 001240 MOV PORTA’ PTNBR - CHANGE PORT NUMBE
4e07? 021402 (42737 100000 001126 BIC 8ATA, $B0DAT sDON’ T CHECK r£ mm BIT
4208 021410 023737 001i124 001126 CMP seoohr $B0DAT  ;ALL BITS OK ?
4209 021416 001401 BEQ sBR _IF OK FROM PORT A.
4210 021420 104007 ERROR 7 -REPORT ERROR
4211 021422 013737 001172 001126 77%: MOV $TMP3, SBODAT :CHECK RMDS1 FOR BIT FAILURES - FROM PORT B.
4212 021430 013737 001226 001240 MOV PORTB’ PTNBR ; CHANGE PORT NUMBER
4213 G21436 (42737 100000 001126 BIC $ATA, $BODAT ; DO’ T CHECK THE ATTN BIT
4214 021444 023737 001124 001126 cMP scnom SBDDAT  :SEE IF RERD OK FROM PORT B.
4215 021452 001401 BEQ :BR IF 0K
4216 021454 104007 ERROR 7 :REPORT ERROR
4217 021466 000240 788 : NOP
:g}g 021460 000004 18: SCOPE :LOOP ?
yeeo H Xt 22223 22¢2 3232222223323 2322222232323 223222222222
:ggé msv 15 PORT 'B’ SEIZE AND CLEAR TEST
4223 *vsnxrv THAT R MASSBUS CLEAR OR DRIVE CLEAR WILL NOT CAUSE THE SEIZING
355'; ;: PORT TO RELERSE THE DRIVE.
4226 % A. SEIZE THE DRIVE BY WRITING 0’S INTO RMDS! THROUGH PORT ’'B’.
35% Lk VERIFY THAT THE DRIVE HAS BEEN SEIZED.
;i
4229 ¥ B. ISSUE A DRIVE CLEAR THROUGH PORT ’B’ AND VERIFY THAT THE DRIVE
353? ;: DOES NOT RETURN TO NEUTRAL.
4232 % C. ]SSUE A MASSBUS CLEAR THROUGH THE RH70 AND VERIFY THAT THE DRIVE
zsg ¥ DOES NOT RETURN TO NEUTRAL.
;l
4235 ‘¥ D. RELEASE THE ORIVE THROUGH PORT 'B’. VERIFY THRT THE DRIVE
zggg ;: RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.
4238 : o 36366 35 35 36 36 3 3536 36 36 36 36 36 36 36 36 36 36 36 3 36 36 363 36 3 363 3 8 36 34 36 3 3 45 369 3 3 3 36 336 3 3 39 3 3 36 6 % 3¢ % X% % % 3% % %
4239 021462 t&T15:
4240 021462 005737 001300 TST KYBCTL -Psaromxm ONLY SINGLE TESTS ?
yo4l 021466 001406 BEQ 2% ,BR IF NO
Y242 021470 100002 BPL {3 BR IF .TUST ENTERED TEST
4243 021472 000137 002676 IMP EXEC ‘RETURN 8 GET NEXT TEST NUMBER
Y44 021476 012737 177777 001300 1S: MOV 8-1,KYBCTL :SET SINGLE TEST INDICATOR
4245 021504 112737 00001S 001102 2$: MO\B 815 STSTNM : TEST NUMBER
4o4b 021512 012737 021534 001106 MOV $TESTIS, SLPADR ;LOAD LOOP ON TEST ADDRESS
4247 021520 012737 021534 001110 MOV nesns SLPERR :LOAD LOOP ON ERROR ADDRESS
448 (021626 012737 000031 001176 MOV sTimES :-D0 25. ITERATIONS
:gwsg 021534 012706 001100 TEST1S: MOV osméx :(ORD THE STACK POINTER
:S‘éé 5y RT3 6% 3303606320606 36 U3 36 336 3 33 3 3 363 306 3 36 96 38 3 3 3% 3 3 % 3 3 3 %% 9% % % X ¥ %

CO7
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;SEIZE THE DRIVE THROUGH PORT 8

SEQ 0082
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4264 021622
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4267 021636
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4270 021644
4271 021652
Y272 021660
4273 021666
Yo7y 021674
4275 021702
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4279 021730
4280 021736
Y281 021740
4e82 021742
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4286

Y4287 021744
4288
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4292 021752
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4295 021772
4296 022000
4297 (022006
4238 022012
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4300 2024
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4302 022040
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001122
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2
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rof
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MOVB
MoV
CLR
MOVB
MOV
MOV
MOV
MOV

B64S:

ERROR 5
658: NOP
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PORT 'B’ SEIZE AND CLEAR TEST

PORTB, RMCS2(R0) ;SELECT PORT B
PORTBt%IZPT ;s’r@mm PORT’S ADDRESS

5,mcsa(m) '

o~

TA.PTNBR ; T 0 LOCATION FOR TYPEOUT
ggm’mr : 05%51 nobazss
RMOS1{RD), SBOOAT' ;SEE IF DRIVE SEIZED BY PORT B
RO, $B0ROR :RALI aasz AODRESS
sRMDS],SBDADR  ; GENERATE BAD REGISTER ADORESS
$GDOAT 'REGISTER SHOULD BE ZERO
$GODAT,SBDDAT ;IS THE REGISTER ZERO
BYS ‘B8R IF IT 1S
4 : REPORT THE ERROR
18 :BYPRSS REST OF THE SUBTEST

PORTB,RMCS2(R0) :SELECT PORT B
PORTB'PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
RMOS1ERO) , SBODAT ;SEE IF SEIZING PORT SEES CORRECT STATUS
sOM! PIP,. SBODAT . CLEAR DONT CARE BITS

1 PGH' DPRIDRY ! VV, SGDOAT ; EXPECTED STATUS

T,8TMP1  ;USE GOOD DATR’RS A MASK
STMP] - COMPLEMENT THE EXPECTED STATUS
SBODAT, STMPO  :SAVE THE ACTUAL STATUS
sTMP1, $TMPO : CLEAR UNWANTED BITS
§GODAT,STMPO  :ARE THE EXPECTED STATUS BITS SET ?
65§ :BR IF THEY ARE

: REPORT THE ERROR

5 & NI HHHHEHE I HHHEHHEHHEHOHHHHEHEHHHHHHO
:ORIVE CLERR THROUGH PORT B FIRST

MOV

211 ,RMCSI(RO)  ;ISSUE DRIVE CLEAR THROUGH PORT B

HH BRI R B335 03 36 36360 3 36 33 36 36 -0 3 36 338 3 00 36 0 3 36 3 96 3 30 3¢ 3696 3 359 06 3 3 36 9 3 3 3¢ 3 3 3 3 9 3 3 % %
: VERIFY THAT DRIVE STILL SEIZED BY PORT B

MOVB
MOV
CLR
MOV
MOV
ADD
CLR
MOV
BIC
cMP
BEQ
MOV
BIC
BIS
ERROR
COM

b6S§: NOP
MOVB

PORTA,RMCS2(RO) :SELECT PORT A
PORTA,PTNBR ;M vE PORT ADORESS TO LOCATION FOR_TYPEOUT
CKERR ;CLEAR THE 'CHECK ERROR’ INDICATOR
RMOS1 (RO),$800AY ' :GET CONTENTS OF RMDSI

sRMDS1, SBOADR ; FORM REGISTER ADDRESS OF ERROR MESSAGE
RO, SBOADR -ADD RH11 BASE RDDRESS

$GODAT ‘WHAT REGISTER SHOULD BE
$BOORT,STMPO  ;MOVE REGISTER CONTENTS TO 'STMPQ’
84C77777,8TMPO  ;SAVE SPECIFIED BITS

SGDORT,StMPO ;COMPARE THE BITS

66S :BR IF OK
SBODAT,STMP4  :COPY 'BAD DATRA’

877777 8TMP4  :CLEAR THE MASKED BITS

$TMPY, 8GDDAT  :’OR’ WITH GOOD DATA FOR TYPEOUT

33 : TYPE MESSAGE 33

CKERR :SET THE REGISTER COMPARE ERROR INDICATOR

PORTB,RMCS2(RO) ;SELECT PORT B

SEQ 0083
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4310
4311
4312
4313
4314
4315
4316
4317
4318
4319
4320
4321
4322
4323
Y324
4325
4326
4327
4328
4321
4357
LA} |
332
4333
4334
4335
4336
4337

P11
022102

022110
Ocelly

0e2z220

A
NN

012737
060037

012760

113760
013737

005037
016037
012737
0600

0050
8&3737

001226

000612

000012

588
B

8 85888
% st

8 838 8
=3

1250

Dot s P Pt P Punn

000010

001126
001122

0011e4
001164
ool1164
001164

001174
001174
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T15

68S8:
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MACYL11 30(1046) 01-AUG-77 11:02 PAGE 82

PORT 'B’ SEIZE AND CLERR TEST

MCV
CLR
MOV
MOV
RDD

PORTE,PTNBR ;MOVE PORT ARDDRESS TO LOCATION FOR TYPEOUT
CKERR ;CLEER THE 'CHECK ERROR’ INDICATOR
-GET CONTENTS OF RMDSI
sRMDS], $B0ADR  ; FORM REGISTER ADORESS OF ERROR MESSAGE
RO, $BDADR -ADD RH1l BASE ADORESS
sMOL {PGM' DPR!DRY! VW, SGDORT  ; WHAT REGISTER SHOULD BE
$BDDAT, STMPO'  ;MOVE REGISTER CONTENTS TO 'STMPO’
81C77777,STMPO  :SAVE SPECIFIED BITS
SGDOAT,StMP0 ;COMPARE THE BITS
688 :BR IF OK
$BDDAT,STMPY  :COPY 'BAD DATR’
877777 .8TMP4  :CLEAR THE MASKED BITS
gTMP4,4GODAT  ;'OR’ WITH GOOD DATR FOR TYPEOUT
33 *TYPE MESSAGE 33
CKERR 'SET THE REGISTER COMPARE ERROR INDICATOR

;-**!l!ii**ii*i*i!*i**!l*!i&**li*l**l*!llll*lll!l!!l!!lllllllil!i
‘NOW ISSUE MASSBUS INIT

MOV

#CLR,RMCS2(RO) ; ISSUE MASSBUS INIT

;-!!li!!!llilllll!lil!ll!!llll!ili*lllii*ll*!!lli**!!*il*!i!ii***
:CONFIRM THAT DRIVE STILL SEIZED BY PORT B

708:

MOVB
MOV
CLR
MOV
MOV

CLR

PORTA,RMCS2(RO) ;SELECT PORT A
PORTA,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR_TYPEOUT
CKERR ;CLEAR THE 'CHECK ERROR’ INDICATOR

:GET CONTENTS OF RMDSI

RMDS1(RO), $BDDAT’ :GE 3
sRMDS1, SBORDR  ; FORM REGISTER ADDRESS OF ERROR MESSAGE
RO, SBORDR ADD RH11 BASE ADDRESS

sGODAT * WHAT REGISTER SHOULD BE

$BODAT,STMPO  ;MOVE REGISTER CONTENTS TO ’'STMPO’
81C77777,STMP0  ;SAVE SPECIFIED BITS

$GODAT, $tMPO :COMPARE THE BITS

708 :BR IF OK

$SBDODAT,.STMP4  :COPY 'BRD DRTA’

877777 .8TMP4  :CLEAR THE MASKED BITS

§TMPY,$GODAT  ;’OR’ WITH GOOD DATA FOR TYPEOUT

34 ' TYPE MESSAGE 34

CKERR 'SET THE REGISTER COMPARE ERROR INDICATOR

PORTB,RMCS2(RO) :SELECT PORT B

PORTB PTNBR ;MOVE PORT ADORESS TO LOCATION FOR_TYPEOUT
CKERR :CLEAR THE 'CHECK ERROR' INDICATOR
RMOS1(RO),SBDORT’ :GET CONTENTS OF RMOSI

sRMDS 1, SBOADR  ; FORM REGISTER ADDRESS OF ERROR MESSAGE
RO ;AD0_RH11 BASE RDDRESS

sMOL ' PGM' DPR!DRYIVV, SGDOAT :WHAT REGISTER SHOULD BE
$BDDAT,STMPO  ;MOVE REGISTER CONTENTS TO ’STMPQ’
$4C77777,.STMPO  ;SAVE SPECIFIED BITS

$GODAT,$tMPO ;COMPARE THE BITS

728 'BR_IF OK

$BDDAT,$TMPY  :COPY 'BAD DATA’

$77777 8TMP4  :CLERR THE MASKED BITS

$TMPY, $GDDAT :70R’ WITH GOOD DRTA FOR TYPEOUT

SEQ 0084
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PORT ’B’ SEIZE AND CLERR TEST
ERROR  3M ; TYPE MESSAGE 34
ggg CKERR ;SET THE REGISTER COMPARE ERROR INDICATOR

:RELEASE THE DRIVE FROM PORT B

MOVB  PORTB,RMCS2(RO) :SELECT PORT B

MOV PORTB PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
MOV 813, RACSI(RD)’ ; ISSUE RELEASE THROUGH PORT B

; VERIFY THAT THE DRIVE IS IN NEUTRAL

CLR RELERR :CLEAR THE °'RELERSE ERROR ' INDICATOR
MOV SRMDS],$BDADR  :FORM THE ADDRESS OF RMDS! FOR TYPEOUT
ADD RO, SBDADR :A0D THE 1/0 BASE

ADORESS
MOV mbL PGM! om-mv'w SGDOAT ;commlsw CONSTANT

MOVB  PORTA. RMCS2( s&gfs%{
MOV RMOS1LRO) ;ST a omvs STATUS REGISTER FROM PORT A.
BIC $PIPVHRL ! OM, STHP =) -CLEAR DONT CARES

MOV sTMP2, STMPO' :COPY 1T’ INTO 'STMPO’

8IC 8ATA'VV, STMPO  :CLEAR PORT oemoem BITS FROM THE COPY
MOVB  PORTB,RMCS2(RO) ;SELECT PORY 8

MOV RMOSIIRO) . STMP3 :GET THE mxg TATUS REGISTER FROM PORT B.
BIC sPIP!WRL ! OM, STMP3 CARES

MOV STHP3, STHPL' COPY IT'INTO 'STMPI’

BIC 8ATA'VV. STMP1  :CLEAR PORT DEPENDENT BITS FROM THE COPY

SSE srgpo S$tMPl éﬁ {an Ng;mus REGISTER THE SAME FROM BOTH PORTS ?
15T $TMPO ‘REGISTERS ARE THE SAME: ARE THEY ZERO ?

BNE 768 :BR IF NOT

ERROR 46 :REPORT DRIVE NOT IN NEUTRAL OR NOT SEIZED

IMP 788 :BYPASS THE REST OF THE CHECKS

MOV §TMP2, SBDODAT :SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE

MOV PORTE. PTNBR :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
MOVB  PORTB,RMCS2(RO) :SELECT PORT B.

TST STMPO’ :SEE IF STATUS EQ O FROM PORT A.

BEQ 758 :BR IF ZERO

MOV PORTR, PTNBR :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
MOV $TMP3. $BODAT :7BAD DATA' FOR ERROR TYPE OUT

MOVB  PORTR,RMCS2(RO) :SELECT PORT A.

1ST §TMPL :SEE IF STATUS EQ ZERO FROM PORT B.

BNE 768 :BR IF NOT

MOV 8-1,RELERR 'SET 'RELEASE ERROR' INDICATOR

MOV #11.RMCS1(RO)  ;CLEAR THE DRIVE
MOV #13,RMCS1(RO) RELERSE THE DRIVE
; TYPE ERROR MES

ERROR 26 SAGE 26

MOV $TMP2 SBODAT  ;LOOK FOR BIT FAILURES WHEN RMDS! READ
MOV PORTA’ PTNBR : CHANGE PORT NUMBER

BIC sATA, $BDDAT "DON’T CHECK THE ATTN BIT

CMP scoom $BODAT  :ALL BITS OK ?

£Q B8R IF OK FROM PORT A.

B

ERROR 7 REPORT ERROR

MOV $TMP3, $BODAT  ;CHECK Rm51 FOR BIT FAILURES - FROM PORT B.
MOV PORTB' PTNBR :CHANGE PORT NUMBER

$ATA, $BDDAT DON’T cuzcx THE ATTN BIT

CMP SGDDAT,SBODAT  ;SEE IF RERD OK FROM PORT B.
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Y22
Y423
Y424
445
Y45
4437
4428
4430
4431
4432
4433
4434
4435
4436
4437
4439
4439

83888

000010

000000
000000
000010

000000
000000

000010
001242

000010
001240
001244
001126
001122

001126

SRR

MD-1]1-DZRMG-A,RMO3 DUAL PORT LOGIC TEST - PART |
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ERROR

BEG
78S: NOP
18: SCOPE

GO7

MACY1l 30(1046)
T15 PORT 'B’ SEIZE AND CLERR

78%
7

01-AUG-77 11:02 PAGE B4
TEST

;BR_IF 0K
; REPORT ERROR

:LOOP ?

S S0 I I 0 I I I I I I 003 SIS I I I R
SEIZE 'A’ BY RMCS1 TEST

iVERIFY THAT READING THE CONTROL REGISTER (RMCS1) SEIZES THE DRIVE
;#IF THE DRIVE IS IN NEUTRAL.

’&resr 16

¥ A. READ THE CONTROL REGISTER (RMCS1) THROUGH PORT ’R’; VERIFY THAT
i+ THE DRIVE IS SEIZED.
'x B. ISSUE A RELEASE COMMAND THROUGH PORT 'A’: VERIFY THAT THE DRIVE
,: RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SE
; él!!!!!«l!!!i!i!i!iii!ill*“!**!iii* 39096 69 3 3 363 3 34 6 33 3 3 34 3 3 3 3 3 36 3 % 3¢ 3 % %
T16:
15T KYBCTL Psnronnxnc ONLY SINGLE TESTS ?
BEQ 2 'BR IF
BPL 18 ‘BR IF JUST ENTERED TEST
JmMP EXEC RETURN & GET NEXT TEST NUMBER
18: MOV s$-1,KYBCTL 'SET SINGLE TEST INDICATOR
23: MOVBE  #16. STSTNM :TEST NUMBER
MOV $TEST16,SLPADR ;LOAD LOOP ON TEST ADDRESS
MOV $TEST16 SLPERR Lono LOOP ON ERROR RDDRESS
MOV $25. STIMES : -DO 25. ITERATIONS
TEST16: MOV 8STALK, SP Lono THE STACK POINTER
:CLEAR ATTENTION BITS FOR BOTH PORTS
MOVB  PORTR,RMCS2(RO) ;SELECT PORT #A
CLR RMDS1{RD) :SEIZE THE DRIVE .
MOV 811,RMCS1(RO)  ; ISSUE DRIVE CLEAR
MOV #13 RMCS1(RO)  :RELEASE THE DRIVE
MOVB  PORYB,RMCS2(RO) ;SELECT PORT #B
CLR RMDS1{RO) :SEIZE THE DRIVE THROUGH PORT 'B’
MOV 811,RMCS1(RO)  ;ISSUE DRIVE CLEAR
MOV 813 RMCS1(RO)  ;RELEASE THE DRIVE

s 5 EHERNEIE IR R R F RN ¥
; SEIZE THE DRIVE THROUGH PORT A

MOVB

MoV
7ST

MOVB

MOV
MOV
MOV
MOV
AOD
CLR
CMP

PORTAR,RMCS2(RO)

PORTA. SE1ZPT
RMCS1tRO)

PORTB, RMCS2(R0)
-MOVE PORT ADDRESS TO LOCRTION FOR TYPEOUT

PORTB, PTNBR
PORTB, OPPRT

-SELECT PORT A
:SYORE SEIZING PORT'S ADDRESS
:READ RHCS!

:SELECT PORT B
; 'OPPOSITE’ PORT

RDDRESS
RMDS1LRO), SBDORT' ;SEE IF DRIVE SEIZED BY PORT A

RO, $8DA0R’
;RﬁDS% $BDADR
$GODAT, SBODAT

:RA11 BASE RDDRESS

: GENERATE BRD REGISTER ADORESS
:REGISTER SHOULD BE ZERO

' IS THE REGISTER ZERO

SEQ 0086
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MD-11-DZRMG-A,RM03 DUAL PORT LOGIC TEST - PART 1 MACY1l 30(1046) O01-RUG-77 11:02 PRGE B5S SEQ 0087
OZRMGA.P11  01-AUG-77 10:58 116 SEIZE 'A’ BY RMCS! TEST
Y478 023310 001403 BEQ BY4S :BR IF IT IS
4479 023312 10400M ERROR Y4 :REPORT THE ERROR
meo ggéﬁ 000137 024004 cus ImP 18 :BYPRSS REST OF THE SUBTEST
Yy 113760 001224 000010 MOVB  PORTA,RMCS2(RO) ;SELECT PORT A
4483 13737 001 001240 MOV PORTA. PTNBR PORT ADDRESS TO LOCATION FOR TYPEQUT
4484 16037 12 001126 MOV RMOS1 LRO) . $BDOA .GEE IF scxzmc PORT SEES CORRECT STATUS
4ugs (2332 (M2737 020001 001126 BIC sOM!PIP séoom m; BITS
4y ggaasn 12737 011700 001124 MOV MOL ! PGA! DPR ! DRY ! W scoohr EXPECTED ATUS
Yu 3356 013737 001124 001166 MOV scoom $TMPL  ;USE S00D DATA'ARS A MASK
448 023364 005137 001166 coN STHP] ; COMPLEMENT THE EXPECTED STATUS
4489 023370 013737 001126 DO1164 MOV $BODAT,STMPO  ;SAVE THE ACTUAL STATUS
4490 023376 043737 001166 001164 BIC sTMP1, $§TMPO CLem UNWANTED BITS
4491 023404 023737 001124 001164 CMP $GDDAT, $TMPO ARE THE EXPECTED STRTUS BITS SET 7
4492 023412 001401 BEQ 6SS sn IF THEY ARE
4433 023414 104005 ERROR S 'REPORT THE ERROR
3:3; 023416 000240 6S$:  NOP
::g% HH Y Y2222 222 2222222222232 3322222223222 222 2223233222232 23
33% sRELEASE THE DRIVE FROM PORT A
4500 023420 113760 001224 000010 MOVB  PORTR,RMCS2(RO) :SELECT PORT A
4501 023426 013737 001224 001240 MOV PORTAPTNBR :MOVE PORT RDDRESS TO LOCATION FOR TYPEOUT
:g% 023434 012760 000GI3 000000 MOV #13,RMCSI(RO)’  ; ISSUE RELERSE THROUGH PORT A
:ggg :VERIFY THAT THE DRIVE IS IN NEUIRAL
4506 023442 005037 001254 CLR RELERR :CLERR THE 'RELERSE ERROR ' INDICATOR
4507 023446 012737 000012 001122 MOV o 1, $8DADR  :FORM THE ADDRESS OF RMDS1 FOR TYPEOUT
4508 023454 060037 001122 ADD 'noo THE 1/0 BASE ADODRESS
4509 023460 012737 011700 001124 MOV ma. PGM'DPR! DRY! VWV SGDDAT ; COMPARISON CONSTANT
NS10 023466 613760 001224 000010 MOVB  PORTR,RMCS2(RO) ;SELECT PORT A.
4511 023474 016037 0000i2 001170 MOV ngxlnm STMP2 :GET THE omvz STATUS REGISTER FROM PORT A.
4512 023502 042737 024001 001170 BIC oM, STHP2 :CLEAR DONT CRRES
4513 023510 013737 001170 001164 MOV STMP2, STMPO' -COPY IT' INTO ’*$TMPQ’
451§y 023616 042737 100100 001164 BIC 8ATA!YV, STMPO  :CLEAR PORT DEPENDENT BITS FROM THE COPY
@is R 1{37%9 omaag oou'}'g 5839 @?t%sﬁ% EEE%E%T:P%M ATUS Recxsrzn FROM PORT B.
4519 %%38 8439“:7 %1 001172 BIC $PIPYWRL ' OM, STMP Wl gon
4518 023546 013737 001172 001166 MOV STMP3, STMP] :COPY IT xmo 'smn'
4519 023554 (42737 100100 001166 BIC 8ATA'YV. STMP1  :CLEAR PORT DEPENDENT BITS FROM THE COPY
4520 oeas% 023737 001164 001166 CMP STMPO, STHP1 :1S THE STATUS REGISTER THE SAME FROM BOTH PORTS ?
4521 023570 001006 BNE B6S :BR IF NOT
4522 023572 005737 001164 ST STMPO REGISTERS ARE THE SAME: ARE THEY ZERO ?
4523 023576 001045 BNE 68% :BR IF NOT
Y ggggg 333039 ERROR Y46 :REPORT DRIVE NOT m NEUTRQL OR NOT SEIZED
Y 137 024002 IMP 708 'BYPRSS THE REST OF THE CHECKS
4526 023606 013737 001170 001126 668: MOV $TMP2, SBODAT  ;SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
4§37 0236i4 013737 001226 001240 MOV FORTB, PTNBR :GEIZING PORT IF TEST SHOWS ORIVE NOT IN NEUTRAL
4528 023622 113760 001226 000010 MOVB  PURTB.RMCS2(RO) :SELECT PORT B.
4529 (23630 37 001164 ST STFPO' :SEE_IF STATUS EQ O FROM PORT A.
4530 023634 001414 BEQ 679, :BR IF ZERO
4531 023636 013737 001224 001240 MOV PORTA, PTNBR :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
4532 023644 013737 001172 001126 MOV $TiP3,SBODAT  ;’BAD DATA’ FOR ERRCR TYPE OUT
4533 0e3652 113760 001224 000010 MOVB  PORTA RMCS2(RO) ;SELECT PORT A.
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4565

4571

4577
4578

4580
4581
4582
4583
4584
4585

4587
4588
4589

024006
024006
gev012
4014
16

654030
024036
C7404Y
02405

024060

024064
024072
024076
024104
Qa2411e
0e4le0
Oeuley
024132

005737

005737
001406
100002
000137
012737
112737
012737
012737
012737
012706

113760
005060
012760
012760
1137e0
005060
012760
012760
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001166

177777
000011
000013

001170

760680

00114

001172
001226
100000
001124

001300

002676
177777
000017
024060
024060
000031
001100

00)224

000013

001254

001126

80112

001126

001126
001240
001126
001126

000
DDSDD
Pt G ot s s
o p—s s s (1}
\)'—(380
aoooro

000010

000000
000000
000010

000000
0000G0

07

MACY11l 30(1046)

T16 SEIZE 'R’ BY RMCS1 TEST

TST
BNE
MOV
MOV

MOV
ERROR

67S:

68S:

63s:

708:
18: SCOPE

$TMP1

688
8-1,RELERR

811  RMCS1(RO)

l13 RMCS1(RO)

STHP? $BODAT

PgRTR PT R

scoohr saoonr
595

STHP3 $BDDAT
PORTB’ PTNBR
$ATA, $80DAT
scoohr $BDDAT

7

01-AUG-77 11:02 PAGE 86

SEEIIF STATUS EQ ZERO FROM PORT B.

ggEnRREhERSE ERROR’ INDICATOR
e IS,
:LOOK FOR BIT FﬂILURES WHEN RMDS! RERD

SHRN$EC52RK T TTN BIT

BR IE 0K FROH PORT R.
: REPORT ERROR

s CHECK RMDS1 FOR BIT FAILURES - FROM PORT B.
NUMBER

: CHANGE PORT
:DON’T CHECK THE ATTN BIT
: SEE %F RERD OK FROM PORT B.

: BR
REPORT ERROR

;LOOP ?

< 3 IR IR0 I I I I I I R R R R R R AR
SEIZE 'B’ BY RMCS1 TEST

iVERIFY THAT READING THE CONTROL REGISTER (RMCS1) SEIZES THE DRIVE
:#IF THE DRIVE IS IN NEUTRAL

'iTEST 17

* R.

*’0 ***

t&11

N>
Lol
r 4
(o]
T
o)

TEST17: MOV

READ THE CONTROL REGISTER (RMCS1) THROUGH PORT 'B’;
THE DRIVE IS SEIZED.

B. ISSUE A RELEASE COMMAND THROUGH PORT 'B’:
RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

l!**l!i*!*!*l!**'l'll"l*l*l!l*!ll*lll*l!llllll!illl!!ll!il!l!l**ll

KYBCTL

2%

18

EXEC
8-1,KYBCTL

317 STSTNM

$TEST17, SLPADR

0755717 SLPERR

$TIMES
asrnék SP

VERIFY THAT

VERIFY THAT THE DRIVE

; PERFORMING ONLY SINGLE TESTS ?
;BR IF NOT
:BR_IF JUST ENTERED TEST
SRETURN 8 GET NEXT TEST NUMBER
:SET SINGLE TEST INDICATOR
:TEST NUMBER
:LORD LOOP ON TEST RDDRESS
:LOAD LOOP ON ERROR ADDRESS

;D0 25. ITERATIONS

’tono THE STACK POINTER

; CLEAR ATTENTION BITS FOR BOTH PORTS

MOVB
CLR
MOV
MOV
MOVB
CLR
MOV
MOV

PORTR RHCSB(RD)

MDS1 LRO
311 RHCSI(RU)
#13 RMCS1(RO)

PORYB, RMCS2(RO)
RMOS1LRO)

#11,RMCS1(RO)
l13 RMCS1(R0)

; SELECT PORT #A

;SEIZE THE DRIVE

: ISSUE DRIVE CLEAR

:RELEASE THE DRIVE

SELECT PORT a8

:SEIZE THE DRIVE THROUGH PORT ’B’
: TSSUE DRIVE CLEAR

'RELEASE THE DRIVE

SEG 0088
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4590
4591

024342

024344
0e4352
024360

024366
024372
024400
024404

v
4y

8344
024442

B

02446Y
024472

113760
013/37
012760

005037
012737
060037
012737
13?

T

042737
137
160

042737

013737

001226
00i2eb
000013

001254
000012
00lie2

024001
001172

000010
001240
000000

001iee

00lle4
000010
001170
1170
1164

001166

JO7
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SEIZE 'B’ BY RMCS1 TEST

S 5 I I I I 03I I 00003003 B 00300 303 0 0
;SEIZE THE DRIVE THROUGH PORT B

MOVB
MOV
TST
MOVB
MOV
MOV
MOV
MOV
ADD
CLR
CcMP
BEQ
ERROR
JMP
BY43:

658: NOP

PORTB,RMCS2(R0O) :SELECT PORT B
PORTB,SEIZPT ;SYORE SEIZING PORT’S ADDRESS

RMCS 1 (RO) Rggo g
PORTA, Rncsacao‘ LECT PORT A
PORTA. PTNBR novt PORT noonggg 10 ngggron FOR TYPEOUT

*OPPOSITE T ADD
RﬁDSltno),saoonr .SEE IF DRIVE ssxzso 8Y PORT B

RO, SB0ADR ;RA11 BASE_ADDRESS

SRAMDS1,SBDRDR  :GENERATE BAD REGISTER ADDRESS
SGDDAT 'REGISTER SHOULD BE ZERO
SGDDAT,$BDDAT ;1S THE REGISTER ZERO

64S :BR_IF IT IS

4 *REPORT THE ERROR

18 :BYPRSS REST OF THE SUBTEST

PORTB,RMCS2(R0) :SELECT PORT B
PORTB PTNBR :MOVE PORT AODRESS TO LOCATION FOR TYPEQUT
Rnosxlno) saobnr :SEE IF ssx ING PORT SEES CORRECT STATUS
$OM!PIP, $BD0A DONT CARE BITS

$MOL ! PGH! DPR! onv'vv scooAT -EXPECTED STATUS

$GOOAT,$TMP1  ;USE 000D DATR'AS A MASK

STMP1 : COMPLEMENT THE EXPEC'ED STATUS
SBODAT,$TMPO  ;SAVE THE ACTUAL STATUS

STHPL, $TMPO :CLEAR UNWANTED BITS
$GDDRY, sTMPO ‘ARE THE EXPECTED STATUS BITS SET *
658 :BR IF THEY ARE

:REPORT THE ERROR

s s HEERHERI I R R R R R R AR RS
;RELERSE THE DRIVE FROM PORT 8

MOVB
MOV
MOV

; VERIFY

CLR
MOV
ADD
MOV
MOV8
MOV
BIC
MOV
BIC
MOVB
MOV
BIC
MOV

PORTB,RMCS2(RO) :SELECT PORT B
PORTB.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
#13,RACSI(RO)’ ;ISSUE RELEASE THROUGH PORT B

THAT THE DRIVE IS IN NEUTRAL

RELERR :CLEAR THE ’'RELEASE ERROR ' INDICATOR

cnnos1 SBOROR  ;FORM THE RDDRESS OF RMDSI FOR TYPEOUT
0, SBDADR :ADD THE 1/0 BASE RDDRESS

onbL'Pcn-oPR 10RYIVV, SGDOAT ; COMPARISON CONSTANT
PORTA, RMCS2(RO) ;SELECT PORT’A.

RMDS1tRO), STMP2 :GET THE DRIVE STATUS REGISTER FROM PORT A.

sPIP!WRL ! OM, STHP2 :CLEAR DONT CARES

STHP2, STMPO'  ;COPY IT'INTO ’STMPO’

#ATAIYV, STPD [ CLEAR PORT DEPENDENT BITS FROM THE CORY
PORTB, RMCS2(RO) ;SELECT PORT B.

RMDSILRO) $TMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.

sPIP!WRL ! OM, STHP3 :CLEAR DONT CRRES
§TMP3,STMP1’  ;COPY IT'INTO ’STMP1’

SEG CO089




MO-11-DZRMG-R,RMO3 DUAL PORT LOGIC TEST - PART |

DZRMGA.P11  01-RUG-77 10:58 T17
Y46 (24500 0M2737 100100 001166 -
Y647 oew% 023737 001164 001166
28 EE B
dE2] OS4ESG OAOuE
4652 (024526 000137 024726
o4 0ot OIPP olde oolzap OV
-+ UL
e Gsiadd 0137% Bisse B8asE
4656 024554 005737 001164
4657 (24560 001414
4658 (0o4562 013737 001224 001240
465 4570 013737 001172 001126
46 4576 113760 001224 000010
4661 024604 005737 001166
4o 024610 001012
4663 QBevbl2 012737 177777 001254 67S:
4664 012760 000011 000000
4e6S 024626 012760 000013 000000
4666 024634 104026
4667 02463 013737 001170 001126 68S:
4668 024644 013737 001224 001240
4669 024652 042737 100000 001126
4670 024660 023737 001i24 001126
4671 024666 001401
4672 024670 104007
4673 024672 013737 001172 001126 693:
4674 024700 013737 001226 001240
4675 024706 042737 100000 0C1I26
qs;; Ce47i4 023737 00il24 001126
4677 024722 001401
4678 724 104007
4679 024726 000240 708 :
4680 024730 000004 18:
4681
4682
4683
4684
Y685
4686
4687 L ¥
4688 R
4689 "
4690 "
4691 3
4632 ‘¥ B.
4693 ¥
4694 ; ¥
4695 s %
4696 "
4697 ;¥
4698
4p99 024732 t&120:
4700 024732 005737 001300

024736 001406

KO?
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SEIZE 'B’ BY RMCSI TEST

BIC
cMP
BNE
TST
BNE
ERROR
JNP
MOV
MOV
MOVB
TST
BEQ
MOV
MoV
MOVB
15T
BNE
MOV

BATAIW, STMPI
ggnpo stupl

, PTNBR
PORT8,RMCS2(RA) ;
MPO

67$

PORTA, PTNBR
§TMP3, SBDDAT
PORTA, RMCS2(RO)
STMPL

68%
#-1,RELERR
#11,RMCS1(RO)
#13,RMCS1(RO)

26
$TMP2, SBDDAT
PORTA' PTNBR
#8ATAR, $B0DAT
ggoohr $BODAT

7
§TMP3, SBODAT
PORTB’ PTNEBR
8ATA, $BDDAT
sggohT SBODAT

7
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CLERR PORT DEPENDENT BITS FROM THE COPY
THENETRTUS REGISTER THE SAME FROM BOTH PORTS ?

REGISTERS ARE THE SAME: ARE THEY ZERO 7

iBR_IF_NOT

:REPORT DRIVE NOT IN NEUTRAL OR NOT SEIZED
;BYPASS THE REST OF THE CHECKS

:SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
;SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
sSELECT PORT 8.

:SEE_IF STATUS EQ O FROM PORT A.

:BR_IF ZERO

:SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
:"BAD DATA' FOR ERROR TYPE OUT

:SELECT PORT A.

:GEE_IF STATUS EQ ZERO FROM PORT B.

:BR_IF NOT

:SET 'RELEASE ERROR’ INDICATOR

:CLEAR THE DRIVE

:RELERSE THE DRIVE

; TYPE ERROR MESSAGE 26

:LOOK FOR BIT FAILURES WHEN RMDS1 READ
; CHANGE PORT NUMBER

sDON'T_CHECK THE ATTN BIT

:ALL BITS 0K ?
:BR_IF _OK_FROM PORT A.
: REPORT ERROR

: CHECK_RMDS1 FOR BIT FRILURES - FROM PORT 8.
: CHANGE PORT NUMBER

:DON'T_CHECK THE ATTN BIT

:SEE_IF RERD OK FROM PORT B.

:BR_IF OK

: REPORT ERROR

:LOOP ?

« 3333 I MR I O OO R X R R AR LR AR
PORT 'R’ INHIBIT SEIZE BY RMCS! TEST

’irssr 20

*VERIFY THAT READING THE CONTROL REGISTER (RMCS1) DOES NOT SET 'PORT
REQUEST' IF THE DRIVE IS SEIZED.

A.

C.

SEIZE THE DRIVE THROUGH PORT ’'B’ BY RERDING RMCSI.

VERIFY THRY

THE DRIVE HAS BEEN SEIZED.

gE?D THE CONTROL REGISTER FROM PORT ’R’.

ISSUE A RELERSE COMMAND THROUGH PORT 'B’.

VERIFY THRT °DVR’ IS NOT

VERIFY THAT THE DRIVE

RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.

TST
BEQ

KYBCTL
23

o 63636 36 36 30 38 36 366 36 36 36 36 96 36 36 36 36 36 3 36 36 36 36 6 36 3 36 3 36 36 336 936 3036 36 30 36 3 36 30 30 36 30 00 3 30 3 06 36 96 3 3 36 3 36 3 3 2 %

; PERFORMING ONLY SINGLE TESTS ?
:BR IF NOT

SEQ 0090
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DZRMGA.P11  01-RUG-77 10:58 120 PORT 'R’ INHIBIT SEIZE BY RMCS1 TEST
:;oa oaq;:o 100002 , ?ﬁ% é’ c :BR IF JUST ENTE;ED TE?T .
: py-3) ’
Y7 853745 8?3533 1D9;979 001300 1S MOV .xi KYBCTL '&Pﬂn&?‘ k&ﬁ Miﬁm&'“‘
3;05 ueq;sw 11273; 000020 001102 2$: ngxa :;o ¥rsrnn ;IEST Eunecn T ADDRESS
Y7 795 815;37 85'3383 %H% MOV .riérSS'itas"‘SS 5L% L% 85 5309 RODRESS
4708 024776 012737 000031 001176 MOV 825, STIMES : D0 25. ITERATIONS
:;?3 025004 012706 001100 TEST20: MOV 8STARLK, SP :LORD THE STACK POINTER
33%5 :CLERR ATTENTION BITS FOR BOTH PORTS
4713 025010 113760 001224 000010 MOVB  PORTA,RMCS2(RO) ;SELECT PORT #A
4714 025016 005060 000012 CLR RMOS1LRO) :SEIZE THE ORIVE
4715 025022 012760 000CII 0O0OOD MOV $11,RMCS1(RO)  :ISSUE DRIVE CLEAR
4716 025030 012760 000013 000000 MOV 813 RMCS1(RO)  RELEASE THE DRIVE
4717 02503 113760 001226 000010 MOVB  PORYB,RMCS2(RO) :SELECT PORT $8
4718 025044 00S060 000012 CLR RMDS1RQ) :GEIZE THE DRIVE THROUGH PORT 'B’
4719 025050 O1:760 000011 000000 MOV $i1,RMCS1(RD)  :1SSUE DRIVE CLEAR
:;g? 025056 O0lc760 000013 000000 MOV 813 RMCS1(RO)  ;RELEASE THE DRIVE
:;gg ;;!*!}***l!l!!lll!il!ll!!l!ll!ll!lliilliiiil*!*i**i!ll!ii****iii!
:;gg :SEIZE THE DRIVE THROUGH PORT B
4726 025064 113760 001226 000010 MOVB  PORTB,RMCS2(RO) ;SELECT PORT B
4727 025072 013737 001226 001242 MOV PORTB!SEIZPT ;SYORE SEIZING PORT'S ADDRESS
47028 025100 00S760 000000 TST RMCS1LRO) :RERD RHCS!
4729 (025104 113760 001224 000010 MOVB  PORTA,RMCS2(RO) ':SELECT PORT A
4730 026112 013737 001224 001240 MOV PORTA,PTNBR ;MOVE PORT RDDRESS TO LOCATION FOR TYPEOUT
4731 025120 013737 001224 001244 MOV PORTA’ OPPRT : "OPPOSITE' PORT RDDRESS
4732 025126 016037 000012 001126 MOV RMDS1{RO),SBDDAT’ ;SEE IF DRIVE SEIZED BY PORT B
4733 025134 010037 001122 MOV RO, SBORDR sRA11 BASE ADORESS
4734 025140 062737 000012 001122 ADD SRMDSL,SBDADR  +GENERATE BAD REGISTER ADDRESS
4735 025146 005037 001124 CLR $GDDAT ‘REGISTER SHOULD BE ZERO
473 025152 023737 001124 001126 CHP $GDODAT,SBODAT ;IS THE REGISTER ZERO
4737 025160 001403 BEQ 64s :BR IF IT IS
4738 025ibe 104004 ERROR 4 :REPORT THE ERROR
4739 (25164 000137 025776 IMP 1$ :BYPRSS REST OF THE SUBTEST
4740 025170 BYS:
4741 025170 113760 001226 000010 MOVB  PORTB,RMCS2(RO) :SELECT PORT B
4742 025176 013737 001226 001240 MOV PORTB PTNBR :MOVE PORT RDDRESS TO LOCATION FOR TYPEQUT
4743 025204 016037 000012 001126 MOV RMDS1IR0O), SBODAT ;SEE IF SEIZING PORT SEES CORRECT STATUS
4744 (26212 042737 020001 001126 BIC 80M'PIP, SBDDAT .CLEAR DONT CARE BITS
4745 025220 012737 011700 001124 MOV sMOL ! PGH! DPR! DRY! vV, SGDDAT ; EXPECTED STATUS
4746 025226 013737 001124 001166 MOV $GODAT, $TMP1  ;USE 800D DATA'AS A MASK
4747 025234 005137 001166 COM STHP] - COMPLEMENT THE EXPECTED STATUS
4748 025240 013737 001126 00116Y4 MOV $BODAT,STMPO  ;SAVE THE ACTUAL STATUS
4749 025246 043737 001166 001164 BIC §TMP1, $TMPO :CLEAR UNMANTED BITS
4750 028354 023737 001124 001164 CMP $GODAY, STMPO  :ARE THE EXPECTED STATUS BITS SET ?
4761 0°5262 001401 BEQ BSS :BR IF THEY ARE
4762 025264 104005 ERROR S :REPORT THE ERROR
4763 (025266 000240 658:  NOP
4754 026270 113760 001224 000010 MOVB  PORTA,RMCS2(RO) :SELECT PORT A
4755 025276 013737 001224 001240 MOV PORTA,PTNBR ;MOVE PORT ADORESS TO LOCATION FOR TYPEOUT

4757 S o HMARIHRRERRRNREHREEERIERNERHEREERRERERERRER R RAERRRRRRHE R AR
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001250
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001164

000010
001240
000000

T20 PORT 'R’ INHIBIT SEIZE BY RMCS1 TEST

sREAD RMCS1 THROUGH PORT A - TRY TO SET PORT REQUEST

CLR CKERR :CLEAR THE 'CHECK ERROR’ INDICATOR
MOV RMCS1 (RO, SBOOAT’ :GET CONTENTS OF RMCS!

MOV $RMCS1, $B0RDR  ; FORM REGISTER “EBSEES OF ERROR MESSAGE
RDD RO, SBDADR -ADD RH11 BASE s

CLR $GODAT :WHAT REGISTER SHOULD BE

MOV SBOOAT,.STMP0  :MOVE REGISTER CONTENTS TO 'STMPO’

S5 i TR L
68 ;BR_IF 0K

& .
MOV SBODAT,STMPY  ;COPY *BAD DATA’

BIC 84077, $ TPy ‘CLEAR THE MASKED BITS
BIS STMPY SGDDAT  ;’'OR’ WITH GOOD DATA FOR TYPEOUT
EPROR 10 :REPORT THE ERROR
e 589 CKERR :SET THE REGISTER COMPARE ERROR INDICATOR

H B ENI T 30333636 36 333 3 33 36 36 36 3 36 36 336 3 36 3 3 3 3 3 3 3 3 3% 3 3 3 36 3 3 3 3 96 3 3 36 3 3 36 % ¥ %
: ORIVE SHOULD RETURN TO NEUTRAL

;RELERSE THE DRIVE FROM PORT B

MOVE PORTB,RMCS2(RO) :SELECT PORT B
MOV PORTB, PTNBR ;HOVt PORT ADDRESS TO LOCATION FOR TYPEOUT
MOV 813,RACS1(RO)’ ; ISSUE RELEASE THROUGH PORT B

; VERIFY THAT THE DRIVE IS IN NEUTRAL

CLR RELERR :CLEAR THE 'RELERSE ERROR ' INDICATOR
MOV $RMDS]1,SBDADR  :FORM THE ADDRESS OF RMDS1 FOR TYPEOUT

ADD RO :ADU THE 1/0 BASE ADDRESS

MOV sMOL ! PGM! DPR!DRY ! Vv, SGDORT ; COMPARISON CONSTANT

MOVB  PORTA,RMCS2(RO) ;SECECT PORT'A.

MOV RMDS1tRO) ,STMP2 :GET THE DRIVE STATUS REGISTER FROM PORT A.
BIC sPIP!WRL ' OM, STMP2 :CLERR DONT CARES

MOV $TMP2, STMPO -COPY IT’INTO ’'STMPQ’

BIC 8ATAIYV, STMPO  :CLEAR PORT DEPENDENT BITS FROM THE COPY
MOVB  PORTB,RHCS2(RO) :SELECT PORT B.

MOV RMDS1LRO) S STMP3 :GET THE onxzs STATUS REGISTER FROM PORT B.
BIC sPIPIWRL I OM, STMPS : CLEAR DONT CARES

MOV STMPI, STMP -COPY IT INTO ’'STMPL’

BIC BATAIVV STMP1  :CLEAR PORT DEPENDENT BITS FROM THE COPY

BNE ;BR _IF NOT

TST $TMPO ;REGISTERS ARE THE SAME: ARE THEY ZERO ?
BNE 708 ;BR_IF NOT

ERROR 46 ;REPORT DRIVE NOT IN NEUTRAL OR NOT SEIZED

JMP ;BYPRSS THE REST OF THE CHECKS

723 ;
68S8: MOV $TMP2, SBODRT ;SET UP POSSIBLE BRD DATA FOR ERROR MESSAGE

MOV PORTB,PTNBR ;SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
MOVB PORTB,RMCS2(R0O) ;SELECT PORT B.

15T S$TMPO ; SCE_IF _STATUS EQ O FROM PORT A.

BEG 69% ;BR IF ZERO

MoV PORTA,PTNBR :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL

SEQ 0092

cMP gggPO,SfHPl ; IS THE STATUS REGISTER THE SRME FROM BOTH PORTS ?
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DZRMGA.P1l  01-AUG-77 10:58 120 PORT 'R’ INHIBIT SEIZE BY RMCS1 TEST
! 3% 013?37 001172 001126 MOV $TMP3,$BODAT  ;’BAD DATA’ FOR ERROR TYPE OUT
:8 3 85?3 1133La 1224 000010 MOVB  PORTA.RMCS?‘RO) :SELECT PORT A.
@; gga 737 001166 TST nmx %Eyémwsmzmommpmra
481 1012 BNE 708
4818 01273" 177777 001254 69S: MOV 8-1,RELEDR :SET 'RE ngg ERROR’ INDICATOR
4819 012760 000011 000000 MOV 111 'RMCS1(FQ)  CLEAR T
4820 025&74 012760 000013 000000 MOV 813 RMCS1(RO)  IRELEWSE THE onxvs
482l 025702 104026 ERROR 26 ' TYPE ERPOR MESSAGE 26
yg2e 025704 013737 001170 001126 70S8: MOV $TMP2,$BODAT  ;LOOK FOR SIT FAILURES WHEN RMDS! READ
4823 (025712 013737 001224 001240 MOV PORTA. PTNBR : CHANGE POR7T NUMBER
4yga4 025720 042737 100000 001126 BIC $ATA, $BDDART :DON’T CHECK THE ATTN BIT
4825 (025726 023737 00114 001126 CMP $GDDAT,$BDDAT  ;ALL BITS Ok ?
48 734 00140 BEQ 718 'BR_IF OK FR(M PORT R.
48 37 0400 ERROR 7 ' REPORT ERROR
48 790 013737 001172 001126 71S: MOV $TMP3,8BDDAT  ;CHECK RMDS1 FOR BIT FAILURES - FROM PORT B.
4829 025746 013737 001226 001240 MOV PORTB PTNER :CHANGE PORT NUMBER
4830 025754 042737 100000 001126 BIC $ATA, $RD0AT ;CON'T CHECK THE ATTN BIT
“Sgé gggrga 023737 001124 001126 CMP SGCOAT,SBDOAT  ;SEE IF READ OK FROM PORT B.
Y 770 001401 BEQ 728 :BR IF OK
4833 025772 104007 ERROR 7 :REPORT ERROR
4yg34 025774 000240 728: NOP
:ggg 025776 000O00M 1§: SCOPE :LOOP ?
4837 H o JE3630 3 306 630 3 6 06 36 36 36 35 96 36 96 36 36 3% 3 3 3 3 3 3 36 96 3 36 9 3 3 3% 36 3 3 3 3 3 3 3¢ 3 36 36 3 36 96 3 J 3 3 % 3 3 3 3 % 3 3% ¥ %
:agg iTEST 21 PORT '8’ INHIBIT SEIZE BY RMCSI TEST
N840 *vsnxrv THAT RERDING THE CONTROL REGISTER (RMCS1) DOES NOT SET ’PORT
3835 ,* REQUEST’ IF THE DRIVE IS SEIZED.
4843 ¥ A. SEIZE THE DRIVE THROUGH PORT 'R’ BY READING RMCS1. VERIFY THAT
:g:g ,: THE DRIVE MRS BEEN SEIZED.
4846 ¥ B. READ THE CONTROL REGISTER FROM PORT 'B’. VERIFY THAT 'DVA’ IS NOT
:g:g : 3 SET.
;l
4849 ‘% C. ISSUE A RELERSE COMMAND THROUGH PORT 'A’. VERIFY THAT THE DRIVE
:ggg Ly RETURNED TO NEUTRAL ANC THAT NEITHER RTTENTION BIT IS SET.
,l
‘485?. » SIS 0800030000600 000 3 0 0 26 3606 96 3 36 9 3 0 3 3 0 3 39 36 96 3 96 3 3 9 36 3 9 3 3 34 9% 963 3 3 06 3 3 2 3 3% W
4853 026000 t&1a) .
4854 026000 005737 001300 ST KYBCTL . PERFORMING ONLY SINGLE TESTS ?
485 85500% CO01406 BEQ 2$ ,aa §r NOT
48 6006 100002 BPL 18 'BR IF JUST ENTERED TEST
4857 026010 000137 002676 by 3 EXEC ‘RETURN & GET NEXT TEST NUMBER
wesg 026014 012737 177777 001300 1§: MOV 8$-1,KYBCTL SET SINGLE TEST INDICATOR
4g69 (26022 112737 000021 001102 28: MOVE 821 STSTNM :TEST NUMBER
w860 026030 012737 026052 001106 MOV 8TEST21,SLPADR ;LOARD LOOP ON TEST ADDRESS
wgzé 852833 8157 7 881110 MOV ITESTE* !LPERR ;LORD_LOOP ON ERROR ADDRESS
4 12737 { 1176 MOV {5 3 .00 25. ITERATIONS
:gga 026052 012706 001100 TEST21: MOV csrnéx :(0ORD THE STACK POINTER
:ggg . CLERR ATTENTION 8ITS FOR BOTH PORTS
4867 113760 DOl224 000010 MOVB  PORTR RHCSE(RO) :SELECT PORT #A
4 % oésow 000612 CLR RMOS1{RO 'SEIZE THE DRIVE
4969 026070 012760 0000I! 000000 MOV sll, nnusx(nn> . ISSUE DRIVE CLEAR
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4870 026076 012760
4571 026104 113760
4872 006112 005060
4873 026116 012760
4874 (026124 012760
4875
4876
4877
4g78
4879
4880 G213 113760
4eel 026140 013737
488D 026146 005760
4883 Gobl52 113760
48g4 06160 013737
489S 02blbe 013737
4386 026174 016037
4887 026202 010037
4888 026206 062737
4889 (026214
4890 006220 0237
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4832 (026230 10400
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432 (0PEM16 023737
4922 (0PE4Y 001414
4423 (02846 0137
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MOV
MOVS
CLR
MOV
MoV

BO8

MACY1l %Ogé?ﬂﬁ) 01-AUG-77 11:02 PAGE 92
PORT 'B' INHIBIT 5EIZE BY RMCSI TEST

813,RMCS1(RD) THE DRIVE
PORTB, RMCS2(RO) ;g&gr PORT 88
RMDS1LRO) : THE DRIVE THROUGH PORT 'B’

811 ,RMCSLI(RO)  ;ISSUE DRIVE CLEAR
813,RMCSI1(RO)  ;RELERSE THE DRIVE

s HERE NI I I I 33 R IR R R IR X
;SEIZE THE DRIVE THROUGH PORT R

MOVE
MOV
TST
MOVB
MOV
MoV
MOV
MOV
RDD
CLR
CMP
BEG
ERROR
JNP

MOVB
noz
M
B¢
MOV
MOV
oM
MOV
BIC
CMP
BEQ
ERROR S
65S: NOP

MOVB
MOV

64S:

PORTRA, RMCS2 (RG) -%scr PORT R
PORTR SEI :STORE SEIZING PORT’S RODRESS
_MCs] LRO) - READ RHCS!

PORTB,RMCS2(R0) ' :SELECT PORT B

PORTB PTNBR ;MOVE PORT ROORESS TO LOCATION FOR TYPEOUT
PORTB, OPPRT - "OPPOSITE’ PORT RODRESS
RMDS1(RD),SBODAT  ;SEE IF DRIVE SEIZED BY PORT A

RO :RAI] BASE ADDRESS

SRMDS]1, SBDADR  ; GEMERATE BAD REGISTER ADDRESS
SGDOAT ;ngcﬁrm RO
SGODAT,SBODAT ;1 ReGI

BY4S :BR IF IT IS

4 : REPORT THE ERROR

1S :BYPRSS REST OF THE SUBTEST

PORTA, RMCS2(RO) -s%ﬁcr PORT f
PORTA'PTNBR ;MOVE PORT ADORESS TO LOCATION FOR TYPEOUT

POTAROL ST iSCE I FEIGING BORL gy qoRCT STATS
cmerr’cﬁeomeogww scoohrm;wgcm STATUS
2?0,,8‘} , $THP1 USEM&T rfts sxP'?ﬁen STATUS
STy R R TED BTt
gaooﬁt,smgo A&E THE EXPECTED STATUS BITS SET ?
65§ :BR IF THEY RARE

:REPORT THE ERROR

PORTB,RMCS2(RO) ;SELECT PORT B
PORTB,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT

H 233 3 3 3 35 35 36 3 3 335 3 36 3 36 3695 96 96 36 96 36 2636 36 3 3 36 3 3 36 3 96 3 4 3 34 36 96 3 36 3 3696 3 3 -3 9 336 3 X 3 3 3 3 3 3 % %
:READ RMCS1 THROUGH PORT B - TRY TO SET PORT REQUEST

CLR
MOV
MOV
RDD
CLR
MOV
BIC
CMP
BEQ
MOV
BIC
BIS

CKERR :CLEAR THE ’CHECK ERROR’ INDICATOR

RMCS1(RO) , SBDOAT' :GET CONTENTS OF RMCSI

8RMCS1, $BORDR  ;FORM REGISTER RDDRESS OF ERROR MESSAGE
RD0 RH11 BASE ADDRESS

RO, SBOADR ; 1

SGDORT :WHAT REGISTER SHOULD BE
SBODAT,STMPO  :MOVE REGISTER CONTENTS TO ’STMPQ’
$4C4077,5TMP0  ; SAVE SPECIFIED BITS

SGDODAT,§TMPO ' ;COMPARE THE BITS

663 ;BR_IF 0K

$BODAT,STMP4  ;COPY ’BAD DATA’

84077, §THPY :CLEAR THE MASKED BITS

$TMPY SGDDAT  ;’'OR’ WITH GOOD DATA FOR TYPEOUT

SEQ 0094
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DZRMGA.P11  'Ol- PORT ’B' INHIBI TEST
4926 026450 104010 ERROR 10 :REPORT THE ERROR
4327 Q26452 005137 001250 COM CKERR 'SET THE REGISTER COMPARE ERROR INDICATOR
:% 026456 000240 66S:  NOP
4930 HH Y2 YT eI TSI ST L2222 RIS SRR SRS S L
4931 :DRIVE SHOULD RETURN TO NEUTRAL
4932
4933
33332 :RELERSE THE DRIVE FROM PORT A
4936 026460 113760 001224 000010 MOVB  PORTA,RMCS2(RO) :SELECT PORT A
4337 (026466 013737 001224 001240 MOV PORTA PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
:3% 026474 012760 000013 000000 MOV #13,RMCS1(RO)’  ;ISSUE RELERSE THROUGH PORT A
:g:? :VERIFY THAT THE DRIVE IS IN NEUTRAL
Y42 026502 001254 CLR RELERR -CLEAR THE ’RELERSE ERROR ' INDICATCR
4943 026506 012737 000012 001122 MOV SRMOS], SBORDR  :FORM THE ADDRESS OF RMDS1 FOR TYPEOUT
4944 026514 001122 ADD jAD0_THE /0 BASE ADORESS
49ug uza% 012737 011700 001124 MOV smOL ! PGM! DPR! DRY ! vV SGDOAT ; COMPARISON CONSTANT
Y4 026 113760 001224 000010 MOVB  PORTA,RMCS2(RO) ;SECECT PORT A.
4q47 016037 000012 001170 MOV RMDS1IRD) . STMP2 :GET THE DRIVE STRTUS REGISTER FROM PORT A.
4o4g (026542 0O42737 024001 001170 BIC $PIP!WRL 1 M, STMP2 :CLEAR DONT CARES
4949 026550 013737 001170 001164 MOV STMP2, STMPO -COPY IT INTO 'STMPO’
4950 026556 042737 100100 001164 BIC $ATA!YV, STMPO  ; CLEAR PORT DEPENDENT BITS FROM THE COPY
4951 (026564 113760 001226 000010 MOVB  PORTB, RMCS2(R0) ;SELECT PORT B.
4952 026572 016037 000012 001172 MOV RMDS1IRD) . STMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.
4963 (026600 042737 024001 001172 BIC sPIP WRL ! OM, STMP) ;CLERR DONT CRRES
4954 (026606 013737 001172 001166 MOV STMP3, STHP1 COPY IT'INTO *STMPI’
4355 026614 04 100100 001166 BIC $ATA'{V STMP1  :CLEAR PORT DEPENDENT BITS FROM THE COPY
435k (02622 023737 001164 001166 CMP sTMPO, stHP :1S THE STATUS REGISTER THE SAME FROM BOTH PORTS ?
4957 (26630 001006 BNE 688 :BR IF NOT
4358 (26632 005737 001164 15T STMPO ‘REGISTERS ARE THE SAME: ARE THEY ZERO 7
4359 (26636 001045 BNE 708 :BR IF NOT X
4960 026640 104046 ERROR 46 'REPORT DRIVE NOT IN NEUTRAL OR NO1 SEIZED
4361 02bbM2 000137 027042 h{y ] 72% :BYPRSS THE REST OF THE CHECKS
4962 026646 013737 001170 001126 6B8S: MOV §TMP2, SBDDAT  ;SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
4363 026654 013737 001226 001240 MOV PORTB. PTNBR :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
4964 (26bbe 113760 001226 000010 MOVB  PORTB.RMCS2(RO) :SELECT PORT B.
4965 026670 005737 001164 TST $TMPO :SEE IF STATUS EQ O FROM PORT f.
4 74 001414 BEQ 698 ;@ ;r ZERO
496 76 013737 001224 001240 MOV PORTAR, PTNBR *SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
4968 026704 013737 001172 001126 MOV §TMP3 SBODAT  :'BAD DATA’ FOR ERROR TYPE OUT
4969 026712 113760 001224 000010 MOVB  PORTA,RMCS2(RO) :SELECT PORT R.
4970 026720 005737 001166 ST STMP] 'SEE IF STATUS EQ ZERO FROM PORT B.
4971 Q02674 001012 BNE 708 :BR_IF NOT
4972 (026726 012737 177777 001254 69%: MOV 8-1,RELERR :SET ’RELEASE ERROR’ INDICATOR
4973 026734 012760 000011 000000 MOV $11 RMCS1(RO)  ;CLEAR THE DRIVE
4974 (026742 012760 000013 000OGO0 MOV 813 RMCS1(RO)  ;RELERSE THE DRIVE
4975 8%%;32 04026 ERROR 26 ' TYPE ERROR MESSAGE 26
4976 13737 001170 001126 708: MOV §TMP2 SBODAT  ;LOOK FOR BIT FAILURES WHEN RMDS! READ
4977 026760 013737 001224 001240 MOV PORTA. PTNER : CHANGE PORT NUMBER
4978 026766 042737 100000 001126 BIC $ATA, 48075 :DON’T CHECK THE ATTN BIT
4979 (026774 023737 001l24 001126 CMP $GDDAT, $80DNT  :ALL BITS OK ?
4380 027002 0G1401 BEQ 718 :BR IF OK FROM PORT A.

4381 027004 104007 ERROR 7 : REPORT ERROR




MD-11-0ZRMG-A,RMO3 DUARL PORT LOGIC TEST - PRRT |

DZRMGA.P11

HRSRRSERES

T
OO NONLEWM—-D

BERRRSRES

&
8

etk

a8
St

027006
027014
027022
027030
BE7040
027042
027044

027046

SRRRRRRR

NN
Pt Prut Puns Pret Pt ot Pt ot

REEKERKE

027206

013737
013737
042737
023737
001401
104007
000240
000004

'01-AUG-77 10:58

~ERe-
et txtatvl

5e8

001126
001240
001126
001126

88888
SR

000000
000000
000010
000000
000000

000010
001242

T2l
718:

728:
18:

DO8

MACY1l 30(1046) O01-RUG-77 11:02 PAGE %
PORT ’'B’ INMIBIT SEIZE BY RMCS1 TEST

“Hgg $TMP3, SBODAT ;CHECK RMDS1 FOR BIT FRILURES - FROM PORT B.

PORTB' PTNBR ;CHANGE PORT NUMBER
BIC sATA, $BDDAT :DON’T CHECK THE ATTN BIT
CHP scoohv $BODAT  ;SEE IF READ OK FROM PORT B.
BEQ :BR IF OK
gggon 7 *REPORT ERROR
SCOPE :LOOP 7

BB E RN NN RT3 363636336 300 36 3 363 3 36 36063 3 3 3 3 3 36 33 3 32 33 3 X % % % B
irzsr 22 SEIZE BY RMAS TEST

lTEST THAT WRITING THE APPROPRIATE DRIVE BIT INTO THE ATTENTION REGISTER

lﬁ******lﬂ**

;
v
;
’
]
’
’
'
i
’
t

&122

18:
cs:

TESTEZ:

élé%?S) SEIZES THE DRIVE. VERIFY THAT REQUEST IS SET FOR THE OTHER

WRITE THE APPROPRIATE DRIVE BIT INTO RMRS; VERIFY THAT THE DRIVE
1S SEIZED.

ISSUE A RELERSE COMMAND THROUGH THE SEIZING PORT; VERIFY THAT THE
ORIVE SWITCHES TO THE OPPOSITE PORT. ISSUE A RELERSE THROUGH THE
OPPOSITE PORT AND VERIFY THAT THE DRIVE IS IN NEUTRAL.

l**i*!**i!*!l!l*ii********i!*ll!llllilill!!l**lllll!*i!ll*l!ii!

157 KYBCTL :PERFORMING ONLY SINGLE TESTS ?
BEQ cs iBR IF NOT

BPL 1$ :BR_IF JUST ENTERED TEST

JMP EXEC :RETURN & GET NEXT TEST NUMBER

MOV é K CTL §ET Snﬂﬁhé TEST INDICATOR
MOVE  #2

MOV orséraa sLPnon :LORD LOOP ON TEST ADDRESS
MOV orssraa SLPERR ;LOAD LOOP ON ERROR RODRESS
MOV STIMES : D0 25. ITERATIONS

MOV nsrnéx,sp :{ORD THE STACK POINTER

:CLEAR ATTENTION BITS FOR BOTH PORTS

MOVB  PORTR,RMCS2(RO) ;SELECT PORT #A
CLR RMDS1LRO) :SEIZE THE DRIVE
MOV #11,RMCS1(RD)  ;ISSUE DRIVE CLEAR
MOV 813 RMCS1(RO) mmsmmm
MOvB  PORYB,RMCS2(RO) :SELECT PORT 8

CLR RMDS1 LRO) :SEIZE THE DRIVE THROUGH PORT ’B’
MOV 811 ,RMCS1(RD) xssus DRIVE CLERR

MOV 813 RMCSI(RO)  ;RELERSE THE DRIVE

H o BN EHE TR IR 3% T 336 338 33 36 6 3636 36 36 9696 36 36 36 36 3% 3 3F 36 36 3 36 3 3 30 3 3 3 3 b 3 3 2 3 % % % ¥ % %
SELECT DRIVE OTHER THAN THAT BEING TESTED

MOVB PORTC,RMCS2(R0) ;SELECT DRIVE NOT BEING TESTED
MOV PORTR, SEIZPT s TSEIZED' PORT RDORESS

o S0 30060530 3638 36 36 36 36 36 3 3 3 3 36 36 3 36 98 06 3636 3696 96 3 36 36 96 36 36 36 36 3 3 3 3 3 3436 3 3 3 3 3¢ 3% 3 3 3 3 3 3 3 3 % % % % % %
ﬁRITE THE DRIVE’S ATTENTION BIT

SEQ 009%
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DZRMGA.P11 0O1-RUG-77 10:58 Te? SEIZE BY RMQS TEST
%% B27214 013750 m{eaa {8 n"%a g“%h%ﬁr’m | WRITE ;rg npgrmon BIT OF THE DRIVE BEING TESTED
00 , .
ﬁg %ﬁ 613;39 155'4 %?gau MOV TR,PTI’BS ;novt%ﬁs qoggzss TO LOCATION FOR TYPEOUT
S0M3 HH F 3033533 3636 3 33 3 33 3 3 36 36 36 35 36 3 2536 3 3 3 3633 369 36 3 3 30 36 36 3 3 33 3% 3 3 3 3 3 3 %33 ¥ % % 3 %% %
50%fsotw :VERIFY THAT EITHER PORT A OR PORT B HAS THE DRIVE
SO46 027236 760 000012 ST RMDS1 (RO) :SEE THE REGISTER THROUGH PORT A ?
5047 027242 001014 BNE 1$ ‘BR_IF YES
SOM8 02724 113760 001226 000010 MOVB  PORTB,RMCS2(RO) ':SELECT PORT B
S0M (027052 013737 001226 001240 MOV PORTB PTNBR :MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
5050 (27260 005760 000012 ST RMDS1 {RO) :SEE REGISTER THROUGH PORT B ?
%é % 001021 BNE 2$ :BR IF YES
104042 ERROR 42 ‘DRIVE NOT IN NEUTRAL OR SEIZED
5053 (027270 000137 031120 IMP 4§ :BYPRSS REST OF TEST
S0SN 027274 18:
5055 113760 00l226 000010 MOVB  PORTB,RMCS2(RO) :SELECT PORT B
5066 027302 013737 001226 001240 MOV PORTB PTNBR ;MOVE PORT ADORESS TO LOCATION FOR TYPEOUT
8057 027310 005760 000012 ST RMOS1LRO) -REGISTER SHOULD BE ZERO THROUGH PORT B
5058 027314 001002 BNE . +6 ‘BR IF STATUS REG IS NOT ZERO
€059 027316 000137 030220 JMp 3s :STATUS REG IS ZERO
5060 027322 104043 ERROR 43 :DRIVE IN NEUTRAL AFTER WRITE ATTN BIT
2% 000137 031120 JmMp 4§ 'BYPASS REST OF TEST
5063 HH EREREREXRRE IR TN R E R EENEER
%g :PORT B HAS THE DRIVE. VERIFY THAT PORT A HAS PORT REQUEST SET
5066 027330 2s:
€067 027330 00S037 001250 CLR CKERR :CLERR THE ’CHECK ERROR’ INDICATOR
6068 (27334 016037 000012 001126 MOV RMOS] (RO),SBODAT' ;GET CONTENTS OF RMOS!
g069 (2732 012737 000012 001122 MOV sRMDS |, SBORDR  ;FORM REGISTER ADDRESS OF ERROR MESSAGE
5070 027350 060037 001122 ADD RO -ADD RH11 BASE ADDRESS
6071 027364 012737 011700 001124 MOV sMOL ' PGMYOPR! DRY! VW, SGDDAT  :WHAT REGISTER SHOULD BE
5072 013737 001126 001164 MOV $BODAT,STMPO ;MOVE REGISTER CONTENTS TO *STMPO’
6073 027370 042737 106077 00116Y BIC 84C71700,8TMP0  ;SAVE SPECIFIED BITS
8074 027376 023737 001124 001164 CMP $GODAT,$tMP0 ~  ;COMPARE THE BITS
€075 027404 001414 BEG E4S ‘BR IF 0K
€076 027406 013737 001126 001174 MOV $BODAT,STMPY  :COPY 'BRD DATA’
5077 ng 042737 071700 001174 BIC 871700 §TMP4  CLEAR THE MASKED BITS
5078 053737 001174 001124 BIS sTMPY,$GODAT  ;'OR’ WITH GOOD DATA FOR TYPEQUT
6079 027430 104010 ERROR 10 'REPORT THE ERROR
5080 (027432 00S137 001250 COM CKERR :SET THE REGISTER COMPARE ERROR INDICATOR
€081 (027436 000240 E4S:  NOP
6082 027440 013737 001226 001242 MOV PORTB,SEIZPT  ;ADDRESS FOR ERROR MESSAGE
5083 027446 013737 001224 001244 MOV PORTA, OPPRT :SAME AS ABOVE
soess: E :RELEASE THE DRIVE FROM PORT B
5087& 027454 113760 001226 000010 MOVB  PORTB,RMCS2(RO) ;SELECT PORT B
6088 027462 013737 001226 001240 MOV PORTB,PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
€089 027470 012760 000013 000000 MOV #13,RMCSI(RO)’  ; ISSUE RELEASE THROUGH PORT B
%35_ :VERIFY THAT DRIVE IS SEIZED BY PORT A WHEN RELERSED BY PORT B
€093 027476 00S037 001254 CLR RELERR :CLEAR 'RELEASE ERROR’ INDICATOR
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509 g;gus mgd;;r/ 111700 001124 MOV $ATA'MOL ' PGM! DPR! DRY! VV, SGDDAT  ; COMPARISON CONSTANT

5095 16 012737 000012 001122 MOV $RMDS1, SBORDR  ; REGISTER RDORESS’ INCREMENT

509% 027515 osg% 001122 ADD RO, $BDA0R nscrsrsn enss noonsss FOR TYPEOUT

2038 li omaag 0012303 :338 %‘3 an“mr)n T0 LOCATION FOR TYPEOUT
8;& 81%% 12 00116M4 MOV RMDS1IRO)  $TMPO v&m sm“%%cxsm FROM PORT A

G100 027544 613?50 001226 000010 MOVE  PORTB,RMCS2(RO) ':SELECT POR

§101 027552 013737 001226 001240 MOV PORTB.PTNBR :MOVE PORT nooaess 70 LOCATION FOR TYPEOUT

glg m %wgg‘ 000012 001126 MOV RMDS1 [RO), saobm on;vg STATUS FROM PORT B

i 14 BEQ 66S TATUS FROM PORT B ZERO

5104 027570 005737 001164 3 STMPO s IS STATUS FROM PORT A ZERO ?

6105 027574 0GI1401 BEQ e.ss ‘BR IF ZERO

5106 027576 104044 ERROR ‘REPORT DRIVE NOT SEIZED BY PORT A

6107 027600 013737 001164 DO1126 66S: MOV smpo $BDORT  ;CHECK STATUS FROM PORT A

5108 027606 013737 001224 001240 MOV PORTA. PTNBR :CHANGE PORT RDORESS FOR TYPEOUT

5109 027614 023737 001124 001126 CMP $GODAt, SBODAT  ;COMPARE WITH CONSTANT

5110 027622 001401 BEQ 678 :BR IF OK

G111 027624 104027 ERROR 27 :REPORT REGISTER ERROR

E{{% 027626 000240 67S:  NOP

E}{Z :RELERSE THE DRIVE FROM PORT R

6116 027630 113760 001224 000010 MOVE  PORTA,RMCS2(RO) :SELECT PORT A

5117 027636 013737 001224 001240 MOV PORTA PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT

gﬂg 027644 012760 000013 000000 MOV #13,RMCSI(RO)’ ; ISSUE RELEASE THROUGH PORT A

g%gg :VERIFY THAT THE DRIVE IS IN NEUTRAL

5192 027652 005037 001254 CLR RELERR :CLERR THE 'RELERSE ERROR ' INDICATOR

5123 027656 012737 000012 001122 MOV SRMDS1,$B0AOR  ;FORM THE ADORESS OF RMDS1 FOR TYPEOUT

5124 027664 001122 ADD RO, SBOADR lnoo THE 1/0 BASE RDORESS

5125 027670 012737 011700 001124 MOV smOL ! PGM! DPR! DRY} vV, SGDDRT  ; COMPRRISON CONSTANT

6126 027676 113760 001224 000010 MOVB  PORTA RMCS2(RO) ;SELECT PORT'A.

5197 027704 (016037 0000[2 001170 MOV mosltm) STMP2 :GET THE onxv: STATUS REGISTER FROM PORT A.

5128 027712 042737 024001 001170 BIC sPIP!WRL ! 0N, STHPS -CLEAR DONT CARES

6129 027720 013737 001170 001164 MOV sSTMP2, STMPO' -COPY 1T’ INTO ’STMPO’

5130 (027726 042737 100100 001164 8IC 8ATRIVV, STMPO  ;CLEAR PORT DEPENDENT BITS FROM THE COPY

S131 027734 113760 001226 000010 MOVB  PORTB, RACS2(RO) ;SELECT PORT B.

5132 (027742 016037 000012 001172 MOV RMOS1LRO) . STMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.

€133 027750 042737 02400l 001172 BIC sPIP!IWRL ! OM, STHPY sCLEAR DONT cnnes

6134 027756 013737 001172 001166 MOV STMP3, STMP1 :COPY IT INTO ’STMP

6135 027764 042737 100100 001166 BIC 8ATR!VV STMP1  ;CLEAR PORT oepsroem BITS FROM THE COPY

513 027772 023737 001164 001166 CMP sTMPO, St ' 1S THE STATUS REGISTER THE SAME FROM BOTH PORTS ?

6137 030000 001006 BNE 68$ :BR IF NOT

6138 030002 005737 001164 15T STMPO Rscxsrsns ARE THE SAME: ARE THEY ZERO ?

5139 030006 001045 BNE 708 :BR IF NOT

G140 030010 104046 ERROR Y46 : REPORT DRIVE NOT IN NEUTRAL OR NOT SEIZED

6141 030012 000137 030212 IMP 728 :BYPRSS THE REST OF THE CHECKS

5i42 030016 013737 001170 001126 6B%: MOV §TMP2,$BDDAT  ;SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE

5143 013737 001226 001240 MOV PORTS. PTNBR 1SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL

6144 030032 113760 001226 000010 MOVB  PORTB.RMCS2(RO) ;SELECT PORT B.

5145 030040 005737 001164 ST sTMPO’ :SEE IF smrus EQ O FROM PORT fA.

Si4 030044 001414 BEQ 63§ :BR IF ZERO

G147 030046 013737 001224 001240 MOV PORTA, PTNBR :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL

5iug 030054 013737 001172 001126 MOV §TMP3 SBDDAT  :’BAD DRTA’ FOR ERROR TYPE OUT

5149 030062 113760 001224 000010 MOVB  PORTAR.RMCS2(RO) :SELECT PORT R.
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TST STMPI ;SEE _IF STATUS EQ@ ZERO FROM PORT B.
BNE 708 ;BR_IF NOT
MOV 1,RELERR ;SET 'RELERSE ERROR’ INDICATOR

', ’
MOV 811 ,RMCSI(RO)  ;CLEAR THE DRIVE
MOV 813,RMCSI1(RO)  ;RELERSE THE DRIVE
ERROR 26 ; TYPE ERROR MESSAGE 26
MOV $TMP2, SBDORT ;LOOK FOR BIT FAILURES WHEN RMDS1 RERD
MOV PORTR, PTNBR : CHANGE PORT NUMBER

BIC #ATA, $B0DAT s DON’ T ?HECK THE ATTN BIT
CMP $GDDAT, SBODAT  :ALL BITS OK ¢

BEG 718 :BR _IF OK FROM PORT A.
ERROR : REPORT

7 : ERROR
MOV $TMP3,$BODRT  CHECK RMDS1 FOR BIT FAILURES - FROM PORT B.

MOV PORTB PTNBR CHANGE PORT NUMBER

BIC $ATA, $BODAT :DON’T CHECK THE ATTN BIT
cMP SGDDAT,SBODAT  :SEE IF READ OK FROM PORT B.
BEQ 728 :BR IF OK

ERROR 7 : REPORT ERROR

NOP

JMP ys

o = 3036303006 36 96 36 36 38 96 36 6 36 36 36 0 36 3 38 36 36 36 38 3 36 38 36 38 96 36 3 38 36 30 36 36 3 30 36 3 38 36 96 9 36 3 3¢ 36 36 38 9 3 36 36 0 36 9 3¢ 3 3¢ 3% %

s tHE DRIVE IS SEIZED BY PORT RA.

33:

73%:

VERIFY THAT PORT B HAS PORT REQUEST SET

MOVB PORTA,RMCS2(R0O) ;SELECT PORT R

MoV PORTR, PTNBR ;HOVt PORT ﬂgﬂﬂ%&é TO LOCATION FOR_TYPEOUT
CLR CKERR ;CLCAR THE '’ CHECK OR’ INDICATOR

MOV RMDS1 (RO),SBODRT  ;GET CONTENTS OF RMOSI

R GO i e o R ressis

MOV #MOL ' PCM! DPRIDRY VY, SGDDAT  :WHAT REGISTER SHOULD BE
MOV SBDDAT,STMPO :MOVE REGISTER CONTENTS TO *STMPO’

BIC 8171700, 8TMPO :SAVE SPECIFIED BITS
CMP $GODAT,$tMP0 ; COMPARE THE BITS
BEQ 738 ‘BR IF OK
MOV $BODAT,STMPY  ;COPY 'BRD DATA’
BIC 871700 $TMPY4  ;CLEAR THE MASKED BITS
IS STMPY, $§GODAT  ;'OR’ WITH GOOD DATA FOR TYPEOUT
ERROR 10 ‘REPORT THE ERROR
589 CKERR :SET THE REGISTER COMPARE ERROR INDICATOR
MOV PORTA,SEIZPT  ;RDDRESS FOR ERROR MESSAGE
MOV PORTB, OPPRT :GAME RS ABOVE
-RELERSE THE DRIVE FROM PORT A
MOVB  PORTA,RMCS2(RO) :SELECT PORT A

MOV PORTA.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
MOV #13,RMCS1(RO)’ ; ISSUE RELERSE THROUGH PORT A

; VERIFY THAT DRIVE IS SEIZED BY PORT B WHEN RELEASED BY PORT A
CLR RELERR :CLEAR 'RELEASE ERROR’' INDICARTOR

MOV $ATA'MOL ! PGH! OPRIDRY! VY, SGDDAT ;COMPARISON CONSTANT
MOV $RMDS1, SBDAOR ;REGISTEh ADDRESS INCREMENT

SEQ 0099
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SEIZE BY RMAS TEST

RDD
MOVB
MOV
MOV

g
MOV

BEQ
TST
BEQ
ERROR
MOV
MOV
CMP
BEQ
ERROR
NOP

RO, SBDADR
PORTB, RMCS2(RO)

01-AUG-77 11:02 PRGE 98 SEQ 0100

; REGISTER BASE RDDRESS F.R TYPEOUT
:SELECT PORT B

PORTB PTNBR : MO SS TO LOCATION FOR TYPEOUT
RMOS1LRO) , STMPO V&:m sm'?[ Emrsren FROM PORT B 3

p8§¥“ r&(m’ vtssbﬁgmfss T0 LOCATION FOR TYPEOUT

Rnosxtm) saobm

75$
STMPO

758

Yy

$TMPO, SBDDAT
PORTB’ PTNBR
sGopAt, SBODAT
768

27

-DRIVE STRTUS FROM PORT A
:BR IF STATUS FROM PORT A ZERO
;I;E %TRTUS FROM PORT B ZERO ?

F_ZERO
i REPORT DRIVE NOT SEIZED BY PORT B
; CHECK _STATUS FROM PORT B
: CHANGE PORT RDDRESS FOR TYPEQUT
COH??REKHITH CONSTANT

; BR
:REPORT REGISTER ERROR

;RELEASE THE DRIVE FROM PORT B

MOovB
MOV
MOV

: VERIFY

CLR
MOV
RDD
MOV
MOVB
MOV
BIC
MOV
BIC
MOVB
MOV
BIC
MOV
BIC
CMP
BNE
TST

BNE
ERROR
JMP
MOV
MOV
MOvB
TST
BEQ
MOV
MOV
MOvB
TST
BNE

PORTB, RMCS2(RO)

:SELECT PORT B

PORTB,PTNBR ;MOVE PORT ADORESS TO LOCATION FOR TYPEOUT

$13,RACSI(RD)’

; ISSUE RELEASE THROUGH PORT B

THAT THE DRIVE IS IN NEUTRAL

i R R
i é@% 1%ﬂ§é 2
'PGM! DPR! DR cm:son CONSTANT
Ponm RMCS2( RO sstr.cr PORT A.
RMOSILRD) , STMP2 :GET THE DRIVE STATUS REGISTER FROM PORT RA.
IPIP' bn STHP ;CLEAR DONT CARES
smo COPY 1T’ INTO 'STMPO’
BATATIV snm : CLEAR PORT DEPENDENT BITS FROM THE COPY
PORTB, RMCS2(RO) ;SELECT PORT B.
RMDS1{RO) ,$TMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.
sPIPIWRL ' OM, STMPS :CLEAR DONT CARES
STMP3, STMPL ' .COPY IT INTO 'STMPL’
8ATA'VV STMP1  :CLEAR PORT DEPENDENT BITS FROM THE COPY
grsm stwpl !133 };{ N(s);mus REGISTER THE SAME FROM BOTH PORTS 7
STMPO 'REGISTERS ARE THE SAME: ARE THEY ZERO ?
798 ‘BR IF NOT
46 :REPORT ORIVE NOT IN NEUTRAL OR NOT SEIZED

81$

$TMP2, SBODAT
PORTB PTNBR
PORTB, RMCS2(RO)
STHPO

78S

PORTR, PTNBR
STHPB $BO0AT
PORTQ RMCS2(RO)
STMPL’

79%

:BYPASS THE REST OF THE CHECKS

:SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
:SEIZING PORT IF TEST SHOMS DRIVE NOT IN NEUTRAL
'SELECT PORY B.

SEE IFZngTUS EQ O FROM PORT A.

SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
:7BAD DATA’ FOR ERROR TYPE OUT

:SELECT PORT

:SEE IF STQTUS EQ ZERO FROM PORT B.

:BR IF NOT
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saio oaiaxa nie;so 000011
UL

.531 831558 ?137 -?-
6313 031234 005060 000012
gglq 031240 012753 0011

15 031246 01276 0013
5316 031254 113760 001230

&

8888  8BER
RREn

P P s Pt
s pa ) P
mag.cm
ooccoo

000000
000000
0coc10

78$:

798:

809%:

818:
4%:

108

MACY11 30(1046) OILl-AUG-77 11:02 PAGE 99

SEIZE BY RMAS TEST

MOV
MOV

8-1,RELERR :SET 'RELEASE ERROR’ INDICATOR
811 RMCS1(RO)  :CLEAR TH%ﬂERIVE

5&3,RﬂCSi(RD) ,¥E SégEE 2

[ ]
srnps, T ;LOOK rogos*r FAILURES WHEN RMOS1 RERD
PORTA’ PTNBR ! CHANGE NUMBER
#ATA, $BODAT :DON'T CHECK THE ATTN BIT
$GODAT, SBODAT  ;ALL BITS OK ?
80s ‘BR_IF OK FROM PORT A.

'REPORT ERROR

7
$THP3, $BODAT ; CHECK RMOS! FOR B%T FAILURES - FROM PORT B.

PORTB. PTNBR : CHANGE PORT NUMBE

$ATA, $80DAT “DON’T CHECK THE ATTN BIT
SGDDAT, $BODAT  ;SEE IF READ OK FROM PORT B.
als 'BR_IF OK

7 :REPORT ERROR

; LOOP ?

;il!i!li*i***!*ll*lll!il!*!!lii!l!lll!!lllli*l*i!*ii**lill**il!l!
; ¥TEST 23
1

H
; #VERIFY _THAT THE DRIVE IS NOT SEIZED WHEN R 'ZERO’ IS WRITTEN INTO
THE DRIVE'S ATTENTION BIT.

SELECT A DRIVE NOT BEING TESTED AND WRITE ALL BITS, EXCEPT THE
BIT OF THE DRIVE BEING TESTED, INTO THE ATTENTICN REGISTER.

VERIFY THAT THE DRIVE IS STILL IN NEUTRAL.
L HHEHHHEHHHEHHE O HEHHEE HHHEHHEHHE O R

A.

LB B B 8 5 8

t&r23:

18:
cs:

TEST23:

TST
BEQ
BPL
JMP
MOV
MOVEB
MOV
MOV
MOV
MOV

INHIBIT SEIZE BY RMAS TEST

KYBCTL ; PERFORMING ONLY SINGLE TESTS ?
cs ;BR IF NOT

19 ;BR_IF JUST ENTERED TEST

EXEC ;RETURN & GET NEXT TEST NUMBER
$-1,KYBCTL ;SET SINGLE TEST INOICATOR

823, $TSTNN ; TEST NUMBER

$TEST23,SLPAOR  ;LOAD LOOP ON YEST ADDRESS
$TEST23 SLPERR :LOAD LOOP ON ERROR ADDRESS
225, STIMES :-D0 25. ITERATIONS

#STACK, 5P :LOAD THE STACK POINTER

; CLEAR ATTENTION BITS FOR BOTH PORTS

Move
CLR
MOV
MOV
MOVB
CLR
MOV
MOV
MOVB

PORTA. RMCS2(R0O) ;SELECT PORT #A
RMDS 1 tRO) :GEIZE THE DRIVE

sl R (RN i REERcE TME ORTVE
PéStB"Snésatao) ESELEC¥EPOE$ 8

RMDS1 {RO) :GEIZE THE DRIVE THROUGH PORT 'B’
o11,nn¢51(58 : 1SSUE DRIVE CLERR

)
813 RMCSI(RO)  ;RELEASE THE DRIVE
PORYC,RMCS2(RO) ;SELECT DRIVE NOT BEING TES/ED

SEQ 0101
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5318
5319
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©323
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P11

83138

031274

031550

R2RIEE
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e
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01-RUG-77

862137
013760

042737

JO8

PORT LOGIC TEST - PART | MACY]1 30(1046) 01-AUG-77 11:02 PRGE 100 S
10-58 123 Liierr DeTvE BT kAR Tes] €0 0102
iy 322222222222 22223 222X RS RLIIRSLIS LIRSS 2L R
:WRITE ALL ATTENTION BITS EXCEPT BIT FOR DRIVE UNDER TEST
001236 001164 MOV ASR1,STMPO :STORE ATTN BIT FOR PORT A
601164 COM sTMP) :COMPLEMENT 1T
001164 000016 MOV $TMPO,RMAS(RO) :WRITE THE ATTN REGISTER
HH 3333 3303 3 3 3 3606 30 36 3 98 36 36 96 3 3 3 36 3636 3 9 3 3 36 9 3 3 3 36 9 3 3 3 3 9 39496 3 3 3 3 3 3 3 3 5 3 3 9 36 o 3% 3 % %
:VERIFY THAT DRIVE REMAINDED IN NEUTRAL
:VERIFY THAT THE DRIVE IS IN NEUTRAL
001254 CLR RELERR :CLERR THE 'RELERSE ERROR ’ INDICATOR
000012 00} .22 MOV SRMDS! SBDADR  ;FORM THE RDORESS OF RMDS! FOR TYPEOUT
001122 ADD RO, $BDADR iADD_THE 1,0 BASE ADDRESS
011700 001lM MOV sMOL ! PGM' DPR!DRY ! vV, $GDDAT ; COMPARISON CONSTANT
00224 0000.0 MOVB  PORTR,RMCS2(RO) ;SELECT PORT A.
000012 001170 MOV RMOS1IRO) . $TMP2 :GET THE DRIVE STATUS REGISTER FROM PORT A.
024001 001170 BIC sPIP!WRL ! OM STMP2 :CLEAR DONT CARES
061170 001164 MOV STMP2, STHPO :COPY IT'INTO ’'STMPD’
100100 001164 aIC BATAIYV, STMPO  ;CLEAR PORT DEPENOENT BITS FROM THE COPY
001226 000010 MOVB  PORTB,RMCS2(RO) ;SELECT PORT B.
000012 001172 MOV RMOS1{RO) . STMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.
024001 001172 BIC sPIP! WRL ! OM, STHP -CLEAR DONT CARES
001172 001166 MOV STMP3, STMPI :COPY IT'INTO *STMPL’
100100 001166 BIC 8ATA!UV STMP1  :CLEAR PORT DEPENDENT BITS FROM THF COPY
001164 001166 gzg glgpo,sfnpx ;63 }gsNg}nrus REGISTER THE SAME FROM BOTH PORTS ?
001164 ST STMPO 'REGISTERS ARE THE SAME: ARE THEY ZERO ?
BNE 66$ :BR IF NOT
ERROR 46 : REPORT DRIVE NOT IN NEUTRAL OR NOT SEIZED
031642 JMP 58S *BYPRSS THE REST OF THE CHECKS
001170 001126 648: MOV §TMP2,$BODAT  ;SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
001226 001240 MOV PORTB. PTNBR SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
001226 000010 MOVB  PORTB RMCS2(RO) ;SELECT PORT B.
001164 ST STMPO :SEE IF STATUS EQ O FROM PORT A.
BEQ 65§ :BR IF ZERO
001224 001240 MOV PORTA, PTNBR :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
001172 00{126 MOV §TMP3 $BDDAT  :’BAD DATR’ FOR ERROR TYPE OUT
001224 0O000I0 MOVB  PORTA'RMCS2(RO) ;SELECT PORT A.
001166 ST $THP :SEE_IF STATUS EQ ZERO FROM PORT B.
BNE 668 'BR_IF NOT
177777 001254 6S§: MOV 8-1,RELERR :SET 'RELEASE ERROR’ INDICATOR
000011 000000 MOV 811 RMCS1(RO)  ;CLEAR THE DRIVE
000013 000000 MOV 813 RMCS1(R0)  'RELERSE THE DRIVE
ERROR 21 : TYPE ERROR MESSAGE 21
001170 001126 66S: MOV §TMP2,SBDDAT  :LOOK FOR BIT FAILURES WHEN RMDS! RERD
001224 001240 MOV PORTA' PTNBR : CHANGE PORT NUMBER
100000 001126 BIC 8ATA, $80DAT :DON’T CHECK THE ATTN BIT
GOl124 001126 CMP $GODAT,SBDDAT  ;ALL BITS OK ?
BEQ 67§ :BR _IF OK FROM PORT R.
ERROR 7 s REPORT ERROR
001172 001126 67%: MOV $TMP3,$BODAT  ;CHECK RMDS1 FOR BIT FAILURES - FROM PORT B.
001226 001240 MOV PORTB. PTNBR : CHANGE PORT NUMBER
100000 001126 BIC $ATR, §BODAT :DON'T CHECK THE ATTN BIT
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DZRMGA.P11 01-RUG-77 10:58 123 INHIBIT SEIZE BY RMAS TEST
sg7w 031630 023737 001124 001126 cHP $GDDAT,$BDDAT  ;SEE IF READ OK FROM PORT B.
6375 031636 001401 BEQ 68 :BR IF OK
;9 1 wg 007 ERROR 7 -REPORT ERROR
i Yy 40 688: N
78 4y 04 OPE -LOOP ?
5379
5380
6381 HH JH36 3696 36 36 36 36 36 36 96 96 3 3 3% 3 36 3 336 3 3 38 36 336 3 3 -3 33 % %23 3 3% % %KX R EEEEEEREERE X
gggg ;trssr 24 SET PORT 'A' REQUEST TEST
5384 : ®VERIFY THART WRITING A DRIVE REGISTER SETS 'PORT REQUEST® WHEN THE
gggg ;: DRIVE IS SEIZED BY THE OTHER PORT.
gggg ;: A. SEIZE THE DRIVE THROUGH PORT ’'8' BY WRITING 0°S INTO RMDSI.
5389 ' WRITE 0’S INTO RMDS1 FROM PORT 'A’; VERIFY THAT THE DRIVE IS STILL
ggg? ;: SEIZED BY PORT 'B’.
6332 :# C. ISSUE A RELEASE COMMAND FROM PORT 'B’ AND VERIFY THAT THE DRIVE
5393 ‘¥ SWITCHED TO PORT 'A’. VERIFY THAT THE ATTENTION BIT IS SET FOR
gggg ;: PORT 'R’ AND IS NOT SET FOR PORT ’'B’.
5396 % D. ISSUE A RELERSE COMMAND THROUGH PORT 'A’ AND VERIFY THAT THE DRIVE
gggg ;: RETURNED TO NEUTRAL AND THAT NEITHER ATTENTION BIT IS SET.
5399 RN D WU IR I I 0 00 U0 0 R R
S400 031646 t&t2y:
c4y0l 031646 005737 001300 15T KYBCTL : PERFORMING ONLY SINGLE TESTS ?
€402 031652 001406 BEQ 2% :BR IF NOT
5403 031654 100002 BPL 18 *BR IF JUST ENTERED TEST
€404 031656 000137 002676 IMP EXEC 'RETURN & GET NEXT TEST NUMBER
c40s 031662 012737 177777 001300 1§: MOV $-1,KYBCTL :SET SINGLE TEST INDICATOR
S40b 031670 112737 000024 001102 28: MOVB  #24,STSTNM s TEST NUMBER
€407 031676 012737 031720 061106 MOV $TEST24,SLPRDR ;LORD LOOP ON TEST ADDRESS
c4o8 031704 012737 031720 001110 MOV $TEST2Y SLPERR :LO0AD LOOP ON ERROR ADDRESS
S409 031712 012737 000031 001176 MOV 825. STIMES ::D0 25. ITERATIONS
gdi? 031720 012706 001100 TEST24: MOV 8STARLK, SP :{ORD THE STACK POINTER
g:{g :CLEAR ATTENTION BITS FOR BOTH PORTS
S414 031724 663760 001224 000010 MOVB  PORTA,RMCS2(RO) ;SELECT PORT #A
6415 031732 005060 000012 CLR RMDS] LRO) :SEIZE THE DRIVE
5416 031736 012760 000011 000000 MOV 811,RMCSI(RD)  ;ISSUE DRIVE CLEAR
6417 031744 012760 000013 000000 MOV 813 RMCS1(RO)  ;RELEASE THE DRIVE
5418 031752 113760 001226 000010 MOVB  PORYB,RMCS2(RO) ;SELECT PORT 8B
S419 Q31760 005060 000012 CLR RMDS! LRO) :SEIZE THE DRIVE THROUGH PORT '8’
c4y20 031764 012760 0000!l 000000 MOV #11,RMCS1(RO)  ;ISSUE DRIVE CLEAR
3355 031772 012760 000013 (000000 MOV 813 RMCS1(RO)  ;RELERSE THE DRIVE
g:ga HH E X033 333 T 3305 3 3696 36 3 3 3 333 3 3 3 3 36 3 3 36 36 3 3 3 3 36 3 -3 % 3 3 % 3 3 3 % I 3 3 3 3 3 % 3% % ¥ 3 %
g:eag :SEIZE THE DRIVE THROUGH PORT B
S427 032000 113760 001¢26 000010 MOVB  PORTB,RMCS2(RO) :SELECT PORT B
S428 (032006 013737 001226 00i242 MOV PORTB.SEIZPT ;STORE SEIZING PORT’S ADDRESS
6429 032014 005060 000012 CLR RMDS1tRO) WRITE RMDS1

SEQ 0103
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S430 032020 013737 00l2eM
S431 032026 113760 001224
g: 032034 013737 00122y
SY34
S435
i

Y 032042 005060 000012
S438
5439
S440
S441
S442
g443
S44y
S44S 032046 113760 001226
S446 032054 013737 001226
S447 032062 012760 000013
S448
S449
gago 005037 001254
S4 83 074 012737 111700
S453 032102 012737 000012
S4Sy 032110 0s0037 001122
o455 032114 113760 001224
c4Se 032122 013737 001224
6457 (032130 016637 000012
5458 032136 113760 001226
S4S9 03el44 013737 001226
c460 032152 016037 000012
S461 032160 001404
S4e2 03216 005737 001164
S463 032166 001401
S4ed 032170 104031
S46S 032172 013737 001164
o466 032200 013737 001224
S467 c206 023737 001124
S468 032214 001401
S469 032216 104027
S470 Q322 0
S471 032222 113760 001226
o pog
474 832%32 16037 000012
SY77 838223 8850d7 001124
S478 032266 013737 001126
SH79 032274 042737 077777
S480 Q32 023737 001124
o«81 032310 001414
Sug2 032312 013737 001126
S4s3 032320 042737 100000
S4ey 032326 0S3737 001174
S48S 032334 104016

001244
000010
001240

000010
001240
000000

00l124
0Cl1i22

000010
001240
001164
000010
001240
00112k

001126
001240
0ol1ee

LOS
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SET PORT 'R’ REQUEST TEST

MOV
MOVB
MOV

PORTA, OPPRT ; 'OPPOSITE’ PORT RDORESS

PORTA, RMCS2(RO) sgbsg PORT A
PORTA|PTNBR ; MOVE ADDRESS TO LOCATION FOR TYPEOUT

;-*l*ll*lllll!l!*ll!li!ll!ll!ll!lllll!!li!l!!ll!l!!il*!l!lilll!!i
:S5ET PORT REQUEST

CLR

RMOS1(RO) ;SET PORT REQUEST FOR PORT R

;-!ili!li!ii*!l*ii!*i*il{*i**ii*ll**l!ilii**lil!ll*l*!ll*li*l!*l!
RELEASE THROUGH PORT B. DORIVE SHOULD SWITCH TO PORT A.

668:

67S8:

;RELERSE THE DRIVE FROM PORT B

MOVB
MOV
MOV

: VERIFY

CLR
MOV
MOV
ADD
MOVB
MOV
MOV
MOVB

ERROR

PORTB,RMCS2(R0) ;SELECT PORT B
PORTB PTNBR ;MOVE PORT RDDRESS TO LOCATION FOR TYPEOUT
#13,RACSI(RO)’ ; ISSUE RELEASE THROUGH PORT B

THAT DRIVE IS SEIZED BY PORT R WHEN REl ERSED BY PORT B
RELERR iSﬁE‘“ 'RELEASE ERROR' INDICATOR
$ATA!MOL ' PGM! DPRIDRY! Vv, SGDORT  ;COMPRRISON CONSTANT
SRMDS1, SBOADR  ;REGISTER RDORESS INCREMENT

RO, $BOADR .REGISTER BASE ADORESS FOR TYPEOUT
PORTR, RMCS2(R0) ' :SELECT PORT A

PORTR.PTNBR : T ADORESS TO LOCATION FOR TYPEOUT

POR
RMDS1{RO), $TMPO ;READ STATUS REGISTER FROM PORT A
PORTB,RMC52(R0) ' :SELECT PORT B
PORTB PTNBR ;MOVE PORT RDDRESS TO LOCATION FOR TYPEOUT
RMDS1tRO), $BDOAT :DRIVE STATUS FROM PORT B

66S :BR IF STATUS FROM PORT B ZERO
$TMPO : 1S5 STATUS FROM PORT A ZERO ?
668 :BR IF ZERO

31 ;REPORT DRIVE IN NEUTRAL
$TMPO, SBODART : CHECK STATUS FROM PORT A

PORTA, PTNBR :CHANGE PORT ADORESS FOR TYPEOUT
$GDDAT, SBODAT  ;COMPARE WITH CONSTANT

67 iBR IF OK

27 ‘REPORT REGISTER ERROR

PORTB,RMCS2(RO) :SELECT PORT B
PORTB,PTNBR ;MOVE PORT RODRESS TO LOCATION FOR TYPEOUT
CKERR :CLERR THE 'cugcx ERROR’ INDICATOR
RMDS1(RO), SBODAT' :GET CONTENTS OF RMOSI

$RMDS1,SBOADR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
RO, SBDADR sA™N RH11 ADDRESS

SGODAT ' WnAT REGISTER SHOULD BE

$BDDAT,$TMPO  :MOVE REGISTER CONTENTS TO ’STMPO’
$4CATA, STMPO ;sAgE spscxrlsoa?%gs

SGODAT,STMPO ' ;COMPARE THE
688 :BR IF 0K

$BODAT,STMP4  :COPY 'BAD DATA’

$ATA, stiPy :CLERR THE MASKED BITS

§TMPY, SGODAT :*0R’ WITH GOOD DATA FOR TYPEOUT
16 : TYPE MESSAGE 16

SeEQ 0104
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SET PORT 'R’ REQUEST TEST

COM
NOP
MOVB
MoV

CLR
MOV
MOV
ROD
MOV
MOV

CKERR ;SET THE REGISTER COMPARE ERROR INDICARTOR

PORTA, RMCS2(RO) s&scr PORT A
PORTA.PTNBR ;MOVE PORT RDORESS TO LOCATION FOR TYPEOUT
RHSS ;CL RR THE 'CHECK ERROR' INDICATOR
1(no> SBODAT’ ;GET CONTENTS OF RMDSI
rokn REGISTER RDDORESS OF ERROR MESSAGE

ont’eggggnr uuhnogscxs*egngﬁoﬁegﬂgés

RE }?TER CONTENTS TO *$TMPO’
lfCRTR srnpo sbvs SPECT
SGOORT.STMPO ' ; COMPARE THE BITS

70§ 'BR IF OK
SBDOAT, STMPY  ;COPY 'BAD DATA’

BATR, StMPy ‘CLERR THE MASKED BITS

§TMPY SGDDAT  ;'OR’ WITH GOOD DATA FOR TYPEOUT

16 : TYPE MESSAGE 16

CKERR :SET THE REGISTER COMPARE ERROR INDICATOR

s s SRR I I IR R I R AR RN R
; RELERSE THE DRIVE FROM PORT A

72%:

MOVB
MOV
MOV

; VERIFY

CLR
MoV
RDD
MOV
MOVB
MOV
BIC
MOV
BIC
MOVB
MOV
BIC
MOV
BIC
CHP
BNE
TST
BNC
ERROR
JMP
MOV
MOV
MOovB
TST
BEQ
MOV

PORTA,RMCS2(RO) ;SELECT PORT A
PORTA,PTNBR ;MOVE PORT RDDRESS TO LOCATION FOR TYPEQUT
813, RACSI(RD)' ;ISSUE RELERSE THROUGH PORT A

THAT THE DRIVE IS IN NEUTRAL
RELERR :CLEAR THE ’RELEASE ERROR ' INDICATOR
SRMDS1,$BDADR  :FORM THE ADDRESS OF RMDSI FOR TYPEOUT
RO saohon noo THE 1/0 BASE AUDRESS

GM' DPR DRY | vv, $GDDAT conpnalson CONSTANT
PORTQ RHCSE(RO) :SELECT PORT’A
RMOS1IRO) . STMP2 :GET THE DRIVE srnrus REGISTER FROM PORT A.
sPIPYWRL ! 0N, STMPR :CLEAR DONT CARES
STMP2, STHPO’ COPY IT'INTO 'STMPO’
SATA!V STMPO  :CLEAR PORT DEPENDENT BITS FROM THE COPY
PORTB, RMCS2(RO) ;SELECT PORT B.
RMDS1{RO) ,STMP3 :GET THE DRIVE STATUS REGISTER FROM PORT B.

sPIPIWRL ! OM, STMP3 :CLEAR DONT CARES
STMP3, STHPL -COPY IT INTO 'STMPL’
8ATA'YV. STMP1  :CLEAR PORT DEPENDENT BITS FROM THE COPY
gggpo ,stMP1 éE }FENST“TUS REGISTER THE SARME FROM BOTH PORTS 7
31290 REG{?’ESS ARE THE SAME: ARE THEY ZERO 7
4g ' REPORT DRIVE NOT IN NEUTRAL OR NOT SEIZED
76% :BYPRSS THE REST OF THE CHECKS
$TMP2,$BDDRT  ;SET UP POSSIBLE BAD DATA FOR ERROR MESSAGE
PORTB. PTNER :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
PORTB,RMCS2(RO) :SELECT PORT B.
sTMPO’ :SEE IF STATUS EQ O FROM PORT A.
738 'BR IF 2ERO
PORTA, PTNBR :SEIZING PORT IF TEST SHOWS DRIVE NOT IN NEUTRAL
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DZRMGA.P11 01-AUG-77 10:58 Te SET PORT ’A’ REQUEST TEST
gg:s ggs;éﬂ 013737 001172 00i126 MOV $TMP3, $BDDAT :*'BRD DATR’ FOR ERROR TYPE OUT
2 113760 001224 000010 mMove PORTR RMCSe (RO) SELECT PORT A.
Eg:g Basgag 88?6?5 001166 Lﬁz ’qQPl ,BEE }Fna}ﬂTUS EQ ZERO FROM PORT B.
q7 0{2;37 1777{7 006554 738: ngx 0-1 zgth? SEERARELERSE ERROR’ INDICATOR
EE% 8:#5;"52 315768 8238014 833558 Hov vt Sk “'%HE"&%EVE
6549 (032760 104026 ERROR
S 832?95 Blg;g; 001170 001126 74S: MOV STHP? $BDDAT LOOK F°§08%T FﬂILURES WHEN RMDS! RERD
651 0327 1 001224 001240 MOV PORTA' PTNBR
€552 032776 023737 00i1ed4 001126 CMP SGDDQ? $BODAT RLL BITS 0K ?
6563 033004 001401 BEQ S BR IF OK FROM PORT R.
gsSy 035006 104007 ERROR REPORT ERROR
€EsS 033010 013737 001172 001126 75%: MOV STHP3 SBODAT CHECK RMDS1 FOR BIT FRILURES - FROM PORT B.
Sggg 8%3016 013737 00122e 001240 MOV PORTB. PTNSR CHQNGE PORT NUMBER
5 3024 023737 001124 001126 (M, o SGDDQT $BDDAT SEE IF READ OK FROM PORT B.
ges8 033032 001401 BEQ 768 B F 0K
6559 (033034 104007 ERROR 7 REPORT ERROR
65560 033036 000240 768: NOP
gggé 033040 000004 18: SCOPE sLOOP ?
5563 5 ¢ IO R 33330 HHEHHEHEHHHHE
gggg iTEST 25 SET PORT ’B’ REQUEST TEST
5566 iVERIFY THAT WRITING A DRIVE REGISTER SETS 'PORT REQUEST’ WHEN THE
gggg ,* DRIVE 1S SEIZED BY THE OTHER PORT.
gggg :: A. SEIZE THE DRIVE THROUGH PORT 'R’ BY WRITING 0’S INTO RMDSI.
6571 :i WRITE 0°’S INTO RMDSI FROM PORT 'B’; VERIFY THAT THE DRIVE IS STILL
Eg;g ,: SEIZED BY PORT ’'R’.
85574 :l C. ISSUE R RELERSE COMMAND FROM PORT ’A’' AND VERIFY THAT THE DRIVE
§57% ¥ SWITCHED TO PORT 'B’. VERIFY THAT THE RTTENTION BIT IS SET FOR
Eé;? .: PORT '8’ AND IS NOT SET FOR PORT 'A’.
6678 :l D. ISSUE A RELERSE COMMAND THROUGH PORT 'B’ AND veRIFY THAT THE DRIVE
Sggg ,: RETURNED TO NEUTRARL AND THAT NEITHER ATTENTICH BIT IS SET.
581 S U I 0006 000 06 30 006 630 36 0636 06 00 006 3026 00 360 6 06 090 06 00036 063 0620030 3
6582 (033042 téras.
5883 033042 005737 001300 TS7T KYBCTL : PERFORMING ONLY SINGLE TESTS 7
SS84 03304 001406 BEQ ES BR IF NOT
6S8S 033050 100002 BPL BR IF JUST ENTERED TEST
6686 033052 000137 002676 JMP EXEC RETURN 8 GET NEXT TEST NUMBER
6587 (03305 012737 177777 001300 1S: MOV 1,KBCTL SET SINGLE TEST INDICATOR
6538 03306eN 112737 000025 001102 2S: MOVB IES '§TSTNM TEST NUMBER
3589 033072 012737 033114 001106 LY lTESYES $LPRDR LOGO LOOP ON TEST RDDRESS
590 J100 012737 033114 00l110 IV 8TESTSS SLPERR LOﬂD LOOP ON ERROR RDDRESS
6691 J106 012737 000031 001176 MCV 826. STIMES ::00 25. ITERATIONS
gggg 033118 012706 001100 TEST2S: MOV nsrnék SP (ono THE STRCK POINTER
ggg; :CLEAR RTTENTION BITS FOR BOTH PORTS
669 033120 113760 00leed 000010 MOVB PORTA, RMCS2(R0) ;SELECT PORT #R
5597 033126 000012 CLR RMDS1 {RO) :GEIZE THE DRIVE
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B LTS e A
MOVB  PORYB, RMCS2(RO) &tf“?‘ '? 8

CLR RMDS | [RO) SEIA T gouv: THROUGH PORT 'B’
MOV ¢11,RMCS1(RD)  ;ISSUE DRIVE CLEn@

MOV ¢13)RMCS1(RO)  RELERSE THE DRIVE

R 2222222222tttz t ittt tiadtttatisiasiii st tisidsls sl

:SEIZE THE DRIVE THROUGH PORT A

MOVB  PORTA,RMCS2(RO) ;SELECT PORT A
MOV PORTA'SEIZPT ;STORE SEIZING FORT’'S ADDRESS

CLR RMDS] {RO) :WRITE RMDS!

MOV PORTB, OPPRT :"OPPOSITE’ PORT RDORESS

MOVB  PORTB,RMCS2(RO) ':SELECT PORT B

MOV PORTB.PTNBR ;MOVE PORT ADORESS TO LOCATION FOR TYPEOUT

;-ll!*l!i!!li!l!!!!l{ll!****l!*i*ll!*!!!l*l!!l!*!l!lll!l*i*l***!i
:8ET PORT REQUEST

CLR RMD51(RO) ;SET PORT REQUEST FOR PORT B

§ + SN MM NI I I 03 00 I 03036 T 03 B0 I 3 3 3 S R R R
;RELEASE THROUGH PORT A. DRIVE SHOULD SWITCH TO PORT 8.

; RELERSE THE DRIVE FROM PORT A

MOVB  PORTA,RMCS2(RO) :SELECT PORT A
MOV PORTA.PTNBR ;MOVE PORT ADDRESS TO LOCATION FOR TYPEOUT
MOV #13,RMCS1(RO)’  ; ISSUE RELERSE THROUGH PORT A

: VERIFY THAT DRIVE IS SEIZED BY PORT B WHEN RELEASED BY PORT A

CLR RELERR -CLEAR 'RELEASE ERROR’ INDICATOR
MOY $ATA!MOL ! PGM' DPRIDRY ! Vv, SGDOAT  ; COMPARISON CO:i 3TANT
MOV $RMDS1 $BORDR  ;REGISTER ADORESS’ INCREMENT

ADD RO, SBDADR “REGISTER BASE ADORESS F-R TYPEOUT
MOVB  PORTB,RMCS2(RO) ' sg

MOV PORTB'PTNBR :MOVE PORT ADORESS TO LOCATION FOR TYPEOUT
MOV RMDS1R0), STMPO ;RERD STATUS REGISTER FROM PORT B

MOVB  PORTR,RMCS2(R0O) ’:SELECT PORT A

MOV PORTA'PTNBR :MOVE PORT ARDDRESS TO LOCATION FOR TYPEOUT
MOV msasxlnm,mobm -DRIVE STATUS FROM PORT A

BEQ X3 :BR IF STATUS FROM PORT A ZERO
ST §TMPO : 1S STATUS FROM PORT B ZERO ?
BEQ 66$ '8R IF ZERO

ERROR 31 :REPORT DRIVE IN NEUTRAL

MOV $TMPO,$BODAT  :CHECK STATUS FROM PORT B
MOV PORTB. PTNBR :CHANGE PORT ADDRESS FOR TYPEOUT
CMP $GODAY, SBDODAT  ;COMPARE WITH CONSTANT
67$ ‘BR IF OK :
ERROR 27 *REPORT REGISTER ERROR

MOVB PORTA,RMCS2(RO) ;SELECT PORT R

Ste 0107
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DZRMGA.P11 ' 01-RAUG-77 10:58 125 SET PORT ’'B’ REQUEST TEST
5654 033424 013737 001224 001240 MOV PORTR,PTNBR ;MOVE PORT RDORESS TO LOCATION FOR TYPEOUT
G655 32 005037 001250 CLR CKERR :CLEAR THE 'CHECK ERROR' INDICATOR
5656 % 016037 000012 001126 MOV mgsum) SBODAT' :GET CONTENTS OF RMDSI
5657 033444 012737 000012 001122 MOV  #RMDS],SBORDR ;FORM REGISTER ADORESS OF ERROR MESSAGE
5658 (033452 060037 001122 RDD RO, SBOADR ADD RH11 BASE RDORESS
6659 (0356 005037 001124 CLR sGODAT WHAT REGISTLR SHOULD BE
S660 0362 013737 001126 001164 MOV SBODAT,$TMPD  :MOVE REGISTER CONTENTS TO 'STMPO’
5661 03M70 OM2737 077777 001164 BIC $4CATA. STMPO ;SAVE SPECIFIED BITS
6662 033476 023737 001124 001164 CMP SGDDAT S§TMPO ' ;COMPARE THE BITS
5663 001414 BEQ 68$ 'BR IF OK
5664 013737 001126 001174 MOV $BODAT.STMP4  ;COPY ’BAD DATR’
6665 (033614 042737 100000 001174 BIC sATA, STPy 'CLEAR THE MASKED BITS
5666 053737 O0C1174 001124 BIS STMP4 SGDDAT  ;’OR’ WITH GOOD DATA FOR TYPEOUT
5667 033530 104016 ERROR 16 :TYPE MESSAGE 16
&%ﬁ 137 001250 COM CKERR 'SET THE REGISTER COMPARE ERROR INDICATOR
S%seeg 68S:  NOP
5670 033540 113760 001226 000010 MOVB  PORTB,RMCS2(RO) :SELECT PORT B
5671 03354 013737 001226 001240 MOV PORTB PTNBR ;MOVE PORT RDORESS TO LOCATION FOR TYPEOUT
5672 (33554 005037 001250 'R CKERR -CLEAR THE 'CHECK ERROR’ INDICATOR
6673 033560 016037 000012 001126 MOV RMDS1 (RO), SBOOAT’ :GET CONTENTS OF RMDS!
S674 033566 012737 000012 001122 MOV sRMDS ], SBORDR ;FORM REGISTER ADDRESS OF ERROR MESSAGE
€675 (033574 001122 ADD RO, $BOAOR ) mghanse ADDRESS
G676 (033600 012737 100000 DO1124 MOV #AtA SGDDAT ;WHAT REG] SHOULD BE
5677 033606 013737 001126 001164 MOV SBOD